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B.Com. DEGREE  EXAMINATION, APRIL 2011

Commerce with Computer Applications

ADVANCED ACCOUNTANCY—I

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 × 2 = 20)

Answer all questions.

1. What is Journal ?

SÔ¨@£k GßÓõÀ GßÚ ?

2. What is ‘Contra Entry’ ?

Gvº £vÄ GßÓõÀ GßÚ ?

3. What do you mean by Error of  Omission ?

Âk ¤øÇ Gß£x £ØÔ E©x P¸zx ̄ õx ?

AF-3202 BCC1C1



2 AF-3202

4. What is Bank Reconciliation Statement ?

Á[Qa Œ›UPmk AÔUøP GßÓõÀ GßÚ ?

5. What is Depreciation ?

@u#©õÚ® GßÓõÀ GßÚ ?

6. What is Revaluation Method of Depreciation ?

©Ö©v¨¥mk •øÓ @u#©õÚ® GßÓõÀ GßÚ ?

7. What is the purpose of  Fire Insurance ?

wUPõ¨¥miß @|õUP® ̄ õx ?

8. What is Gross Profit Ratio ?

 ö©õzu C»õ£ ÂQu® GßÓõÀ GßÚ ?
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9. What do you mean by Final Accounts ?

CÖvU PnUSPÒ  Gß£x £ØÔ E©x P¸zx ̄ õx ?

10. Differentiate between Capital and Revenue items.

‰»uÚ ©ØÖ® Á¸Áõ# CÚ[PøÍ @ÁÖ£kzxP.

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) Journalise the following transactions :

Rs.

2005 1 Commenced business with 50,000

Jan

2 Cash purchases 20,000

5 Cash sales 35,000

8 Cartage paid 1,500

10 Purchased Machinery Rs. 10,000
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RÌ Á¸® |hÁiPUøPPøÍ SÔ¨@£miÀ £vP.

2005 1 ¹. 50,000  öPõsk öuõÈÀ öuõh[P¨

                        £mhx

     áÚÁ›

¹.

2 öµõUP öPõÒ•uÀ 20,000

5 öµõUP ÂØ£øÚ 35,000

8 Ási ÁõhøP öŒ¾zv¯x 1,500

10 C¯¢vµ® Áõ[Q¯x  10,000

(Or)

(b) Enter the following in Double column cash book :

Rs.

2005 1 Cash Balance 13,750

April

2 Received from Balan 2,500
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Rs.

Discount allowed to him 125

5 Purchased goods for cash 2,150

7 Paid into bank 1,100

8 Withdrew from Bank for personal use 1,500

12 Paid office rent 800

RÌ Á¸ÁÚÁØøÓ C¸ £zv  öµõUP HmiÀ £vP :

¹.

2005 1 öµõUP C¸¨¦ 13,750

H¨µÀ

2 £õ»Ûhª¸¢x ö£ØÓx 2,500

AÁ¸US AÎzu uÒÐ£i 125

5 öµõUPzvØS ŒµUS Áõ[Q¯x 2,150

7 Á[Q°À öŒ¾zv¯x 1,100



6 AF-3202

8 öŒõ¢u öŒ»ÂØS Á[Q°¼¸¢x

Gkzux 1,500

12 A¾Á»P ÁõhøP öŒ¾zv¯x 800

12. (a) From the following details prepare a Bank
Reconciliation statement on 31.12.2005.

(i) Balance as per cash book Rs. 7225

(ii) Cheques deposited but not collected  Rs. 675

(iii) Cheques issued but not presented for payment
 Rs. 879

(iv) Bank charges debited in pass book Rs. 20

(v) Interest credited in the pass book Rs. 15.

RÌ Á¸® Â£µ® öPõsk 31.12.2005 AßÖ J¸

Á[Qa Œ›Pmk AÔUøP u¯õ›UP.
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(i) öµõUP Hmiß £i C¸¨¦ ¹. 7225.

(ii) öŒ¾zv¯ Põ@Œõø»PÎÀ Á‹¼UPõuøÁ  ¹. 675.

(iii) AÎzu Põ@Œõø»PÎß öŒ¾zxøPUS ÁµõuøÁ
¹. 879.

(iv) Á[QUPmhn® öŒÀ@»miÀ ¹. 20 £ØÖ
øÁUP¨£mhx.

(v) Ámi öŒÀ@»miÀ ÁµÄ øÁUP¨£mhx ¹. 15.

(Or)

(b) Rectify the following errors identified before
preparation of  Trial Balance :

(i) Purchases of   Rs. 500 from Gopal wrongly entered
in the sales book.

(ii) Goods taken by the proprietor Rs. 1000 not
recorded in the books at all.

(iii) Credit sales to Ramu Rs. 1,500 wrongly posted to
the credit of his account.
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C¸¨£õ#Ä u¯õ›¨¤ØS PshÔ¢u RÌÁ¸®

¤øÇPøÍ v¸zxP :

(i) ¹. 500 ØS @Põ£õ¼hª¸¢x öPõÒ•uÀ öŒ#ux

ÂØ£øÚ HmiÀ £v¯¨£mhx.

(ii) E›ø©¯õÍº öŒõ¢u £¯ß£õmiØS Gkzu ŒµUS

¸. 1000 HkPÎÀ GÊu¨£hÂÀø».

(iii) ¹. 1500 ØS  µõ•ÂØS ÂØ£øÚ öŒ#ux AÁº

PnUQÀ ÁµÄ øÁUP¨£mkÒÍ x.

13. (a) Write a note on Annuity method of Depreciation.

Bskz öuõøP •øÓ @u#©õÚ® £ØÔ J¸

SÔ¨¦ ÁøµP.

(Or)

(b) Differentiate between Fixed Instalment Method
and Reducing Instalment method of depreciation.

@u#©õÚzvß {ø»z uÁøn •øÓ ©ØÖ®

SøÓ¢x Á¸® uÁøn •øÓ BQ¯ÁØøÓ

@ÁÖ£kzxP.
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14. (a) From the following information prepare a Trading
Account for the year ended 31.12.2006.

Rs. Rs.

Stock on 1.1.06 1,75,000 Stock on 31.12.06 2,20,000

Purchases 4,30,000 Wages 1,25,000

Carriage in 30,000 Carriage out 22,000

Sales 6,40,000 Advertisement 31,000

RÌ  Põq® Â£µ® öPõsk 31.12.2006 Ehß

•iÁøh²® BsiØPõÚ J¸  Â¯õ£õµU PnUS

u¯õ›UP :

¹. ¹.

ŒµUQ¸¨¦ 1.1.06 1,75,000 ŒµUQ¸¨¦ 31.12.06 2,20,000

öPõÒ•uÀ 4,30,000 T¼PÒ 1,25,000

EÒyUS T¼ 30,000 öÁÎzyUS T¼ 22,000

ÂØ£øÚ 6,40,000 ÂÍ®£µ® 31,000

(Or)
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(b) From the following information calculate
subscription income for the year ending
31.12.2006 :

31.12.2004 31.12.2005

Rs. Rs.

Outstanding Subscription 2,000 4,000

Subscription received in Advance 3,000 2,000

Subscription received as per Receipts and
Payment account for the year ending 31.12.2006
Rs. 10,000

RÌ Á¸® Â£µ® öPõsk 31.12.2005 Ehß

•iÁøh²® BsiØPõÚ Œ¢uõ ÁøP Á¸©õÚ®

PnUQhÄ®.

31.12.2004 31.12.2005

¹. ¹.

{¾øÁ°¾ÒÍ Œ¢uõ 2,000 4,000

•ß Tmi¨ ö£ØÓ Œ¢uõ 3,000 2,000

31.12.2005 Ehß •iÁøh²® BsiØPõÚ

ö£ÖuÀ öŒ¾zxuÀ PnUQß£i ö£ØÓ Œ¢uõ

 ¹. 10,000.
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15. (a) Goods of Rs. 80,000 of Mr. R are insured for Rs.
70,000 subject to average clause. Loss due to fire
is assessed at Rs. 16,000. Calculate the claim to
be lodged.

v¸ ‘Bº’ Gß£Á›ß ŒµUS  ¹. 80,000, ¹. 70,000ØS

Põ¨¥k öŒ#¯¨£mkÒÍx. ŒµõŒ› PnURmiØS

Em£mhx. w Â£zvÀ |mh® ¹. 16,000 GÚ

©v¨¤h¨£mhx. Põ¨¥mk @Põ›UøP öuõøP

PnUQhÄ®.

(Or)

(b) A fire occurred on 31.12.2005 in the premises of a
firm. From  the books it was ascertained that :

Rs.

Sales from 1.1.2005 to 31.12.2005 12,80,000

Purchases from 1.1.05 to 31.12.2005 8,40,000

Stock on hand 31.12.2004  2,36,000

The average gross profit ratio is 35% on sales. The stock
        salvaged was Rs. 30,000. Calculate the claim.
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J¸  {ÖÁÚ ÁÍõPzvÀ 31.12.2005 AßÖ  w

Â£zx HØ£mhx. HkPÎÀ C¸¢x

vµmi¯øÁPÒ :

¹.

ÂØ£øÚ 1.1.2005 •uÀ  31.12.2005 Áøµ 12,80,000

öPõÒ•uÀ 1.1.05 •uÀ 31.12.2005 Áøµ 8,40,000

ŒµUQ¸¨¦ 31.12.2004 AßÖ               2,36,000

ŒµõŒ› ö©õzu C»õ£ ÂQu® ÂØ£øÚ «x 35%

@Œªzu ŒµUS ¹. 30,000.

@Põ›UøPø¯ PnUQhÄ®.

Part C (3 × 10 = 30)

Answer any three questions.

16. Describe the method of preparation of each of the

Subsidiary books.

JÆöÁõ¸ xøn HkPøÍ²® u¯õ›US® •øÓø¯

ÂÁ›.
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17. From the following particulars  find out the balance

as per pass book.

(i) Bank overdraft  as per cash book on 30.4.2006
Rs. 2,000.

(ii) Bills discounted dishonoured not recorded in the
cash book Rs. 5,000.

(iii) Cheques received entered twice in the cash book
Rs. 1000.

(iv) Insurance premium paid directly by the bank
Rs. 600.

(v) Cheques received but not sent to bank Rs. 1,200.

(vi) Credit side of the bank column cast short Rs. 200.

RÌ Á¸® Â£µ[öPõsk öŒÀ@»miß £i C¸¨¦

PõsP.

(i) 30.4.06 AßÖ öµõUP Hmiß£i Á[Q @©ØÁøµ

£ØÖ ¹. 2000.
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(ii) ÁmhgöŒ#u ©õØÖa^mk ©ÖUP¨£mhx öµõUP

HmiÀ GÊu¨£hõuøÁ ¹. 5000.

(iii) ö£ØÓ Põ@Œõø»PÒ öµõUP HmiÀ C¸ •øÓ

GÊu¨£mhx ¹. 1000.

(iv) Á[Q @|µi¯õP öŒ¾zv¯ Põ¨¥mk •øÚ©®

¹. 600.

(v) ö£ØÓ Põ@Œø»PÎÀ Á[QUS AÝ¨£¨£hõu

øÁPÒ ¹. 1200

(vi) Á[Q¨£zv°ß ÁµÄ¨£UP® SøÓÁõP

Tmh¨£mhx & ¹. 200.

18. Mrs. S. purchased a machine for Rs. 8,000 on 1.4.2000.

He spent Rs. 3,500 on its installation. On 1.7.2002

another machine for Rs. 5,000. On 30th September

2004 the first machine was found to be unsuitable and

sold for Rs. 5500. Depreciate machine at 10% under

written down value method.

Prepare machine account for 5 years.
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1&4&2000 À v¸. Gì J¸ C¯¢vµzøu ¹. 8000 ØS

Áõ[QÚõº. Cuß ö£õ¸zxa öŒ»ÁõP ¹. 3500

öŒ#uõº. 1&7&2002 ®À ¹. 5000 ØS @©¾® J¸ C¯¢vµ®

Áõ[QÚõº. 30 öŒ¨h®£º 2004À •uØ C¯¢vµ®

ö£õ¸zuªÀ»õux GÚ ¹. 5500 ØS ÂØP¨£mhx.

SøÓ¢x öŒÀ •øÓ°À 10% @u#©õÚ® GÊv 5

BskPÐUPõÚ C¯¢vµU P/S u¸P.

19. A fire occurred in godown of a company on 20.03.05.

All stocks were destroyed except to the extent ot Rs.

13,000. From the following figures ascertain the claim

amount. Stock on 1-1-2004 Rs. 40,000 and on

31.12.2004 Rs. 24,000. Purchases and sales during

2004 were Rs. 1,40,000 and Rs. 2,00,000 respectively.

Purchases during 2005 upto the date of fire and sales

for the period were Rs. 1,46,000 and Rs. 1,60,000

respectively. Stock was always valued  at 80% of the

cost. Policy value being Rs. 40,000.

20.03.05 AßÖ J¸ {Ö©zvß Qh[S wÂ£zvØS

Em£mhx. ¹. 13,000 ©v¨¦ÒÍ ŒµUS uÂµ

AøÚzx® @Œu©øh¢uÚ. RÌÁ¸® Â£µ[öPõsk

Põ¨¥mk @Põ›UøPz öuõøP PnUQkP. ŒµUQ¸¨¦
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1&4&04 À ¹. 40,000 ©ØÖ® 31&12&04 À ̧ , 24,000. 2004

® Bsiß öPõÒ•uÀ ©ØÖ® ÂØ£øÚ •øÓ@¯ ¹.

140000 ©ØÖ® ¹, 2,00,000. 2005 À w Â£zußÖ

Áøµ°»õÚ öPõÒ•uÀ ©ØÖ® C@u Põ»Pmh

ÂØ£øÚ •øÓ@¯ ¹. 1,46,000 ©ØÖ® ¹. 1,60,000.

ŒµUQ¸¨¦PÒ G¨ö£õÊx® AhUPÂø»°À 80% GÚ

©mk@© ©v¨¤h¨£kQÓx. Põ¨¥k £õ¼] öuõøP

¹. 40.000.

20. Following Trial Balance prepare Trading Profit and

Loss account and a Balance sheet.

Trial Balance as on 31.12.2005

Rs. Rs.

Purchases 11,870 Capital 8,000

Debtors 7,580 Bad debt recovered  250

Return Inwards 450 Creditors 12,250

Bank deposits 2,750  Return Outwards 350

Rent 360 Bank overdraft 1,570
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Rs. Rs.

Salaries 850 Sales 14,690

Travelling expense 300 Bills  payable 1,350

Cash 210

Stock 2,450

Discount 40

Drawings 600

27,460 27,460

Closing stock was valued at Rs. 4,200.

RÌ Á¸® C¸¨£õ#Ä öPõsk Â¯õ£õµ C»õ£ |mh P/S

©ØÖ® C¸¨¦ {ø»U SÔ¨¦ u¯õ›UP :

13&12&2005 ® @uv°mh C¸¨£õ#Ä

¹. ¹.

öPõÒ•uÀ 11,870 ‰»uÚ® 8,000

PhÚõÎPÒ 7,580 ÁµõU Phß Á‹À  250
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¹. ¹.

EÒv¸¨£® 450 PhÜ¢@uõº 12,250

Á[Q øÁ¨¦PÒ 2,750  öÁÎzv¸¨£® 350

ÁõhøP 360 Á[Q@©ØÁøµ¨£ØÖ 1,570

Œ®£Í[PÒ 850 ÂØ£øÚ 14,690

£¯n öŒ»Ä 300 öŒ¾zxuØS›¯

öµõUP® 210 ©õØÖa ^mk 1,350

ŒµUQ¸¨¦ 2,450

uÒÐ£i 40

Gk¨¦ 600

27,460 27,460

CÖva ŒµUQ¸¨¦ ¹. 4,200GÚ ©v¨¤h¨£mkÒÍx.

***
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B.Com. (C.A.) DEGREE  EXAMINATION
APRIL 2011

First Semester

Commerce with Computer Applications

FUNDAMENTALS OF COMPUTERS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 × 2 = 20)

Answer all questions.

1. What is Hardware ?

P¸Â¯® GßÓõÀ GßÚ ?

2. What do you mean by File ?

@Põ¨¦ GßÓõÀ GßÚ ?

3. What is Protocols ?

¦@µõmhPõÀ GßÓõÀ GßÚ ?
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4. What is LAN ?

@»ß GßÓõÀ GßÚ ?

5. What do you mean by Program creation ?

¦@µõQµõ® E¸ÁõUP® GßÓõÀ GßÚ ?

6. What is Multitasking operating system ?

©Ài hõìU öŒ¯À£õmk •øÓ GßÓõÀ GßÚ ?

7. What do you mean by File permission ?

@Põ¨¦ AÝ©v Gß£uß ö£õ¸Ò ̄ õx ?

8. What is Directories ?

 AmhÁønPÒ GßÓõÀ GßÚ ?

9. What is Windows Explorer ?

Âß@hõì GUì¦@Íõµº GßÓõÀ GßÚ ?
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10. What is GUI ?

GUI GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) What are the functions of computers ?

Po¨£õÛß £oPÒ ̄ õøÁ ?

(Or)

(b) Explain the concepts of Software.

PmhøÍU TÖPÎß P¸zxUPøÍ ÂÍUSP.

12. (a) Bring out the importance of Communication

Media.

uPÁÀ öuõhº¦ ŒõuÚ[PÎß •UQ¯zxÁzøu

öÁÎº öPõnºP.

(Or)
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(b) Write a note on TCP/IP.

TCP/IP SÔzx ]Ö SÔ¨¦ ÁøµP.

13. (a) Explain any four MS-DOS commands.

G®. Gì & hõì PmhøÍPÒ H@uÝ® |õßQøÚ

ÂÍUSP.

(Or)

(b) State the Block-Diagram of operating system.

öŒ¯À£õmk vmhzvß Áøµ£hzøu TÖP.

14. (a) What do you understand by Unix operating

system ?

²ÛUì öŒ¯À£õmk vmh® SÔzx }Âº AÔÁx

¯õx ?

(Or)

(b) What are the file security procedure in Unix ?

³ÛUêß @Põ¨¦ £õxPõ¨¦ |øh•øÓPÒ

¯õøÁ ?
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15. (a) Write short note on Windows menu.

Âs@hõì ö©Ý SÔzx ]Ö SÔ¨¦ ÁøµP.

(Or)

(b) What are the salient features of windows 95 ?

Âs@hõì 95&ß ]Ó¨¤¯À¦PÒ ̄ õøÁ ?

Part C (3 × 10 = 30)

Answer any three questions.

16. Explain different types of Computers.

Po¨£õßPÎß £À@ÁÖ ÁøPPøÍ ÂÍUPÄ®.

17. Discuss the working of Network topologies.

ö|möÁõºU @hõ¨£õ»õâ&°ß öŒ¯À£õmiøÚ

ÂÁõv.
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18. What are the various classification of Operating

system ?

öŒ¯À£õmk •øÓ°ß £À@ÁÖ ÁøPPøÍ ÂÁ›.

19. Write about file permission Procedure in UNIX.

²ÛUê&ß @Põ¨¦ AÝ©v |øh•øÓPøÍ¨ £ØÔ

GÊxP.

20. Discuss the features of Windows NT.

Âs@hõì&Gßi&°ß ]Ó¨¤¯À¦PøÍ £ØÔ ÂÁõv.

***
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B.Com. (C.A.) DEGREE  EXAMINATION
APRIL 2011

Second Semester

Commerce with Computer Applications

ADVANCED ACCOUNTANCY—II

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

                                Part A                  (10 × 2 = 20)

Answer all questions.

1. What is Accommodation Bill ?

£n ÁŒv ©õØÖa^mk GßÓõÀ GßÚ ?

2. What do you mean by Insolvency ?

ö|õi¨¦ {ø» Gß£uß ö£õ¸Ò ̄ õx ?

3. What is Account current ?

|øh•øÓ PnUS GßÓõÀ GßÚ ?
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4. What is Grace days ?

P¸øn |õmPÒ GßÓõÀ GßÚ?

5. What is Consignment ?

AÝ¨¥k GßÓõÀ GßÚ ?

6. What is Normal Loss ?

Œõuõµn |mh® GßÓõÀ GßÚ ?

7. What is meant by Joint venture ?

CønÂøÚ Gß£uß ö£õ¸Ò ̄ õx ?

8. What is Joint - Bank Account ?

Cøn Á[Q PnUS GßÓõÀ GßÚ ?
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9. What is Single Entry system ?

JØøÓ¨ £vÄ •øÓ GßÓõÀ GßÚ ?

10. What is Statement of Affairs ?

ÂÁµ AÔUøP GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) Amar sold goods to Balu for Rs. 1000. Balu

accepted a bill for Rs. 1000 drawn by Amar. On

the due date, Balu approached  Amar and

requested him to cancel the original bill and to

draw a new bill for Rs. 1,025 (including interest)

which is agreed by Amar. On the due date, the

second bill was honoured.

Show the Journal entries in the books of Amar.
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A©º, £õ¾ÄUS ÂØÓ ŒµUS ¹. 1,000. AuØPõP

A©º GÊv¯ ¹. 1,000 UPõÚ ©õØÖa ^møh £õ¾

HØÖU öPõshõº. £õ¾ A©øµ AqQ •u¼À

HØÖU öPõsh ©õØÖa ^møh µzx öŒ#x

AuØS¨£v»õP Ámi²hß Ti¯ ¹. 1,025 US

J¸ ¦v¯ ©õØÖa ̂ møh |øh•øÓUS öPõsk

Á¸©õÖ @PmkU öPõshõº.

AuØS A©º CøŒ¢x ¦v¯ ©õØÖa^mk

GÊu¨£mk J¨¦U öPõÒÍ¨£mhx. uÁøn

|õÎÀ CµshõÁx ©õØÖa^mkUS £õ¾ £n®

öŒ¾zvÚõº.

@©ØPsh |hÁiUøPPøÍ A©º HmiÀ

SÔ¨@£mk¨ £vÄPøÍ¨ £v¯Ä®.

(Or)
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(b) A three month bill for Rs. 10,000 was duly

accepted by ‘P’ on 1st March 1999 and returned to

the drawer ‘S’ who endorsed the bill to R.

 R discounted the bill with his bank for Rs. 9,600.

P did not met the bill on the due date.

 Pass journal entries in the books of P, S and R.

©õºa 1, 1999 AßÖ GÊv¯ ¹. 10,000 UPõÚ ‰ßÖ

©õu Esi¯ø» P HØÖU öPõsk AÝ¨¤Úõº.

S AuøÚ R US ¦ÓUSÔ¨¤mk ©õØÔz u¢uõº.

R uÚx Á[Q°À ¹. 9,600 US Ámh® öŒ#uõº.

öPk |õÎÀ P Esi¯ø» ©vUPz uÁÔÂmhõº.

P, S,  R BQ@¯õº HkPÎÀ £vÄPÒ u¸P.

12. (a) On the 1st January 1999, the amount due from P

to Q was Rs. 12,000. During the six months ended

June, the transactions, were as follows :
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1999 Rs.

January 10 Sold good to P 24,000

February 5 Cash received from P 10,000

March 21 Purchased goods from P 8,000

May 12 Paid cash to P 9,000

Prepare an Account current to be rendered by

Q to P on 30th June 1999, calculating interest at

12 % p.a.

1999 áÚÁ› 1 AßÖ P °hª¸¢x Q US

Áµ@Ási¯ öuõøP ¹. 12,000. ãß •i¯ EÒÍ

BÖ ©õuzvÀ RÌPsh |hÁiUøPPÎÀ

Dk£mkÒÍÚº.

1999 ¹.

áÚÁ› 10  P US ŒµUS ÂØÓx 24,000

¤¨µÁ› 5  P °hª¸¢x öµõUP® ö£ØÓx 10,000
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¹.

©õºa 21  P °hª¸¢x ŒµUS Áõ[Q¯x 8,000

@© 12 P US öµõUP® öŒ¾zv¯x 9,000

BsiØS 12 % Ámi°øÚU PnUQmk Q ÁõÀ

 P US 1999 ãß 30 AßÖ öPõkUP¨£h @Ási¯

|h¨¤¾ÒÍ PnUöPõßÔøÚz u¯õ›UPÄ®.

(Or)

(b) X owes Y the following sum of money due on the

dates started :–

Due date Amount

Rs.

5.1.06 400

20.1.06 200

4.2.06 800

26.2.06 100

10.3.06 50

Find the Average Due Date.



8 AF-3204

X ,Y US öŒ¾zu @Ási¯ öuõøP, uÁøn |õÒ

R@Ç öPõkUP¨£mkÒÍx :---

uÁøn |õÒ öuõøP

¹.

5.1.06 400

20.1.06 200

4.2.06 800

26.2.06 100

10.3.06 50

ŒµõŒ› uÁøn |õøÍ PnUQkP.

13. (a) A from Nellai consigns 150 bales of cotton at Rs.

5,000 per bale to his agent B at Tiruppur. B is

entitled to a commission at 5 % on sales. B sells

the consignment for Rs. 9,00,000 incurring freight

charges Rs. 6,000 and insurance Rs. 4,000 and

remits the sale proceeds by a cheque.

Pass Journal entries in the books of A.
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ö|Àø»°¼¸¢x A , v¸¨§›À EÒÍ AÁµx

•PÁº B Gß£Á¸US 150 ¡À PmkPøÍ, Pmk

JßÖ ¹. 5,000 GÚ AÝ¨¥k öŒ#QÓõº B ,

ÂØ£øÚ «x 5 % PÈÄ ö£Ó E›ø© ö£ØÖÒÍõº.

B AÝ¨¥miøÚ ¹. 9,00,000 US ÂØ£øÚ

öŒ#QÓõº. ÁsiaŒzu® ¹. 6,000  Põ¨¥k

¹. 4,000 öŒ¾zxQÓõº. ÂØ£øÚz öuõøP°øÚ

Põ@Œõø» ‰»® AÝ¨¤ øÁUQÓõº.

A ß HkPÎÀ, SÔ¨@£mk £vÄPøÍz u¸P.

(Or)

(b) Give Journal entries for the following

consignment transactions in the books of

consignor :–

(i) When goods are sent at cost price to the

consignee.

(ii) When expenses are incurred by the

consignor.
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(iii) When any advance is received from the

consignee.

(iv) When expenses are incurred by the

consignee.

RÌPõq® AÝ¨¥k |hÁiUøPPÐUS

AÝ¨¦|º ¦zuP[PÎÀ SÔ¨@£mk¨ £vÄPøÍ

u¸P :

(i) ŒµUSPÒ AhUP Âø»°À ö£Ö|¸US

AÝ¨¦®ö£õÊx.

(ii) AÝ¨¦Úº öŒ»ÄPÒ öŒ#²® ö£õÊx

(iii) ö£Ö|›hª¸¢x •ß£n® ö£Ö® ö£õÊx.

(iv) ö£Ö|º öŒ»ÄPÒ öŒ#²® ö£õÊx.

14. (a) A and B enter into a joint venture, sharing profits

in the ratio of  5 : 3. A supplies goods worth Rs.

42,000 and incurs Rs. 3,000 as expenses. B

supplies goods worth Rs. 38,000 and incurs
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Rs. 2,000 as expenses. B is entitled to a

commission at 10 % on sales. B sells goods for

Rs. 1,20,000. B settles the account by a cheque.

Prepare Joint venture account and B’s account in

the Books of A.

5 : 3 GßÓ ÂQuzvÀ C»õ£ £QºÂØS J¨¦U

öPõsk A, B BQ@¯õº CønÂøÚ

|hzxQßÓÚº. A  ¹. 42,000 ©v¨¦ÒÍ ŒµUQøÚ

ÁÇ[SQÓõº. ¹. 3,000 öŒ»Ä öŒ#QÓõº. B

¹. 38,000 ©v¨¦ÒÍ ŒµUQøÚ ÁÇ[SQÓõº.

¹. 2,000 öŒ»Ä öŒ#QÓõº. B ÂØ£øÚ°À 10 %

PÈÄ ö£Ó E›ø© ö£ØÖÒÍõº. B ŒµUQøÚ

¹. 1,20,000 US ÂØQÓõº. B Põ@Œõø» ‰»®

PnUQøÚ wºÄ öŒ#QÓõº.

CønÂøÚ P/S ©ØÖ® A HkPÎÀ B °ß

PnUQøÚ u¯õº öŒ#P.

(Or)
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(b) Explain the various methods of preparing Joint

Venture Account.

CønÂøÚ PnUQøÚ u¯õ›US® £À@ÁÖ

•øÓPøÍ ÂÍUSP.

15. (a) Differentiate between Single Entry System and

Double Entry System.

JØøÓ¨£vÄ •øÓ ©ØÖ Cµmøh¨ £vÄ

•øÓø¯ @ÁÖ£kzv PõmkP.

(Or)

(b) From the following details, prepare Trading and

Profit and Loss account for the period ended

31.3.2007 and a Balance Sheet on that date.
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As on 1.4.2006 As on 31.3.2007

Rs. Rs.

Stock 50,000 25,000

Sundry debtors 1,25,000 1,75,000

Cash 12,500 20,000

Furniture 5,000 5,000

Sundry creditors 75,000 87,000

Other details : Rs

Drawings 20,000

Discount received 7,500

Discount allowed 5,000

Sundry expenses 17,500

Cash paid to creditors 2,25,000

Cash received from debtors 2,67,500

Sales return 7,500

Purchase return 2,500

Cash sales 2,500
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RÌPõq® ÂÁµ[PÎ¼¸¢x 31.3.2007 AßÖ

•iÁøh²® BsiØPõÚ Â¯õ£õµ »õ£ |mh

PnUøP²®, A¢|õøÍ¯ C¸¨¦ {ø»

SÔ¨¤øÚ²® u¯õ›UP.

 1.4.2006 31.3.2007

¹. ¹.

ŒµUQ¸¨¦ 50,000 25,000

£Ø£» PhÚõÎPÒ 1,25,000 1,75,000

öµõUP® 12,500 20,000

AøÓP»ßPÒ 5,000 5,000

£Ø£» PhÜ¢@uõºPÒ 75,000 87,000

©ØÓ ÂÁµ[PÒ : ¹.

Gk¨¦PÒ 20,000

uÒÐ£i ö£ØÓx 7,500

uÒÐ£i AÎzux 5,000

£Ø£» öŒ»ÃÚ[PÒ 17,500
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PhÜ¢@uõºPÐUS öŒ¾zv¯ öµõUP® 2,25,000

PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP® 2,67,500

ÂØ£øÚ v¸¨£® 7,500

öPõÒ•uÀ v¸¨£® 2,500

öµõUP ÂØ£øÚ 2,500

Part C (3 × 10 = 30)

Answer any three questions.

16. A sold goods to the value of 6,000 to B taking a bill at

three months therefor. ‘A’ discounted the bill at 10 %

per annum with his bank. On maturity the bill was

returned by the bank dishonoured with Rs. 10 as noting

charges. B paid Rs. 1500 and the noting charges and

gave another bill at three months for Rs. 4500 and

10 %  interest but before maturity he had become

bankrupt and ultimately paid to his creditors 80 paise

in the rupee. Pass Journal entries in the books of A.
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A Gß£Áº ‰ßÖ ©õuzvØPõÚ ©õØÖa^mk JßÔøÚ

GkzxU öPõsk, B Gß£Á¸US ¹. 6,000 ©v¨¤ØPõÚ

ŒµUSPøÍ ÂØÓõº.   A ©õØÖa ^miøÚ ußÝøh¯

Á[Q°À BsiØS 10 % uÒÐ£i öŒ#x öPõshõº.

•vºÄ AßÖ ©õØÖa^mk ©ÖUP¨£mhuõP Á[Q¯õÀ

v¸¨¤ AÝ¨£¨£mhx. SÔ¨¦U Pmhn® ¹. 10

BQ¯x. B ¹. 1,500 ® SÔ¨¦ Pmhnzøu²® öŒ¾zv

Âmk ¹. 4,500 US® 10 % ÁmiUS® ‰ßÖ

©õuzvØPõÚ ©ØöÓõ¸ ©õØÖa ^miøÚ öPõkzuõº.

BÚõÀ •vºÄUS •ßÚº AÁº vÁõ»õQ Âmhõº.

ußÝøh¯ PhÜ¢@uõºPÐUS •iÁõP ¹£õ#US 80

ø£Œõ öPõkzuõº. A HkPÎÀ •uØ SÔ¨@£mk¨

£vÄPøÍa öŒ#P.

17. From the following prepare an Account current as set

by Arul to Balan on 30th June 2005, charging interest

on debits @ 6 % and on credits @ 4 % p.a.
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2005 Rs.

Jan1 Balance due from Balan 600

       10 Sold goods to Balan 520

       17 Balan returned goods 125

Feb 10 Cheque sent by Balan 400

         14 Balan accepted Arul’s draft for

1 month 300

April   29 Goods sold to Balan 615

May  15 Received cash from Balan 700

June   5 Balan accepted Arul’s bill for

3 months 500
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A¸Ò, £õ»ÝUPõP 30.6.05 AßÖ u¯õº öŒ#²®

|øh•øÓ PnUQÀ £ØÖUS 6 % ® ÁµÄUS 4 % ®

Ámi PnUQmk |øh•øÓU PnUS u¯õº öŒ#P.

2005 Rs.

áÚÁ› 1 £õ»Ûhª¸¢x {¾øÁ 600

10 £õ»ÝUS ŒµUS ÂØÓx 520

17 £õ»ß v¸¨¤¯Ý¨¤¯ ŒµUS 125

¤¨µÁ› 10 £õ»ß AÝ¨¤¯ Põ@Œõø» 400

 14 £õ»ß JØÖUöPõsh A¸Îß

J¸ ©õuPõ» ©õØÖa^mk 300

H¨µÀ   29 £õ»ÝUS ÂØ£øÚ öŒ#ux 615

@© 15 £õ»Ûhª¸¢x öµõUP® ö£ØÓx 700

ãß 5 £õ»ß HØÖUöPõsh A¸Îß

3 ©õu Põ» ©õØÖa ^mk 500



19 AF-3204

18. On the 1st January 2006, X of Delhi consigned to Y of

Bombay goods for sale at invoice price. Y is entitled to

commission of 4 % on invoice price and 20 % of the

surplus price realised. Goods costing Rs. 12,000 were

consigned to Bombay at the invoice price of Rs. 14,400.

The expenses of the consignment amounted to Rs. 1000.

On 31st March 1996, an Account Sales was received

from Y showing that he had effected sales of Rs.12,000

in respect of 34  th of the quantity of goods consigned

to him. His actual out of pocket expenses amounted to

Rs. 600. Y accepted a bill drawn by X for Rs. 5,000 and

remitted the balance due from him in cash.

Give Consignment Account and Y’s Account in the

books of X.

áÚÁ› 1, 2006 AßÖ öhÀ¼°À EÒÍ X Gß£Áº

£®£õ°À EÒÍ Y US AÝ¨¥mk •øÓ°À Chõ¨¦

Âø»°À, ŒµUøP ÂØP AÝ¨¦QÓõº. Y Chõ¨¦

Âø»°À 4 % PÈÄ®, A¢u Âø»US AvP©õÚ

öuõøP°À 20 % ® ö£Óz uSv Eøh¯Áº. ¹. 12,000
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AhUPÂø»²ÒÍ ŒµUS ¹. 14,400 Chõ¨¦ Âø»°À

£®£õ#US AÝ¨£¨£kQÓx. AÝ¨¥mka öŒ»ÄPÒ

¹. 1,000.

©õºa 31, 1996 AßÖ Y - °hª¸¢x ÂØÓ ŒµUQß

£mi¯À ö£Ó¨£mhx. Auß Ai¨£øh°À Y- ÂØÓ

ŒµUS ¹. 12,000; Cx AÝ¨¥k öŒ#¯¨£mh ŒµUQÀ

3
4  £[PõS®. AÁº öŒ#u öŒ»Ä ¹. 600 ©õØÖa ̂ mk

¹. 5,000 US  X BÀ GÊu¨£mk Y - -& B-À HØÖU

öPõÒÍ¨£mhx. «u•ÒÍ öuõøP öµõUP©õP Y & BÀ

öŒ¾zu¨£mhx.

 X ß HkPÎÀ AÝ¨¥mkU PnUøP²®, Y&ß

PnUøP²® u¯õº öŒ#P.

19. Vinayagam and Murali entered into a Joint venture to

buy and sell timber. Vinayagam bought timber for Rs.

1,00,000 and spent Rs. 10000 towards freight. He sent

the timber to Murali. Murali, on receiving the goods,

accepted a three moths bill for Rs. 20,000. Vinayagam

discounted bill for Rs. 19,000. Murali sold the entire
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goods for Rs. 1,60,000 and his expenses totalled

Rs. 5,000. Vinayagam and Murali agreed to share

Profits and Losses in the ratio of 3 : 2.

Prepare Joint venture account and Murali’s account in

the books of Vinayagam.

Â|õ¯P•®, •µÎ²® @Œº¢x ©µ[PøÍ Áõ[Q ÂØP

J¸ Cøn ÂøÚø¯ @©ØöPõshÚº. Â|õ¯P®

¹. 1,00,000 UP ©µ[PøÍ Áõ[Q •µÎUS AÝ¨¤Úõº.

AÝ¨¦ÁuØS Œzu® ¹. 10,000 Â|õ¯P® öPõkzuõº.

©µ[PøÍ¨ ö£ØÓ¤ß J¸ 3 ©õu ©õØÖa^mk

¹. 20,000 US HØ¦ öŒ#x •µÎ Â|õ¯Pzvh®

AÝ¨¤Úõº. Â|õ¯P® Aøu  ¹. 19,000 US Ámh®

öŒ#uõº. •µÎ GÀ»õ ©µ[PøÍ²® ¹. 1,60,000 US

ÂØÓõº. •µÎ öŒ#u öŒ»Ä ¹. 5,000 »õ£ |èh[PøÍ

3 : 2 ÂQuzvÀ Â|õ¯P•® •µÎ²® ¤›UP J¨¦U

öPõshÚº.

Â|õ¯Pzvß ¦zuPzvÀ CønÂøÚ PnUøP²®

•µÎ°ß PnUøP²® u¯õº öŒ#P.
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20. Mr. Rajesh keeps his books according to Single entry

system. His position on 1.4.05 and 31.3.06 as follows :

Rs. Rs.

1.4.05 31.3.06

Cash 9,000 23,000

Stock 20,000 19,000

Debtors 18,500 14,000

Furnitures 18,000 15,000

Machinery 15,000 27,000

Creditors 42,000 29,000

Rajesh brought Rs. 50,000 as additional capital and

withdrew Rs. 2,000 p.m.

Find out Profit on 31.3.2006.
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µõ@áè uÚx PnUSPøÍ JØøÓ¨£vÄ •øÓ°À

£v¢x Á¸QÓõº. AÁµx Â¯õ£õµ {ø» 1.4.05 ©ØÖ®

31.3.06 À ¤ßÁ¸©õÖ  :

1.4.05 31.3.06

 öµõUP® 9,000 23,000

 ŒµUQ¸¨¦ 20,000 19,000

 PhÚõÎPÒ 18,500 14,000

 ©øÚ¯oPÒ 18,000 15,000

 G¢vµ® 15,000 27,000

 PhÜ¢@uõº 42,000 29,000

 µõ@áè TkuÀ •u»õP ¹.  50,000 öPõsk Á¢uõº.

JÆöÁõ¸ ©õu•® Gk¨£õP ¹. 2,000 Gkzx öŒßÓõº.

31.3.06 & À »õ£zvøÚ PshÔP.

***
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B.Com. (C.A.) DEGREE  EXAMINATION
APRIL 2011

Second Semester

Commerce with Computer Applications

OPERATING SYSTEM

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part A (10 × 1½ = 15)

Answer all questions.

1. What is Batch Processing ?

@£mä ¤µõŒê[ GßÓõÀ GßÚ ?

2. What is Parallel System ?

@£µ»À ]ìh® GßÓõÀ GßÚ ?

3. What is scheduling ?

AmhÁøn°kuÀ GßÓõÀ GßÚ ?

AF-3205 BCC2C2
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4. What is process ?

¤µõŒì GßÓõÀ GßÚ ?

5. What do you mean by physical memory ?

¤æPÀ {øÚÁP® Gß£uß ö£õ¸Ò ̄ õx ?

6. What is Page Replacement ?

@£ä Ÿ¨@»ìö©ßm GßÓõÀ GßÚ ?

7. What is File Storage ?

@Põ¨¦ £õxPõ¨¦ GßÓõÀ GßÚ ?

8. What is Segmentation ?

 ÁøP¨£kzxuÀ GßÓõÀ GßÚ ?

9. What is Disc Scheduling ?

iìU öémi³¼[ GßÓõÀ GßÚ ?
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10. What is Worms ?

Áõº®ì GßÓõÀ GßÚ ?

Part  B (5 × 3 = 15)

Answer all questions.

11. (a) Explain about evolution of OS.

OS-°ß @uõØÓ® ©ØÖ® ÁÍºa]ø¯ ÂÍUSP.

(Or)

(b) What do you understand by Multiprocessor ?

©Ài ¤µõŒéº SÔzx }Âº AÔÁx ̄ õx ?

12. (a) Write about Dead lock prevention.

öhm»õU ¤›öÁßåß SÔzx ÁøµP.

(Or)
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(b) Bring out the importance of Process Management.

¤µõŒì @©»õsø©°ß •UQ¯zxÁzøu

öÁÎöPõnºP.

13. (a) What is Static memory management ?

{ø» {øÚÁP @©»õsø© GßÓõÀ GßÚ ?

(Or)

(b) Write a note on “Memory Protection”.

{øÚÁP £õxPõ¨¦ SÔzx SÔ¨¦ ÁøµP.

14. (a) Explain about File blocks on Disk.

ø£À ¤ÍõU Bß iìU SÔzx ÂÍUSP.

(Or)

(b) Write a short note on File protection.

ø£À ¦µmöhUéß SÔzx ]Ö SÔ¨¦ ÁøµP.
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15. (a) Briefly explain about I/O system software.

I/O ]ìh® Œõ¨m @Áº SÔzx ÂÍUSP.

(Or)

(b) Explain about Modeling of discs.

iìU ©õh¼[ SÔzx ÂÍUSP.

Part C (3 × 10 = 30)

Answer any three questions.

16. State the functioning of Distributed system.

£Qº¢uÎUS® •øÓ°øÚ £ØÔ ÂÍUSP.

17. Briefly explain about types of Scheduling.

AmhÁøn¨ £kzxu¼ß £À@ÁÖ ÁøPPøÍ

ÂÍUSP.
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18. Write about Virtual memory Management.

Âº”ÁÀ {øÚÁP @©»õsø© SÔzx SÔ¨¦ ÁøµP.

19. What are the file storage methods ?

@Põ¨¦ £õxPõ¨¦ •øÓPÒ ̄ õøÁ ?

20. Discuss about mechanisms of protecting Software and

Hardware.

Œõ¨m@Áº ©ØÖ® íõºk@Áº £õxPõ¨¦

|øh•øÓ°øÚ¨ £ØÔ ÂÁõv.

***
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B.Com. (C.A.) DEGREE  EXAMINATION
APRIL 2011

Third Semester

Commerce with Computer Applications

RELATIONAL DATABASE MANAGEMENT
SYSTEM

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part A (10 × 1½ = 15)

Answer all the questions.

1. Define RDM.

RDM Áøµ¯Ö.

2. What is Oracle ?

Oracle GßÓõÀ GßÚ ?

3. Write the Expansion of RDMS.

RDMS-ß Â›ÁõUP® GÊxP.

AF-3206 BCC3C1
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4. What is Primary key ?

Primary key GßÓõÀ GßÚ ?

5. Write the Syntax to destroying a view.

 View-I AÈ¨£uØPõÚ ö£õx ÁiÁ® GÊxP

6. Write any three DDL Commands.

DDL PmhøÍPÒ H@uÝ® ‰ßÖ GÊxP.

7. Write the Ordinary symbols used in PL / SQL.

PL / SQL-À £¯ß£kzu¨£k® Œõuõµn SÔ±kPøÍ

GÊxP.

8. A ———— cannot be used in variable name.

Variable-ß ö£¯›À ———— £¯ß£kzuU Thõx.
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9. Why the views are Created ?

Views-I Hß E¸ÁõUSQ@Óõ®

10. The ———— value of the Sequence cannot be altered.

Sequence-ß ———— ©v¨ø£ ©õØÓ •i¯õx.

Part  B (5 × 3 = 15)

Answer all the questions.

11. (a) Write short note on ‘Query’.

‘Query’ £ØÔ ]Ö SÔ¨¦ GÊxP.

(Or)

(b) What is Oracle ? List out the needs of oracle.

Oracle GßÓõÀ GßÚ ? Oracle ß @uøÁPøÍ

ÁøP¨£kzx.
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12. (a) What is a Variable ? Explain with one example.

Variable GßÓõÀ GßÚ ? J¸ Euõµnzxhß

ÂÍUS.

(Or)

(b) Discuss the SQL * PLUS Environment.

SQL * PLUS-ß ”ØÖ¨¦Ózøu ÂÁõvUP.

13. (a) Create table :

Column Name Data type Size

Client - No Varchar 2 6

Name Varchar 2 20

Address Varchar 2 30

Pincode Number 6
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AmhÁøn E¸ÁõUS :

Column Name Data type Size

Client - No Varchar 2 6

Name Varchar 2 20

Address Varchar 2 30

Pincode Number 6

(Or)

(b) Write any three DML Commands and explain.

H@uÝ® ‰ßÖ DML PmhøÍPÒ GÊv ÂÍUSP.

14. (a) Discuss about the ‘Null’ Values.

‘Null’ Values £ØÔ ÂÁõvUP.

(Or)

(b) Briefly explain the Updatable View queries.

Updatable View-ß queries £ØÔ Â›ÁõP ÂÍUS.
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15. (a) Write the Syntax of ‘for statement’ and explain

with example.

For statement&ß ö£õx ÁiÁ® ©ØÖ® Euõµn®

GÊv ÂÍUSP.

(Or)

(b) Explain the structure of PL / SQL.

PL / SQL-ß Pmhø©¨ø£ ÂÍUSP.

Part C (3 × 10 = 30)

Answer any three questions.

16. List out the advantages of RDMS.

RDMS&-ß |ßø©PøÍ Á›øŒ¨£kzxP.

17. Write a PL/SQL program to find whether the given

number is odd or even.

öPõkUP¨£mh Gs, JØøÓ¨ £øh Gs AÀ»x

Cµmøh¨£øh Gs Gß£øu PshÔ¯ EuÄ®

PL/SQL {µø» GÊxP.
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18. Explain the SQL * Commands.

SQL * PmhøÍPøÍ ÂÍUSP.

19. How can you create the Sequences ?

Sequences-I GÆÁõÖ E¸ÁõUSÁõ# ?

20. Write about the Control statements.

Control statements £ØÔ GÊxP.

***
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B.Com. (C.A.) DEGREE  EXAMINATION
APRIL 2011

Third Semester

Commerce with Computer Applications

C–PROGRAMMING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

                                Part A                  (10 × 1½ = 15)

Answer all the questions.

1. The Keyword ———— can be used to create a data

type identifier.

Data type identifier I E¸ÁõUP ———— Keyword

£¯ß£kzu¨£kQÓx.

2. What is an Integer ?

Integer GßÓõÀ GßÚ ?

AF-3207    BCC3C2
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3. Draw the Flow Chart of if ... else statement.

If ... else statement ----ß   Flow Chart ÁøµP.

4. Write the syntax of do ... while statement.

do ... while statement ß ö£õx ÁiÁ® GÊxP.

5. What is the use of Scanf function ?

Scanf function - ß £¯ß GßÚ ?

6. Which function is used to find out the length of given

string ?

öPõkUP¨£mh string-ß }Ízøu PshÔ¯ EuÄ®

function Gx ?

7. What is the use of Stremp function ?

Stremp function-ß £¯ß GßÚ ?
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8. Write the syntax of break and continue statement.

 Break -  ©ØÖ® Continue statement ß ö£õxÁiÁ®

GÊxP.

9. Which function is used to get a single character through

keyboard ?

Keyboard  ÁÈ¯õP J¸ character  ö£ØÖUöPõÒÍ

EuÄ® function  Gx ?

10. What is the use of ‘include’ function ?

‘Include’ function  & ß £¯ß GßÚ ?

Part  B (5 × 3 = 15)

Answer all the questions.

11. (a) What are the characteristics of  C language ?

C ö©õÈ°ß ]Ó¨¤¯À¦PÒ GßÚ ?

(Or)
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(b) Write the structure of C program.

C program - ß ÁiÁ® GÊxP.

12. (a) Discuss about the Increment and Decrement

operator.

Increment ©ØÖ® Decrement operator £ØÔ

ÂÁõv.

(Or)

(b) Write the syntax of for loop ? Explain with example

statement.

For loop ß  syntax GÊxP. Euõµn® GÊv

ÂÍUSP.
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13. (a) Write the difference between the Local and Global

variable.

Local  ©ØÖ® Global variable - US Cøh@¯¯õÚ

@ÁÖ£õk GÊxP ?

(Or)

(b) How can you declaring an Array ?

Array  I GÆÁõÖ Áøµ¯øÓ öŒ#Áõ# ?

14. (a) Explain the Sprintf and Scanf function.

Sprintf  ©ØÖ® Scanf function £ØÔ ÂÍUSP.

(Or)

(b) Write short notes on Labels and go structure.

Labels ©ØÖ® go structure £ØÔ ]ÖSÔ¨¦

GÊxP.
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15. (a) Explain the putchar  with one example.

Putchar I J¸ Euõµnzxhß ÂÍUSP.

(Or)

(b) Write short notes on ‘if def else’ function.

 ‘if def else’  function £ØÔ ]Ö SÔ¨¦ ÁøµP.

Part C (3 × 10 = 30)

Answer any three questions.

16. Discuss about the ‘Data types’ in C language.

C ö©õÈ°ß ‘Data types’  £ØÔ ÂÁõvUPÄ®.

17. Explain the while...loop and do...while...loop.

while...loop ©ØÖ® do...while...loop. £ØÔ ÂÍUSP.
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18. Write the syntax of function. Explain with one example.

Function - ß ö£õxÁiÁ® GÊxP. J¸ Euõµnzxhß

Aøu ÂÍUSP.

19. Discuss about the ‘Pointers’.

‘Pointers’ £ØÔ ÂÁõvUPÄ®.

20. What is a register ? Explain.

Register GßÓõÀ GßÚ ? ÂÍUSP.

***
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BUSINESS STATISTICS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 × 2 = 20)

Answer all the questions.

1. What is Primary Data ?

•uÀ {ø» uPÁÀ GßÓõÀ GßÚ ?

2. Write the types of Diagrams.

Áøµ£h[PÎß ÁøPPøÍ GÊxP.

3. What is mean ?

ŒµõŒ› GßÓõÀ GßÚ ?

AF-3208 BCC3C3
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4. Determine the Mode :

X : 3 4 5 6 7 8 9

Y : 10 25 32 38 61 47 34

•Pøh Psk ¤i :

X : 3 4 5 6 7 8 9

Y : 10 25 32 38 61 47 34

5. Write the types of Correlation Co-efficient

JmkÓÄ öPÊÂß ÁøPPøÍ GÊxP.

6. Write any two properties of Regression Line.

öuõhº¦ @Põmiß H@uÝ® C¸ £s¦PøÍ GÊxP.

7. What is Index Number ?

SÔ±mk GsPÒ GßÓõÀ GßÚ ?.
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8. What are the uses of Index Numbers ?

SÔ±mk GsPÎß £¯ßPøÍ GÊxP.

9. Write the components of Time Series.

Põ»® Œõº öuõhº Á›øŒ°ß TÖPøÍ GÊx.

10. What is Seasonal variation ?

£¸Áa ‹ÇÀ @ÁÖ£õk GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all the questions.

11. (a) What are the various sources of Secondary Data ?

Cµshõ® {ø» ¦ÒÎ ÂÁµ[PÎß ‰»[PÒ

¯õøÁ ?

(Or)
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(b) Write the difference between Classifications and

Tabulation.

ÁøP¨£kzuÀ ©ØÖ® AmhÁøn°ku¼ß

@ÁÖ£õmiøÚ GÊx.

12. (a) Find Arithmetic Mean and Mode from the

following :

Marks : 0—10 10—20 20—30 30—40 40—50

No. of
students : 14 24 38 20 4

RÌUPõq® Â£µ[PÎ¼¸¢x Tmk ŒµõŒ› •Pk

Põs.

©v¨ö£s : 0—10 10—20 20—30 30—40 40—50

©õnÁºPÎß

GsoUøP : 14 24 38 20 4

(Or)
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(b) Find the Mean Deviation about Median of the

following :

Size : 0—10 10—20 20—30 30—40 40—50 50—60 60—70

No. of

   items :7 12 18 25 16 14 8

 RÌUPsh Â£µ[PÎ¼¸¢x Cøh{ø» AÍøÁ

ö£õÖzx ŒµõŒ› Â»UP® Põs.

AÍÄ :0—10 10—20 20—30 30—40 40—50 50—60 60—70

ö£õ¸ÒPÎß

   GsoUøP : 7 12 18 25 16 14 8

13. (a) Write about Scatter diagram.

ì@Pmhº Áøµ£hzøu £ØÔ GÊxP.

(Or)
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(b) From the following data.

X Y

Arithmetic Mean 36 85

Standard Deviation 11 8

Correlation co-efficient

between X and Y 0.66

(i) Find the two Regression equations ?

(ii) Estimate the value of X when Y = 75

RÌPõq® Â£µ[PÎ¼¸¢x

X Y

ŒµõŒ› 36 85

vmh Â»UP® 11 8

X , Y US® Cøh¨

£mh JmkÓÄ öPÊ 0.66

(i) Cµsk öuõhº¦ Œ©ß£õkPøÍ Põs.

(ii) Y = 75 GÛÀ X -&ß ©v¨¦ Põs.
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14. (a) Write the characteristics of Index numbers.

SÔ±mk GsPÎß £s¦PøÍ GÊx.

(Or)

(b) Calculate suitable Index number for the following

Data. :

Group : A B C D E

Base year price (Rs.) : 32 41 53 64 17

Base year quantity : 7 5 6 3 8

Current year price (Rs.) : 43 57 63 82 19

¤ßÁ¸® Â£µ[PÐUS uS¢u SÔ±mk

Gsøn PõsP.

SÊ : A B C D E

Ai¨£øh Bsk Âø» : 32 41 53 64 17

Ai¨£øh Bsk AÍÄ : 7 5 6 3 8

{PÌÁõsk Âø» : 43 57 63 82 19
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15. (a) Calcualte the average seasonal movements for the

following :

Year Quarterly  Production

I II III IV

1994 3.5 3.9 3.4 3.6

1995 3.5 4.1 3.7 4.0

1996 3.5 3.9 3.7 4.2

1997 4.0 4.6 3.8 4.5

1998 4.1 4.4 4.2 4.5

¤ßÁ¸® Â£µ[PÐUS ŒµõŒ› ‹ÇÀ C¯UP®

Psk ¤i.

Bsk Põ»õsk u¯õ›¨¦

I II III IV

1994 3.5 3.9 3.4 3.6

1995 3.5 4.1 3.7 4.0

1996 3.5 3.9 3.7 4.2

1997 4.0 4.6 3.8 4.5

1998 4.1 4.4 4.2 4.5

(Or)
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(b) Explain the importance of Time Series Analysis

in Business

Â¯õ£õµzvÀ Põ»zöuõhº Á›øŒ £Szuõ#Âß

•UQ¯zxÁ® ÂÍUSP.

Part C (3 × 10 = 30)

Answer any three questions.

16. Write scope and uses of Statistics

¦ÒÎ°¯¼ß @|õUP® ©ØÖ® £¯ßPøÍ GÊxP.

17. Calculate Mean, Median, Mode for the following :

Value : 0—4 5—9 10—19 20—29 30—39 40—49 50—59 60—69

Freq

   uency : 328 350 720 664 598 524 378 244

ŒµõŒ› , Cøh{ø» AÍÄ, •Pk Põs  :

©v¨¦ : 0—4 5—9 10—19 20—29 30—39 40—49 50—59 60—69

Aø»

öÁs:  328 350 720 664 598 524 378 244
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18. Write the difference between Regression and

Correlation.

öuõhº¦ ©ØÖ® JmkÓÄUS® EÒÍ @ÁÖ£õk GÊxP.

19. From the following Data,. calculate Price Index

number by

(a) Laspeyre’s method.

(b) Paasche’s method.

(c) Fisher’s method.

Commodity Base year Current year

Price Quantity Price Quantity

A 2 40 6 50

B 4 50 8 40

C 6 20 9 30

D 8 10 6 20

E 10 10 5 20
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¤ßÁ¸® ÂÁµ[PÎ¼¸¢x »õì¤¯º, £õìa^ì

©ØÖ® ¥éº SÔ±mk Gsøn PnUQkP.

 ö£õ¸Ò Ai¨£øh Bsk {PÌÁõsk

Âø» AÍÄ Âø» AÍÄ

A 2 40 6 50

B 4 50 8 40

C 6 20 9 30

D 8 10 6 20

E 10 10 5 20

20. Fit a Straight line trend by the method of Least square

from the following :

Year : 1995 1996 1997 1998 1999 2000 2001

Production : 430 473 590 522 382 339 401

Represent this data on a graph sheet and draw the

trend line
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¤ßÁ¸® EØ£zv°¼¸¢x SøÓ¢u ÁºUP •øÓ°ß

RÌ @|º@Põk JßøÓ ö£õ¸¢xP.

Bsk : 1995 1996 1997 1998 1999 2000 2001

EØ£zv : 430 473 590 522 382 339 401

@©ØPõq® ÂÁµ[PøÍ Áøµ£hz uõÎÀ Áøµ¢x

@|º@Põmk Põmk.

***
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ADVANCED ACCOUNTANCY—III
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Time : 3 Hours Maximum : 75 Marks

                                Part A                  (10 × 2 = 20)

Answer all questions.

1. Define–Partnership.

Tmhõsø©– ÁøµÂ»UPn® u¸P.

2. What is ‘ Current Account’

‘ |h¨¦U PnUS’ GßÓõÀ GßÚ ?

3. What do you mean by Sacrifycing Ratio ?

v¯õP ÂQu® Gß£x £ØÔ E©x P¸zx ̄ õx ?
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4. What  is Revaluation Account ?

©Ö©v¨¥mkU PnUS GßÓõÀ GßÚ ?

5. What is Profit and Loss suspense Account ?

C»õ£ |mh AÚõ©zxU PnUS GßÓõÀ GßÚ ?

6. What do you mean by Joint Life Policy ?

Tmk B²Ò Põ¨¦Öv £ØÔ E©x P¸zx ¯õx ?

7. What is Realisation Account ?

wºÄU PnUS GßÓõÀ GßÚ ?

8. How would you close the Capital Account if all the

partners are insolvent ?

AøÚzxU TmhõÎPÎß ö|õi¨¤ß ö£õÊx }Âº

G[VÚ® •uÀ PnUS •i¨¥º ?



3 AF-3209

9. Mention the various methods of piecemeal distribution.

AÆÁ¨@£õøu¯ £QºÂß £À@ÁÖ •øÓPøÍ

SÔ¨¤kP.

10. What is Purchase Consideration ?

öPõÒ•uÀ ©Ö£¯ß GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions

11. (a) X and Y are partners sharingprofits in the ratio of

3 : 2. From Ist January 2008, they admit Z into

partnership giving him 
1
5  th share of the profits

with a guarantee of Rs. 12,000 minimum. X and Y

as between themselves continued to share profits

as before. Profits of the firm for 2008 were

Rs. 48,000. Determine the profits of  X, Y and Z.
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‘GUì’ ©ØÖ® ‘J#’ BQ@¯õº C»õ£[PøÍ 3 : 2

ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ BÁº.

1 áÚÁ› 2008À ‘ CŒm’ Gß£Áøµ  
1
5 £[QØS

SøÓ¢u £mŒ C»õ£ EzvµÁõu® ¹ 12,000 ØS

Tmhõsø©°À @ŒºzxU öPõshÚº. ‘GUì’

©ØÖ® ‘J#’ AÁºPÐUSÒ £øÇ¯ ÂQuzv@»@¯

öuõhº¢x £Qº¢x öPõshÚº. 2008®

BsiØPõÚ C»õ£® ¹.48,000. ‘GUì’  ‘J#’

©ØÖ® ‘CŒm’ BQ@¯õ›ß C»õ£[PøÍ PõsP.

(Or)

 (b) Madan and Sadan were partners in a business.

Their profit sharing ratio was 4 : 1. On 1-4-2008

their capitals were Madan Rs. 50,000, Sadan

Rs. 40,000. Their accounting year ends on

31.3.2009 Profits for the year was Rs. 1,75,000.

Prepare Profit and Loss Appropriation account on

the basis of the following information :—
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(a) Interest on capital per  annum was 5%.

(b) Interest on Madan’s Loan account was

Rs. 5,000.

(c) Drawings : Madan Rs. 15,000, Sadan

Rs.10,000, interest on drawings is at 6%

per annum.

(d) Before sharing profit to partners 10% most
be transferred to reserve.

J¸ Â¯õ£õµzvÀ ‘ ©uß ’ ©ØÖ® Œuß BQ@¯õº

TmhõÎPÒ. CÁºPÎß C»õ£ £QºÄ ÂQu®

4 : 1. 1.4.2008 AßÖ CÁºPÎß •uÀPÒ ‘©uß’

¹,5,000, ‘Œuß ’ ¹.40,000. 31&3&2009- --À

•iÁøh²® BsiØPõÚ C»õ£® ¹ 1,75,000.

RÌÁ¸® Â£µ® öPõsk, C»õ£ |mh £QºÄ

PnUS u¯õ›UP.

(A) BsiØS 5% •uÀ «x Ámi.

(B) ©uß Phß «x Ámi ¹ 5,000

(C) Gk¨¦PÒ : ‘©uß’ ¹ 15,000, ‘Œuß’ ¹

10,000, Gk¨¦ «x Ámi BsiØS 6%
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(D) TmhõÎPÎøh@¯ C»õ£zøu £Q¸®

•ß 10 % Põ¨¤ØS ©õØÖP.

12. (a) P and Q were partners sharing in 4 : 2 ratio R.

was admitted for 
1
4

th share which he acquired

equally from both P and Q. Calculate the new

profit sharing ratio and sacrificing Ratio.

‘¤ ’ ©ØÖ® ‘ U³’ <BQ@¯õº 4 : 2 £Qº¢x öPõÒÐ®

TmhõÎPÒ. Bº Gß£Áº 
1
4  £[QØS @ŒºzxU

öPõÒÍ¨£mhõº C¨£[øP ¤ ©ØÖ® U³

BQ@¯õ›h® Œ©©õP ö£ØÖU öPõshõº. ¦v¯

©ØÖ® v¯õP ÂQu® PõsP.

(Or)

(b) ‘ M ’ and ‘ N ’ are partners sharing profits and

Losses in the ratio of 5 : 3 on admission of a new

partner ‘ 0’ they decide to revalue the assets and

liabilities of the firm as under :
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(a) Increase the value of the building by

Rs. 22,000

(b) Unrecorded investment of Rs. 4,000 to be

brought into account.

(c) Decrease the value of stock by Rs. 2,000 and

furniture by Rs. 1,000.

(d) Write off sundry creditors by Rs. 1,000

Give necessary Journal entries and prepare

Revaluation Account.

G® ©ØÖ®  Gß BQ@¯õº C»õ£ |mh[PøÍ 5 : 3

ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ. ‘K’

Gß£Áøµ TmhõÎ¯õP @ŒºzxU öPõÒÐ®

ö£õ¸mk RÌÁ¸®£i öŒõzxUPÒ ©ØÖ®

ö£õÖ¨¦PÒ ©Ö©v¨¥k öŒ#¯¨£kQßÓÚ.

(A) Pmih[PÒ ¹ 22,000 BÀ E¯ºzu¨

£kQßÓÚ.

(B) £vÄ öŒ#¯¨£hõu •u½kPÒ ¹ 4,000

PnUQÀ öPõskÁµ¨£mhÚ.



8 AF-3209

(C) ŒµUS ¹ 2,000 BÀ ©ØÖ® ©øn

£øn¯[PÒ ¹ 1000 BÀ ©v¨¤ØS®

öŒ#¯¨£kQÒÓÚ.

(D) PhÜ¢@uõº ¹ 1,000 @£õUöPÊxP.

13.    (a)    Ram, Gopal and Kannan were partners sharing

profits in the ratio of , .1 1 1and 
2 3 6  Gopal retires.

Find gaining ratio.

µõ®, @Põ£õÀ ©ØÖ® Psnß BQ@¯õ›ß

C»õ£[PøÍ ,1 1
2 3  ©ØÖ® .1

6  GÚ £Q¸®

TmhõÎPÒ, @Põ£õ¼ß Â»PÀ ö£õ¸mk Buõ¯

ÂQu® Põs.

(Or)

(b) A, B and C were in partnership, sharing profits

and losses equally. On 1.1.03 A retired when the

firm’s balance sheet was as under :—
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Liabilities Rs. Assets Rs.

Creditors 6,928 Land and buildings 4,200

Capital accounts

A 8,000 Plant and machinery 6,980

B 6,800 Sundry Debtors 8,915

C 7,800 Sundry Debtors 8,000

Cash 1,433

——— ———

29,528 29,528

——— ———

According to the partnership deed, assets were

agreed to be revalued on As retirement as under :

Land and buildings Rs. 5,800 ; plant and

machinery Rs. 6,564 ; Investment Rs. 8,400 good

will was then revalued at 9,600. Pass necessary

journal entries. Prepare revaluation account.
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H,¤ ©ØÖ® ] BQ@¯õº Œ© ÂQu TmhõÎPÒ

1&1------ --&03 À H Â»S® ö£õÊx C¢{ÖÁÚzvß

C¸¨¦ {ø»U SÔ¨¦ RÌÁ¸©õÖ

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

PhÜ¢@uõº 6,928 {»•® Pmih[PÐ® 4,200

•uÀ PnUSPÒ

H 8,000 ö£õÔ²® C¯¢vµ•® 6,980

¤ 6,800 £Ø£» PhÚõÎPÒ 8,915

] 7,800 •u½kPÒ 8,000

öµõUP® 1,433

——— ———
29,528 29,528

——— ———

‘H°ß ’ Â»PÀ ö£õ¸mk Tmhõsø©

J¨£¢u¨£i öŒõzxUPÒ RÌÁ¸©õÖ ©Ö©v¨¥k

öŒ#¯¨£mhx. {»•® Pmih[PÐ® ¹ 5,800

ö£õÔ²® C¯¢vµ•® ¹. 6564. •u½kPÒ ¹ 8,400.

|Øö£¯º A¨ö£õÊx ©v¨¤h¨£mhx ¹ 9,600

GÚ.

SÔ¨@£mk £vÄPÒ u¢x, ©Ö©v¨¥mk PnUS

u¯õ›UP.
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14. (a) P, Q and R were partners sharing profits and

losses in the ratio of  2 : 2 : 1. The partnership was

dissolved on December 31, 2007, and the Balance

Sheet on that date was as follows :

Liabilities Rs. Assets    Rs.

Sundry creditors 6,000 Cash in hand 2,000

Capital accounts : Other Assets 38,000

P 16,000

Q 12,000

R 6,000

——— ———

40,000 40,000

——— ———

The assets were realised gradually : Rs, 10,000 was

received in first instalement, Rs. 10,000 the second

time and Rs. 13,000 finally.

Show how the cash was distributed under

Maximum Loss method.
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¤. U³ ©ØÖ® Bº BQ@¯õº C»õ£ |mh[PøÍ 2

: 2 : 1 ÂQuzvÀ £Q¸® TmhõÎPÒ. 31 iŒ®£º

2007À Tmhõsø© Pø»UP¨ £mhx

A¨@£õøu¯ C¸¨¦ {ø»U SÔ¨¦ RÌÁ¸©õÖ :

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

£Ø£» PhÜ¢@uõº 6,000 øP°¸¨¦ öµõUP® 2,000

•uÀ PnUSPÒ : Cuµ öŒõzxUPÒ 38,000

¤. 16,000

U³ 12,000

Bº 6,000

———— ————
40,000 40,000

——— ———
£i¨£i¯õP ö£ØÓ öŒõzxUPÒ ÂØÖ ÁµÄ •uÀ

uÁøn¯õP ¹. 10,000, CµshõÁx uÁøn¯õP

¹. 10,000 ©ØÖ® CÖvz uÁøn¯õP ¹. 13,000

BQ¯øÁ BS®

EaŒ£mh |mh •øÓ°À AÆÁ¨@£õøu¯ £QºÄ

GÆÁõÖ Gß£øu PõmkP.

(Or)
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(b) X limited agreed to purchase the business of

Rahim and Karim as on 31-3-2003. Their Assets

on that date were Rs. 4,40,000 and Liabilities to

outsiders Rs. 1,60,000. For the purpose of sale, it

its agreed 90 % of the assets alone will be taken

over at 10% discount, Liabilities are to be taken

subject to rebate of 5% Goodwill is deemed worth

Rs. 40,000. Ascertain purchase consideration.

31.3.2003 AßÖ µï® ©ØÖ® PŸ® BQ@¯õ›ß

Â¯õ£õµzøu ‘X’ ¼m Áõ[QU öPõÒÍ J¨¦U

öPõshx CÁºPÎß AßøÓ¯ öŒõzxUPÒ

¹ 4,40,000 ©ØÖ® ö£õÖ¨¦PÒ ¹ 1,60,000

CÆÂØ£øÚ°ß ö£õ¸mk 90%. öŒõzxUPÒ

©mk@© 10% uÒÐ£i°À GkzxU öPõÒÍÄ®,

ö£õÖ¨¦PÒ AøÚzx® 5% PÈÂÀ GkzxU

öPõÒÍÄ® |Øö£¯º ¹ 40,000 GÚU öPõÒÁx

GÚÄ® J¨¦UöPõÒÍ¨£mhx. öPõÒ•uÀ

©Ö£¯ß wº©õÛUP.

15. (a) Distinguish between Dissolution of Firm and

Dissolution of Partnership.
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{ÖÁÚUPø»¨¦ ©ØÖ® Tmhõsø© Pø»¨¦

@ÁÖ£kzxP.

(Or)

 (b) Give the rules of Garner vs Murray case.

PõºÚº Gvº •º@µ ÁÇUQß ÂvPøÍ u¸P.

Part C (3 × 10 = 30)

Answer any three questions.

16. Explain the various methods of Treating Goodwill

during admission of a Partner.

J¸ TmhõÎ°ß @Œº¨¤ß ö£õÊx |Øö£¯øµ

øP¯õÐ® £À@ÁÖ •øÓPøÍ ÂÍUSP.

17. Meena and Srilekha are partners with Capitals of

Rs. 60,000 and 20,000 respectively on Ist January 2009.

The trading profit (before taking into account the

provisions of the deed) for the year ended 31st December

2009 was Rs. 24,000. Interest on capital is to be allowed

at 6% per annum. Srilekha is entitled to a Salary of

Rs. 6,000 per annum. The drawings of the partners were
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Rs. 6,000 and Rs. 4,000, the interest for Meena being

Rs.200 and for Srilekha Rs.100. Prepare the Profit and

Loss appropriation account and Partner’s Capital

Account under Fixed Capital Method.

«Úõ ©ØÖ® ÿ@»Põ BQ@¯õº 1.1.09 AßÖ •øÓ@¯

¹ 60,000 ©ØÖ® ¹ 20,000 •uÀ öPõsh TmhõÎPÒ.

J¨£¢u ŒµzxUPÐUS •¢øu¯ Â¯õ£õµ C»õ£®

31.12.2009 Ehß •iÁøh²® BsiÀ ¹ 24,000. •uÀ

«x Ámi BsiØS 6% AÝ©vUP ¹ 6,000 Bsk

Fv¯zvØS ÿ@»Põ E›ø©¨£mhÁº CÁºPÎß

Gk¨¦ ¹ 6,000 ©ØÖ® ¹ 4,000 Cuß Ámi «ÚõÂØS

¹ 200 ÿ@»PõÂØS ¹ 100. C»õ£|mh £QºÄU PnUS

u¯õ›zx @©¾® {ø» •uÀ •øÓ°ß RÌ

TmhõÎPÎß •uÀ PnUSPøÍ u¯õ›UP.

18. The balance sheets of Amir and Sudhir as on

31-3-2004 was

Liabilities Admir Sudhir Assets Amir Sudhir

Rs. Rs. Rs. Rs.     Rs.

Creditors 10,000 8,000 Machinery 7,500 10,000
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Bank loan 5,000 — Stock 10,000 5,000

Capital 15,000 20,000 Debtors 12,500 11,000

Bank —— 2,000

——— ——— ——— ————
30,000 28,000 30,000 28,000

——— ——— ——— ————

They decided to amalgamate businesses. The following

revaluations were agreed :

(a) Machinery to be reduced by 10%

(b) Stock of Amir to be reduced by 20% and that of

Sudhir 10%

(c) A provision of 5% is to be made against debtors of

both.

(d) Each proprietor is to be credited with good will of

of Rs. 5,000.

(e) Bank loan of Amir is to be paid by him.

Pass Journal Entries in the books of the new firm and

prepare the amalgamated Balance Sheet as on

31.3.2004.
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31-3-2004 AßÖ Aªº ©ØÖ® ”vº BQ@¯õ›ß C¸¨¦

{ø»U SÔ¨¦PÒ

ö£õÖ¨¦PÒ Aªº ”vº öŒõzxUPÒ Aªº ”vº

¹ ¹ ¹ ¹

PhÜ¢@uõº 10,000 8,000 C¯¢vµ® 7,500 10,000

Á[QUPhß 5,000 — ŒµUQ¸¨¦ 10,000 5,000

•uÀ 15,000 20,000 PhÚõÎPÒ 12,500 11,000

Á[Q —— 2,000

——— ——— ——— ————
30,000 28,000 30,000 28,000

——— ——— ——— ————

CÁºPÒ Â¯õ£õµ[PøÍ JßÔønUP •iÄ öŒ#uÚº.

RÌ Á¸® ©Ö©v¨¥kPÒ J¨¦U öPõÒÍ¨£mhx.

(A) C¯¢vµ® 10 SøÓUP¨£h@Ásk®.

(B) Aª›ß ŒµUQ¸¨¦ 20% •® ”v›ß ŒµUQ¸¨¦

10% •® SøÓUP¨£h @Ásk®

(C) C¸Á›ß PhÚõÎPÒ «x 5% JxUS

HØ£kzu@Ásk®.

(D) JÆöÁõ¸ E›ø©¯õÍº PnUQ¾® |Øö£¯º u»õ

¹ 5,000 ÁµÄ øÁUP @Ásk®.

(E) Aª›ß Á[QPhß AÁ@µ öŒ¾zvz wºUP

@Ásk®.
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¦v¯ {ÖÁÚ HkPÎÀ SÔ¨@£mk £vÄPÒ u¢x

31--&-3&-2004ß JßÔønzu C¸¨¦ {ø»U SÔ¨¦

u¯õ›UP.

19. The following is the Balance Sheet of Chandran, Soman

and Arun :

Rs. Rs.

Creditors 6,000 Sundry Assets . . . . . . . 16,000

Capital Accounts Cash at bank    900

Chandran 4,000 Arun’s current account 2,000

Soman 3,000

Arun 1,000

Current Accounts

Chandran 2,000

Soman 2,000

Profit and loss a/c 900

——— ———
18,900 18,900

——— ———
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On dissolution of the firm, assets of the value of Rs. 3,000

were taken over by Chandren for Rs, 2,000. Remaining

assets realised Rs. 11,000. Realisation expenses

Rs. 200. Creditors were paid Rs. 5,800 in full settlement.

Arun became insolvent, from whose estate Rs. 300 only

was recovered.

Prepare the necessary Ledger Accounts and close the

accounts of the firm, by applying Garner vs. Murray rule.

Œ¢vµß, @Œõ©ß ©ØÖ® A¸s BQ@¯õº C¸¨¦

{ø»U SÔ¨¦ RÌÁ¸©õÖ

¹ ¹

PhÜ¢@uõº 6,000 £Ø£» öŒõzxUPÒ 16,000

•uÀ PnUS Œ¢vµß 4,000 Á[Q°¸¨¦ öµõUP®     900

@Œõ©ß 3,000 A¸oß |h¨¦UPS   2,000

A¸s 1,000

|h¨¦UP/S Œ¢vµß 2,000

@Œõ©ß 2,00

C»õ£ |mhU PnUS 900

——— ———

 18,900 18,900

                       ———        ———
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{ÖÁÚU Pø»¨¤ß ö£õÊx ¹ 3,000 ©v¨¦ÒÍ

öŒõzxUPøÍ ¹ 2,000ØS Œ¢vµß GkzxU öPõshõº,

«u•ÒÍ öŒõzxUPÎß ÂØÖÁµÄ ¹ 11,000. wºÄa

öŒ»ÄPÒ ¹ 200. ¹ 5,800 öŒ¾zv PhÜ¢@uõº PnUS

•Êø©¯õP wºUP¨£mhx. A¸s ö|õizx¨ @£õÚõº.

CÁ›ß uÛ¨£mh öŒõzxUPÎß ‰»® {ÖÁÚ® ö£Ó

C¯ßÓx ¹ 300 ©mk@©. PõºÚº Gvº •º@µ ÁÇUQß

ÂvPÒ£i @£@µmkU PnUSPÒ u¢x {ÖÁÚ

HkPøÍ •iUPÄ®.

20. P, Q, R were partners sharing Profits and Losses in the

ratio , .1 1 1and 
2 3 6  They decided to dissolve their firm

on 31-3-03. Their Balance Sheet as on the date of

dissolution was as follows :

Liabilities Rs. Assets Rs.

Capitals

P 40,000 Cash 8,000

Q 20,000 Stock 84,000

R 4,000 Fixed Assets 32,000

Creditors 60,000

———— ————
1,24,000 1,24,000

———— ————
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Further, they decided to distribute the cash as and when

realised. The realisation and expenses are as follows :

Month Debtors Stock Expenses

Rs Rs. Rs.

February 16,000 8,000 2,000

March 24,000 12,000 1,600

April 14,000 6,000 1,400

May 20,000 2,000 1,000

June 4,000 7,000 1,200

Stock having been completely sold, Mr. R accepted the

remaining debtors worth Rs. 1,200

Prepare a statement showing the piecemeal

distribution of cash. Under proportionate  capital

method.

¤.U³ Bº BQ@¯õº 1 1,2 3  ©ØÖ® 1
6  ÂQuzvÀ

C»õ£ |mh[PøÍ £Q¸® TmhõÎPÒ CÁºPÒ

31-&3&03 AßÖ u[PÒ {ÖÁÚzøu Pø»UP •iÄ

öŒ#uÚº. AßÖ CÁºPÎß C¸¨¦ {ø»U SÔ¨¦

RÌÁ¸©õÖ.
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ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

•uÀPÒ

¤ 40,000 öµõUP® 8,000

U³ 20,000 ŒµUQ¸¨¦ 84,000

Bº 4,000 {ø»aöŒõzxUPÒ 32,000

PhÜ¢@uõº 60,000

———— ————1,24,000 1,24,000
———— ————

@©¾® CÁºPÒ öµõUPzøu AÆÁ¨@£õ@u £Qº¢x

öPõÒÍ •iÄ öŒ#uÚº. öŒõzx ÂØÖ ÁµÄ ©ØÖ®

öŒ»ÄPÒ RÌÁ¸©õÖ

©õu® PhÚõÎPÒ ŒµUQ¸¨¦ öŒ»ÄPÒ

¹. ¹. ¹.

¤¨µÁ› 16,000 8,000 2,000

©õºa 24,000 12,000 1,600

H¨µÀ 14,000 6,000 1,400
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***

¹. ¹. ¹.

@© 20,000 2,000 1,000

áüß 4,000 7,000 1,200

ŒµUSPÒ •Êx® ÂØÖz wº¢uÚ. «u•ÒÍ

PhÚõÎPøÍ ¹ 1200ØS v¸ ‘Bº’ HØÖU öPõshõº.

AÆÁ¨ @£õøu¯ öµõUP¨ £QºøÁ ‰»uÚ £[S

ÂQuzvÀ £Qº¢uÎUS® AÔUøP u¯õ›UP.
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B.Com. (C.A.)  DEGREE  EXAMINATION
APRIL 2011

Fourth Semester

Commerce with Computer Applications

E–COMMERCE AND INTERNET

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

                               Part A               (10 × 1½ = 15)

Answer all questions.

1. Define E - Commerce.

ªß ÁoPÂ¯À --— Áøµ¯Ö.

2. What is Global Information Distribution Network ?

Global Information Distribution Network GßÓõÀ

GßÚ ?

3. What is Hypertext Publishing ?

 Hypertext  öÁÎ±k GßÓõÀ GßÚ ?

AF-3210    BCC4C1
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4. What is Smart card  ?

 Smart  Amøh GßÓõÀ GßÚ ?

5. What is VAN ?

VAN GßÓõÀ GßÚ ?

6. What do you mean by Corporate Data Warehouses ?

Corporate Data Warehouses Gß£uß ö£õ¸Ò ̄ õx ?

7. What is Internet ?

Cøn¯uÍ® GßÓõÀ GßÚ ?

8. What is shell account ?

öåÀ PnUS GßÓõÀ GßÚ ?
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9. What is Style sheet ?

Style sheet GßÓõÀ GßÚ ?

10. What is DHTML ?

 DHTML GßÓõÀ GßÚ ?

Part  B (5 × 3 = 15)

Answer all the questions.

11. (a) What are the elements of E - Commerce ?

ªß ÁoPÂ¯¼ß •UQ¯ TÖPÒ ̄ õøÁ ?

(Or)

(b) State any five applications of E - Commerce.

ªß ÁoPÂ¯¼ß H@uÝ® I¢x £¯ß£õkPøÍ

TÖP.
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12. (a) Describe about WWW ?

WWW - £ØÔ ÂÁõv.

(Or)

(b) What are the risks involved in EPS ?

EPS -& ²hß öuõhº¦øh¯ Chº£õkPÒ ̄ õøÁ ?

13. (a) What are the applications of EDI in Business ?

Â¯õ£õµzvÀ EDI-°ß £¯ß£õkPÒ ̄ õøÁ ?

(Or)

(b) Write a note about Value - Added Networks.

Value - Added Network SÔzx SÔ¨¦ ÁøµP.
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14. (a) What are the resources of Internet ?

Cøn¯uÍzvß ‰»[PÒ ̄ õøÁ ?

(Or)

(b) Explain how to use Mail from a Shell account ?

öåÀ PnUQ¼¸¢x GÆÁõÖ ö©°ø»

£¯ß£kzuÁõ# ?

15. (a) Explain about Cookies.

Cookies £ØÔ ÂÁ›UPÄ®.

(Or)

(b) Explain how to use Java Script for forms.

£iÁ[PÎÀ GÆÁõÖ Java Script & ø¯

£¯ß£kzxÁõ# GÚ ÂÍUSP.
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Part C (3 × 10 = 30)

Answer any three questions.

16. Briefly explain various marketing forces influencing

E - Commerce.

ªß ÁoPÂ¯ø» £õvUS® Œ¢øuU PõµoPøÍ

ÂÍUSP.

17. Write about technologies behind the Web.

öÁ¨ ¤ß öhUPÚõ»]ø¯ ÂÍUSP.

18. What are the types of Digital Documents ?

iâmhÀ hõUSö©siß ÁøPPÒ ̄ õøÁ ?
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19. Explain about Hardware and Software requirements

of Internet.

Cøn¯uÍzvß íõºk@Áº ©ØÖ® Œõ¨m@Áº

@uøÁPøÍ ÂÍUSP.

20. Write about Multimedia controls in Web design.

öÁ¨ iøŒÛÀ ©Ài «i¯õÂß Pmk¨£õkPÒ SÔzx

GÊxP.

***
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B.Com. (C.A.) DEGREE  EXAMINATION
APRIL 2011

Fourth Semester

Commerce with Computer Applications

VISUAL BASIC PROGRAMMING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

                                Part A                  (10 × 1½ = 15)

Answer all the questions.

1. How can you start a new Project ?

¦v¯ Project  I GÆÁõÖ E¸ÁõUSÁõ# ?

2. What is the use of Height and Width properties ?

Height  ©ØÖ® Width properties - ß £¯ß GßÚ ?

3. Write any two Visual Basic Data types.

 Visual Basic ß Data types H@uÝ® Cµsk GÊxP.

AF-3211    BCC4C2
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4. Write the Syntax of if statement.

if statement - ß ö£õxÁiÁ® GÊxP.

5. What is the use of Go...to statement ?

Go...to statement & ß £¯ß GßÚ ?

6. What is an Array ?

Array GßÓõÀ GßÚ ?

7. Where the unload statement is used ?

Unload statement  I G[S £¯ß£kzu»õ® ?

8. Write any two List Box events.

 List Box events H@uÝ® CµsiøÚ GÊxP.
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9. What is a footer ?

Footer  GßÓõÀ GßÚ ?

10. Write any three tools in the standard tool bar.

Standard tool bar À EÒÍ H@uÝ® ‰ßÖ tools  GÊxP.

Part  B (5 × 3 = 15)

Answer all the questions.

11. (a) Write about the ‘Command button’.

‘Command button’ £ØÔ GÊxP.

(Or)

(b) Write short notes on Access keys.

Access keys £ØÔ ]Ö SÔ¨¦ ÁøµP.
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12. (a) Discuss the date and time function.

Date ©ØÖ® time function £ØÔ ÂÁõvUPÄ®.

(Or)

(b) Write the Syntax and explain the Rich text box.

Rich text box - ß ö£õxÁiÁ® GÊv ÂÍUSP.

13. (a) What is an Array ? Write about the one-

dimensional Array ?

Array GßÓõÀ GßÚ ? J¸ -& £›©õn Array £ØÔ

GÊxP.

(Or)

(b) Write short notes on Pointer object.

Pointer object £ØÔ ]ÖSÔ¨¦ ÁøµP.
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14. (a) How can you work with a Control array ?

Control array  & À GÆÁõÖ @Áø» öŒ#Áõ# ?

(Or)

(b) How can you sort a grid ? List all the possible

values.

Grid - I GÆÁõÖ Á›øŒ¨£kzxÁõ# ? Auß

AøÚzx ©v¨¦PøÍ²® GÊxP.

15. (a) What is a header ? Explain.

Header GßÓõÀ GßÚ ? ÂÍUSP.

(Or)

(b) What are the rules to executing the reports ?

Reports & I £¯ß£kzxÁuØPõÚ ÁÈ•øÓø¯

GÊxP.
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Part C (3 × 10 = 30)

Answer any three questions.

16. Draw the tool box and explain.

Tool box Áøµ¢x ÂÍUSP.

17. Write any two string functions with proper Syntax and

example.

 String functions  H@uÝ® CµsiøÚ Œ›¯õÚ Syntax

©ØÖ® Euõµn® GÊv ÂÍUSP.

18. Explain the Select ... Case statement.

Select...Case statement  I ÂÍUSP.
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***

19. Discuss the List and Combo boxes.

List ©ØÖ® Combo boxes £ØÔ ÂÁõvUPÄ®.

20. How can you create a report with database ?

Database Ehß J¸ report - I GÆÁõÖ E¸ÁõUSÁõ#?
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B.Com.  DEGREE  EXAMINATIONC APRIL 2011
Fourth Semester

Commerce with Computer Applications

ADVANCED ACCOUNTANCY—IV

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 × 2 = 20)

Answer all questions.

1. What is Contract Price ?

J¨£¢u Âø» GßÓõÀ GßÚ ?

2. What is work uncertified ?

ŒõßÓÎUP¨£hõ £o GßÓõÀ GßÚ ?

3. What is Minimum Rent ?

SøÓ¢uÍÄ ÁõhøP GßÓõÀ GßÚ ?

AF-3212 BCC4C3
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4. What is sub-Lease ?

EÒ SzuøP GßÓõÀ GßÚ ?

5. What is Partial Repossession ?

£Sv v¸®£¨ ö£ÖuÀ GßÓõÀ GßÚ ?

6. What is  Installment System ?

uÁønU öPõÒ•uÀ •øÓ GßÓõÀ GßÚ ?

7. What is Statement of Affairs ?

{ø» AÔUøP GßÓõÀ GßÚ ?

8. What is Deficiency Account ?

 £ØÓõUSøÓ PnUS GßÓõÀ GßÚ ?
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9. What is Dependent Branch ?

Œõº¦ QøÍ GßÓõÀ GßÚ ?

10. What is Departmental Accounts ?

xøÓÁõ› PnUSPÒ GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) What are the features of Contract Account ?

J¨£¢uU PnUQß ]Ó¨¤¯À¦PÒ ̄ õøÁ ?

(Or)

(b) How do you Compute Profit on incomplete contract ?

•iÄ ö£Óõu J¨£¢uU PnUQß C»õ£zvøÚ

GÆÁõÖ PnUQkÁõ# ?
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12. (a) From the following particulars, prepare the
necessary Ledger accounts in the books of tenant :—

Royalty : 50 paise per tonne of coal

Minimum rent : Rs. 30,000 p.a.

Output : 1st year 10,000 tonnes

2nd year 48,000 tonnes

3rd year 80,000 tonnes

Short workings are recoverable during the first
three years of lease.

RÌUPõq® Â£µzv¼¸¢x SzuøP GkzuÁº

HkPÎÀ @uøÁ¯õÚ @£@µmkU PnUSPøÍ

u¯õ›UP :

SzuøP : J¸ hß {»UP›US 0.50 ø£Œõ

SøÓ¢u £mŒ ÁõhøP : Á¸hvØS ¹. 30,000
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EØ£zv  : •uÀ Á¸h® 10,000 hßPÒ

Cµshõ® Á¸h® 48,000 hßPÒ

‰ßÓõ® Á¸h® 80,000 hßPÒ

SøÓ EØ£zvø¯ •uÀ ‰ßÖ Á¸hzvØSÒ

«m¦ öŒ#¯ @Ásk®.

(Or)

(b) The S.G. Coal Co. leased a colliery on 1st January
2004 at a minimum rent of Rs. 20,000 per year,
merging into a royalty of Rs. 1.50 per ton, with a
power to recoup short workings over the first
3 years of the lease. The output of the colliery for
the first four year 2004 = 9,000 tons ; 2005 = 12,000
tons ; 2006 = 16,000 tons ; 2007 = 20,000 tons. Pass
Journal entries.

1 áÚÁ›, 2004 AßÖ S.G. {»UP› {ÖÁÚzuõº

J¸ ”µ[Pzøu SzuøPUS GkzxÒÍÚº.

E›ø©z öuõøP¯õP hß JßÖUS ¹. 1.50 Ãu®

{ºn°UP¨£mkÒÍx. SøÓ¢u£mŒ ÁõhøP

Á¸hzvØS ¹. 20,000. SøÓ EØ£zvø¯ «mk®

E›ø© •uÀ ‰ßÖ Á¸h[PÐUS EÒÍÚ. •uÀ

|õßS BskPÎÀ EØ£zv ÂÁµ® 2004 = 9000

hßPÒ 2005 = 12,000 hßPÒ , 2006 = 16,000 hßPÒ

2007 = 20,000 hßPÒ. SÔ¨@£mk £vÄPÒ u¸P.
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13. (a) Mr. X purchased a cycle on hire purchase for
Rs. 1000 to be paid as follows :

      Rs.

On signing the agreement 120

at the end of the 1st year 170

at the end of the 2nd year 160

at the end of the 3rd year 550

Interest is charged at 10% p.a. on the cash value.
Find out the cash price of the cycle.

v¸ X AÁºPÒ J¸ øŒUQøÍ ÁõhøPU

öPõÒ•uÀ  •øÓ°À ¹. 1,000US Áõ[Q

AuØPõÚ öuõøPø¯ ¤ßÁ¸©õÖ öŒ¾zxQÓõº.

     ¹.

J¨£¢uzvß «x 120

•uÀ uÁøn «x 170
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  ¹.

Cµshõ® uÁøn «x 160

‰ßÓõ®  uÁøn «x 550

öµõUP Âø»°À Á¸hzvØS 10% Ámi

Á‹¼UP¨£kQÓx. øŒUQÎß öµõUP Âø»ø¯U

Psk¤i.

(Or)

(b) Differentiate  Hire Purchase system from
Installment system.

ÁõhøP  öPõÒ•u¼¼¸¢x  uÁøn öPõÒ•uÀ

@ÁÖ£kzxP.

14. (a) Who are preferential creditors ?

•ßÝ›ø© PhÜ¢@uõºPÒ Gß£ÁºPÒ ̄ õº ?

(Or)
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(b) Give the form of statement  of affairs.

{ø»ø© AÔUøP°ß ©õv›¨ £iÁ® JßÖ

u¸P.

15. (a) From the following particulars, prepare branch
account for the year ended 31st March 2001 in the
books of the company Star Ltd. invoices goods to
its branch at cost.

Rs.

Branch stocks on 1st April, 2000  3,05,260

Branch debtors on 1st April, 2000 74,200

Goods returned from head office 24,60,000

Goods received to head office 23,500

Cash sales 21,45,000

Credit sales 8,40,600

Cash collected from debtors 8,10,000
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Rs.

Discount allowed to debtors 16,000

Sales returns by debtors 8,500

Expenses paid by head office 14,18,000

On 31st March, 2000 stock

at branch was valued at 3,27,110

31&3&2001 B® Bs@hõk •iÁøh²® QøÍ

PnUS u¯õº öŒ#P. ìhõº ¼ªöhm AuÝøh¯

QøÍUS AhUP Âø»°À ö£õ¸mPøÍ

AÝ¨¤¯x :

¹.

1&4&2000 AßÖ QøÍ ŒµUQ¸¨¦  3,05,260

1&4&2000 AßÖ QøÍ PhÚõÎPÒ 74,200

ŒµUS Áõ[Q¯x 24,60,000

ŒµUS v¸¨¤ AÝ¨¤¯x 23,500
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¹.

öµõUP ÂØ£øÚ 21,45,000

Phß ÂØ£øÚ 8,40,600

PhÚõÎPÎhª¸¢x öµõUP® ö£ØÓx 8,10,000

PhÚõÎPÐUS AÎUP¨£mh uÒÐ£i 16,000

PhÚõÎPÒ ‰»® ÂØ£øÚ v¸¨£® 8,500

uø»ø© QøÍ¯õÀ öŒ¾zu¨£mh

öŒ»ÂÚ[PÒ 14,18,000

31&3&2000 AßÖ QøÍ°ß ŒµUQ¸¨¦

¹. 3,27,110 GßÖ ©v¨¤h¨£kQÓx.

(Or)
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(b) From the following details, prepare departmental
trading accounts.

Dept. A Dept. B

Rs. Rs.

Opening stock 9,000  8,400

Total purchases 27,000 21,600

Total sales 42,000 36,000

Closing stock 10,800 4,800

Credit purchases 17,000 10,600

Credit sales 5,000 6,000

RÌUPõq® Â£µzv¼¸¢x xøÓÁõ› Â¯õ£õµU

PnUSPøÍ u¯õ›UP :

xøÓ A xøÓ B

¹, ¹,
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Bµ®£ ŒµUQ¸¨¦ 9,000  8,400

ö©õzu öPõÒ•uÀPÒ 27,000 21,600

ö©õzu ÂØ£øÚ 42,000 36,000

CÖv ŒµUQ¸¨¦ 10,800 4,800

Phß öPõÒ•uÀPÒ 17,000 10,600

Phß  ÂØ£øÚ 5,000 6,000

Part C (3 × 10 = 30)

Answer any three questions.

16. The following particulars related to a contract

undertaken by Ajit Engineers :—

    Rs.

Materials sent to site 85,349

Labour engaged on site 74,375

Plant installed at site 15,000
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Direct expenditure 3,167

Establishment charges 4,126

Materials returned to stores 549

Work certificated 1,95,000

Cost of work not certified 4,500

Materials in hand at end of year 1,883

Wages accured due  at end of year 2,400

Direct expenditure due at end of year 240

Value of plant at end of year 11,000

The contract price has been agreed at 2,50,000

Cash received from the contractee 1,80,000

You  are required to prepare Contract account and
show suitable entries in the balance sheet of the

contractors.
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Aâz ö£õÔ¯õÍºPÒ GkzxU öPõsh J¨£¢u®

Œ®£¢u©õÚ Â£µ[PÒ ¤ß Á¸©õÖ :

    ¹.

C¸¨¤hzvØS ÁÇ[P¨£mh ŒµUSPÒ 85,349

C¸¨¤hzvÀ @Áø»¯õÒ öŒ»Ä 74,375

C¸¨¤hzvÀ {ÖÁ¨£mh uÍÁõh® 15,000

@|µia öŒ»ÄPÒ 3,167

{ÖÁÚa öŒ»ÄPÒ 4,126

ŒµUSPÒ Qh[QØS v¸®¤¯x 549

ŒõßÓÎUP¨£mh £o 1,95,000

ŒõßÓÎUP¨£hõu £o°ß AhUPÂø» 4,500

ŒµUSPÒ øP°¸¨¦ Á¸h •iÂÀ 1,883
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   ¹.

Á¸h •iÂÀ öPõk£h @Ási¯ T¼ 2,400

Á¸h •iÂÀ öPõk£h @Ási¯ @|µia öŒ»Ä 240

Á¸h •iÂÀ uÍÁõh® ©v¨¦ 11,000

Œ®©vzu  J¨£¢u Âø» 2,50,000

J¨£¢u® AÎzuÁ›hª¸¢x

ö£Ó¨£mh £n® 1,80,000

J¨£¢u PnUøP²®, C¸¨¦ {ø»U SÔ¨¤À

£vÄPøÍ²®, J¨£¢uUPõµº HkPÎÀ u¯õº öŒ#P.

17. Give Ledger accounts for the following transactions

in  the books of Bharath  Ltd :—

Landlord : Arun and Company
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Tenant : Bharath Ltd.

Royalty : Re. 1 per tonne

Minimum rent : Rs. 30,000 p.a.

Recoupment of short workings : next 2 years.

Output :

1990 – 15,000 tons ; 1991 – 37,500 tons ;

1992 – 20,000 tons ; 1993 – 35,000 tons ;

1994 - 32,500 tons

RÌUPsh öŒ#vPÎ¼¸¢x £õµz ¼ªöhm

AÁºPÎß HkPÎÀ @uøÁ¯õÚ @£@µmkU

PnUSPøÍz u¸P.

{»UQÇõº : A¸s Ask P®ö£Û
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SzuøP GkzuÁº  : £õµz ¼ªöhm

SzuøP : hß JßÔØS ¹. 1 Ãu®

SøÓ¢u£mŒ ÁõhøP : Á¸hzvØS ¹. 30000

SøÓ EØ£zvø¯ «m£x : Akzukzu C¸

Á¸h[PÒ.

EØ£zv :

1990&15,000 hßPÒ ; 1991 & 37,500 hßPÒ

1992 & 20,000 hßPÒ ; 1993 & 35,000 hßPÒ

1994 & 32,500 hßPÒ.

18. Mr. ‘A’ purchased a machine from B Ltd. for

Rs. 5,60,000. Payment to be made Rs. 1,50,000 down

and three installments of Rs. 1,50,000 each at the end
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of each year. He depreciated the asset at 10% p.a. on

written down value method.

Because of financial difficulties, Mr. A after having

paid down payment and first instalment at the end of

first year, could not pay second instalment and  the

seller took possession of the asset.

Open ledger account in the books of both parties to

record the transaction.

v¸  ‘A’ Gß£Áº B ¼ªöhm Gß£Á›h® ¹. 5,60,000

US C¯¢vµ® JßøÓ Áõ[QÚõº. AuØPõP ¹. 1,50,000

•ß £n•® «vø¯ JÆöÁõ¸ Á¸h•® ¹. 1,50,000

Ãu® ‰ßÖ uÁøn²® Pmh @Ási¯x. SøÓ¢u

öŒÀ C¸¨¦ •øÓ°ß RÌ Á¸hzvØS 10%.

AaöŒõzvÀ @u#©õÚ® CkQÓõº.

£nU Pèhzvß Põµn©õP A Gß£Áº •uÀ uÁøn

PmiÂmk Cµshõ® uÁøn Pmh•i¯ÂÀø».

Auß ÂøÍÁõP ÂØ£øÚ¯õÍº AaöŒõzøu Gkzxa

öŒÀQÓõº.
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@uøÁ¯õÚ @£@µmkU PnUSPøÍ C¸Áº

HkPÎ¾® PõmkP.

19. A merchant became insolvent on 1.4.2009. On that

date his total assets were Rs. 7,500 and his liabilities

Rs. 6,500 and the estimated deficiency of Rs. 2,000

before taking the following items into consideration :

(i) Interest on capital of Rs. 150 for one year at
5% p.a.

(ii) Liability on bills discounted Rs. 300 on bill
discounted by him Rs. 800.

(iii) Outstanding expenses for wages to be treated as
preferential Rs. 240.

(iv) Loan from a  friend Rs. 500 and a loan from his
wife Rs. 200.

Prepare a statement of affairs and deficiency a/c on the
basis of data given above.
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1&4&2009 AßÖ J¸ Â¯õ£õ› ö|õi¨¦ {ø»ø¯

AøhQÓõº. A¢|õÎÀ AÁµx ö©õzu öŒõzxUPÒ

¹. 7,500 ©ØÖ® AÁµx ö©õzu ö£õÖ¨¦PÒ ¹. 6,500.

RÌPõq® Â£µ[PøÍ P¸zvÀ GkUS® •ß

Gvº@|õUS® £ØÓõUSøÓ öuõøP ¹. 2,000 BS®.

(i) KµõsiØS •uÀ «uõÚ Ámi ¹. 150, Kµõsiß
Ámi ÂQu® 5% BS®.

(ii) ©õØÖa^mk Ámhªmh öuõøP ¹. 800
AÁØÔÀ» ©õØÖa^mk Ámhªmhvß ö£õÖ¨¦
¹. 300 BS®.

(iii) T¼UPõÚ {¾øÁa öŒ»ÄPÒ AøÚzx®
•ßÝ›ø©¯õPU P¸u¨£mhx ¹. 240

(iv) |s£Ûh® ö£ØÓ Phß ¹. 500 ©ØÖ® uÚx
©øÚÂ°h® ö£ØÓ Phß ¹. 200 BS®.

@©ØTÔ¯ Â£µ[PÎß Ai¨£øh°À {v{ø»

AÔUøP ©ØÖ® £ØÓõUSøÓ PnUQøÚ u¯õ›UP.

20. The following purchases were made by a business house

having three departments :
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Dept. A – 1,000 units

Dept. B – 2,000 units     at a total cost of Rs. 1,00,000.

Dept. C – 2,400 units

Stocks on 1st January were :

Dept. A – 120 units

Dept. B – 80 units

Dept.  C – 152 units

Sales were :

Dept. A – 1,020 units at Rs. 20 each

Dept. B – 1,920 units at Rs. 22.50 each

Dept. C – 2,496 units at Rs. 25 each

The rate of gross profit is same in each case. Prepare
Departmental Trading Account.







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J¸ Â¯õ£õ› uÚx ‰ßÖ xøÓPÐUS® ¤ßÁ¸©õÖ

öPõÒ•uÀ öŒ#QÓõº.

xøÓ A – 1,000 A»SPÒ

xøÓ  B – 2,000 A»SPÒ     ö©õzu öŒ»Ä ¹.  1,00,000

xøÓ C – 2,400 A»SPÒ

áÚÁ› 1 À EÒÍ £i ŒµUQ¸¨¦ :

xøÓ  A – 120 A»SPÒ

xøÓ  B – 80 A»SPÒ

xøÓ   C – 152 A»SPÒ

ÂØ£øÚ :

xøÓ  A –  ¹. 20 Ãu® 1,020 A»SPÒ







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***

xøÓ  B – ¹ 22.50  Ãu® 1,920 A»SPÒ

xøÓ  C – ¹. 25 Ãu® 2,496  A»SPÒ

GÀ»õ xøÓPÎ¾® ö©õzu C»õ£ ÂQu® Œ©©õP

EÒÍx. xøÓÁõ› Â¯õ£õµU PnUQøÚz

u¯õ›UPÄ®.
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B.Com. DEGREE  EXAMINATION, APRIL 2011

Fifth Semester

Commerce with Computer Application

CORPORATE ACCOUNTING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

                                Part A                  (10 × 2 = 20)

Answer all questions.

1. What is Debenture ?

PhÜmk £zvµ[PÒ GßÓõÀ GßÚ ?

2. What is Underwriting ?

J¨¦Öv GßÓõÀ GßÚ ?

3. What is meant by profit prior to Incorporation ?

Tmk¸ÁõUPzvØS •¢øu¯ C»õ£® Gß£uß

ö£õ¸Ò ̄ õx ?

AF-3214    BCC5C1
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4. What is Purchase consideration?

öPõÒ•uÀ ©Ö£¯ß GßÓõÀ GßÚ ?

5. What is Bonus shares ?

ªøP £[SPÒ GßÓõÀ GßÚ ?

6. What is meant by Goodwill ?

‘|Øö£¯º’ Gß£uß ö£õ¸Ò ̄ õx ?

7. Define Absorption.

Dº¨£ø©¨¦ & Áøµ¯Ö.

8. What is Capital Reduction ?

‰»uÚ SøÓ¨¦ GßÓõÀ GßÚ ?



3 AF-3214

9. What is Statement of Affairs ?

‘Pø»¨¦’ AÔUøP GßÓõÀ GßÚ ?

10. Who are called Preferential Creditors ?

•ßÝ›ø© PhÜ¢@uõº ̄ õº ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) X Limited Forfeited 100 shares of Rs. 10 each fully

called up from Mr. Y. Mr.Y has paid on application

money of Rs. 3 per share and allotment money of

Rs.2 per share. Out of the forfeited shares 80.

Shares were reissued to Mr. Z at Rs. 8 per share

as fully paid up. Pass necessary Journal entries.
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X ¼ªöhm ¹ 10 •P ©v¨¦ÒÍ •ÊÁx®

AøÇUP¨£mh 100 £[SPøÍ v¸ Y °hª¸¢x

JÖ¨¤Ç¨¦ öŒ#ux. v¸ Y J¸ £[SUS ¹. 3

Ãu® Âsn¨£¨ £n©õPÄ® ¹. 2 Ãu®

JxURmk¨ £n©õPÄ® öŒ¾zv²ÒÍõº

JÖ¨¤Ç¨¦ öŒ#¯¨£mh £[SPÎÀ 80 £[SPÒ

v¸ Z US •ÊÁx® öŒ¾zu¨£mh £[SPÍõP

£[S JßÖUS ¹ 8 Ãu® ©Ö öÁÎ±k

öŒ#¯¨£mkÒÍÚ. @uøÁ¯õÚ SÔ¨@£mk¨

£vÄPÒ u¸P.

(Or)

(b) The following extract from the balance sheet of

Janaki Co Ltd as on 31st December 2006 is given

to you.

Rs.

2,00,000 equity shares of Rs. 10 each   20,00,000

3,00,000, 6 % redeemable preference

shares of Rs. 10 each 30,00,000

Capital reserve 15,00,000



5 AF-3214

 Rs.

General reserve 9,00,000

Profit and Loss account 25,50,000

The company decides to redeem the

preference shares on 1.1.07. The company has sufficient

cash. Give Journal entries to record redemption.

31.12.2006 UPõÚ áõÚQ P®ö£Û¼miß C¸¨¦

{ø»USÔ¨¦¼¸¢x Gkzu Â£µ[PÒ

¤ßÁ¸©õÖ uµ¨£mkÒÍx.

¹.

2,00,000 Œõuõµn £[SPÒ

JÆöÁõßÖ® ¹. 10 Ãu® 20,00,000

3,00,000 •ßÝ›ø© 6 % «Ò u¸

£[SPÒ JÆöÁõßÖ ¹. 10 Ãu® 30,00,000

•u½mkUPõ¨¦ 15,00,000

ö£õxUPõ¨¦ 9,00,000

»õ£ |mh P/S 25,50,000
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1.1.07 AßÖ {Ö©® «Ò u¸ •ßÝ›ø©¨

£[SPøÍ «mP•iÄ öŒ#ux. {Ö©zvÀ

@£õx©õÚ öµõUP® C¸¢ux.

«Ò uS £[SPøÍ «mhuØPõÚ £vÄPøÍz u¸P.

12. (a) Explain the methods of computing purchase

consideration on acquisition of business.

Â¯õ£õµzøu GkzxU öPõÒÐ® ö£õÊx

PnUQk® £À@ÁÖ öPõÒ•uÀ øP®©õÖPøÍ

ÂÍUSP.

(Or)

(b) A Company was incorporated on 1st May 2000 to

acquire a business as from 1.1.2000. The first

accounts are drawn upto 30th Sep 2000. The net

sales for the nine months ending 30th September

2000 were Rs. 8,20,000 and the monthly average

sales of the first four months of 2000 being one

half of that of the remaining period. The profit was

earned uniformly on sales. Calculate time ratio

and Sales ratio.
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J¸ {Ö©® 1.1.2000 AßÖ J¸ ÁoPzøu Áõ[Q

@© 1® |õÒ Tmk¸ÁõUP® öŒ#¯¨£mhx.

öŒ¨h®£º 30,2000 Áøµ°»õÚ •uÀ PnUSPÒ

u¯õ›UP¨£mhÚ. öŒ¨h®£º 30.2000À

•iÁøh²® Jß£x ©õu[PÐUPõÚ {Pµ

ÂØ£øÚ ¹. 8,20,000 ©ØÖ® 2000 ® Bsiß

•uÀ |õßS ©õu ÂØ£øÚ «u® EÒÍ Põ»zvÀ

EÒÍ ÂØ£øÚ°À £õv¯õP°¸¢ux. ÂØ£øÚ

«x C»õ£® J@µ ̂ µõP Dmh¨£mhx. Põ» ÂQu®

©ØÖ® ÂØ£øÚ ÂQu® PnUQkP.

13. (a) Give an imaginary “Balance Sheet” of a Joint

Stock Company ?

Kº {Ö©zvß C¸¨¦ {ø»U SÔ¨¤ß ‘PØ£øÚ

©õv›ø¯z’ u¸P ?

(Or)
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(b) ‘A’ Co Limited has authorized share capital of

Rs. 1,00,00,000 divided into 2,00,000 equity shares

of Rs. 50 each. The company issued for

subscription for 1,00,000 shares at a premium of

Rs. 10 each. The entire issue was underwritten as

follows :

X – 60,000 shares [Firm underwriting 10,000 shares].

Y – 30,000 shares [Firm underwriting 4,000 shares].

Z – 10,000 share [Firm underwriting 2,000 shares].

Out of the total Issue 90,000 Shares including firm

underwriting were subscribed. Markets forms were

X - 32,000, share’s Y - 2,000 shares and  Z - 8,000

shares. Calculate the liability of each underwriter.
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‘A’ ¼m ¹. 1,00,00,000 US ¹. 2,00,000 ö£õx¨

£[SPÒ AvPõµ §ºÁ©õÚ •u»õP

öPõsi¸¢ux. £[S JßÔß ©v¨¦ ¹. 50

AÁØÖÒ 1,00,000 £[SPøÍ ¹ 10 •øÚ©zvÀ

öÁÎ°mhx.

öÁÏ±k •ÊÁx® RÌUPshÁõÖ J¨¦Öv

öŒ#¯¨£mhx.

X – 60,000 £[SPÒ [wºUP©õÚ J¨¦Öv 10,000 £[SPÒ ].

Y – 30,000 £[SPÒ [wºUP©õÚ J¨¦Öv  4,000£[SPÒ ].

Z – 10,000 £[SPÒ [wºUP©õÚ J¨¦Öv  2,000 £[SPÒ ].

ö©õzu öÁÏ±miÀ 90,000 £[SPÒ wºUP©õÚ

J¨¦Öv²® EÒÍhUQ HØÖU öPõÒÍ¨£mhÚ.

SÔ¨¤mh¨ £iÁ[PÒ ¤ßÁ¸©õÖ.

X  32,000 £[SPÒ, Y 2,000 £[SPÒ ©ØÖ® Z  8,000

£[SPÒ J¨¦Öv¯õÍ›ß ö£õÖ¨ø£ PnUQkP.
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14. (a) Reckless had the following B/S as on 31.12.2005.

Liabilities : Rs. Assets : Rs.

6% pre. share of Rs. 100 each 2,00,000 Good will 60,000

Equity shares of Rs. 100 each 4,00,000 Fixed assets 3,00,000

Debentures 1,00,000 Stock 1,50,000

Sundry creditors 1,50,000 Debtors 60,000

Discount on debenture 10,000

Bank 1,000

P/L account 2,69,000

———— —————
8,50,000 8,50,000

———— —————

The following reconstruction scheme was approved.

(a) Preference shares be reduced to 8% preference

shares of Rs. 60  each.

(b) Equity shares to be reduced by Rs. 80 each.

(c) The amount is made available to be utilised to write

add Fictitious assets including goodwill and Rs.

50,000 from Fixed assets.

Give Journal entries.
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GµU»ì {Ö©zvß 31.12.2005 UPõÚ C¸¨¦

{ø»USÔ¨¦ ¤ßÁ¸©õÖ.

ö£õÖ¨¦PÒ : ¹. öŒõzxPÒ  : ¹.

6% •ßÝ›ø© £[SPÒ

JßÖ ¹. 100 Ãu® 2,00,000 |ß©v¨¦ 60,000

@|›ø© £[SPÒ ¹.100 Ãu® 4,00,000 {ø»¯õÚ öŒõzxPÒ 3,00,000

Phß£zvµ® 1,00,000 ŒµUS 1,50,000

£Ø£» PhÜ¢@uõº 1,50,000 PhÚõÎPÒ 60,000

Phß £zvµ «x uÒÐ£i10,000

Á[Q 1,000

C»õ£ |mh P/S 2,69,000

———— —————

8,50,000 8,50,000

———— —————
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RÌUPõq® v¸zv Aø©US® vmh®

J¨¦UöPõÒÍ¨£mhx.

(i) •ßÝ›ø© £[SPÒ JÆöÁõßÖ® 8%

•ßÝ›ø© £[SPÒ ¹. 60US öPõsk

Áµ¨£mhx.

(ii) @|ºø© £[SPÒ JÆöÁõßÔØS® ¹. 80

SøÓUP¨£mhx.

(iii) CÆÁõÖ QøhUP¨ö£ØÓ öuõøP |ß©v¨¦

EÒ£h PØ£øÚa öŒõzxUPÒ AøÚzx® @£õUS

GÊxÁuØS {ø»a öŒõzxUPÎÀ ¹. 50,000

SøÓ¨£uØS® £¯ß£kzu¨£mhx.

v¸zv Aø©¨£uØPõÚ £vÄPøÍz u¸P.

(Or)

(b) A company purchased assets of Rs. 3,50,000 and

took over the Liabilities of Rs. 30,000 at an agreed

value of Rs. 3,30,000. The company issued

debentures at 10 % premium in full satisfaction of

the purchase price.

Pass necessary Journal entries.
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Kº {Ö©® ¹. 3,50,000 ©v¨¦US öŒõzxUPøÍ

Áõ[Q ¹. 30,000 US ö£õÖ¨¦PøÍ HØÖU

öPõshx. J¨¦U öPõÒÍ¨£mh ©v¨¦

¹. 3,30,000 US Phß £zvµ[PøÍ 10 %

•øÚ©zvÀ AÎzx öPõÒ•uÀ Âø»ø¯

•ÊÁx©õP Œ›öŒ#ux.

Áõ[S® {Ö©zvß •uØSÔ¨@£miÀ £vÄPÒ

u¸P.

15. (a) LT Limited went into Liquidation with the

following Liabilities :–

Rs.

Secured creditors 40,000

[Secured realised Rs. 50,000]

Preferential creditors 1,200

Unsecured Creditors 61,000

Liquidation expenses 500



14 AF-3214

The Liquidator is entitled to a remuneration of 3 % on

the amount realized [including securities in the hands

of secured creditors] and 1.5 % on the amount

distributed to the unsecured creditors . The various

assets [Excluding the securities in the hands of the

secured  creditors] realised Rs. 52,000. Prepare the

Liquidators final statement of account showing the

payment made to unsecured creditors.

LT {Ö©® ¤ßÁ¸® ö£õÖ¨¦PÐUPõP

Pø»UP¨£mhx. [¤øn¯U PhÜ¢@uõº ¹. 40,000,

¤øn¯[PÒ Á‹¼zux ¹. 50,000]

•ßÝ›ø©U PhÜ¢@uõº ¹. 1,200.

¤øn°À»õU PhÜ¢@uõº ¹. 61,000,

Pø»¨¦a öŒ»ÄPÒ ¹. 500.

Phßwºzx •Ô¨£õÍº 3 % Œ®£Í®, GÀ»õa öŒõzxUPÒ

ÂØ£øÚ°¾® 1.5% Œ®£Í®, ¤øn¨¤À»õ

PhÜ¢@uõ¸US AÎUS® öuõøP°¾® ö£ÖQÓõº.
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Cuµ öŒõzxUPÒ [«x ¤øn PhÜ¢@uõ¸UPõÚ

¤øn¨¦PøÍz uÂµ] ¹. 52,000.

PnUS wºzx •Ô¨£Á›ß PnUS¨£mi¯À u¯õº

öŒ#P.

¤øn¯ØÓ PhÜ¢@uõ¸US öPõkUP¨£mhøu²®

PõmkP.

(Or)

(b) A Limited Company went into voluntary

Liquidation with the following share capital :

Class X : 4,000 equity shares of Rs. 100 each Rs. 75 paid-up.

Class Y : 3,200 equity shares of Rs. 100 each Rs. 60 paid-up.

Class Z : 2,800 equity shares of Rs 100 each Rs. 50 paid-up.

Amount available for equity shareholders Rs. 1,22,000.

Calculate the amount payable to or receivable

from equity shareholders.
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¤ßÁ¸® £[S •u¾hß J¸ Áøµ¯Ö {Ö©®

ußÚõºÁU Pø»¨¤ØSa öŒßÓx.

¤›Ä X : ¹. 75 öŒ¾zu¨£mh ¹. 100 ©v¨¦øh¯ 4,000

Œõuõµn £[SPÒ.

¤›Ä Y : ¹. 60 öŒ¾zu¨£mh ¹. 100 ©v¨¦øh¯ 3,200

Œõuõµn £[SPÒ.

¤›Ä Z : ¹. 50 öŒ¾zu¨£mh ¹. 100 ©v¨¦øh¯ 2,800

Œõuõµn £[SPÒ.

Œõuõµn £[SuõµºPÐUPõP EÒÍ öuõøP ¹. 1,22,000.

Œõuõµn¨ £[SuõµºPÐUS öŒ¾zu @Ási¯ AÀ»x

AÁºPÎhª¸¢x ö£Ó@Ási¯ öuõøPø¯ PnUQkP.

Part C (3 × 10 = 30)

Answer any three questions.

16.  A Ltd. invited applications for 10,000 shares of Rs. 100

each at a discount of 5% payable as follows :–

On application Rs. 25 on allotment Rs. 34 and on Final

call Rs. 36.
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Applications were received for 9,000 shares and all

these were accepted. All moneys due were received

except the first and final call on 100 shares which were

forfeited. Of the Forfeited shares, 50 shares were

reissued at the rate of Rs. 90 as fully paid. Show

necessary Journal entries.

A GßÓ {Ö©® 10,000 £[SPøÍ £[S JßÖ ¹. 100

Ãu® 5 % uÒÐ£i°À öÁÎ°mk ¤ßÁ¸©õÖ

£nzøu¨ ö£ØÖU öPõÒÁuõP Âsn¨£[PÒ

Áµ@ÁØP¨£mhÚ.

Âsn¨£zvß @£õx ¹. 25 JxURmiß @£õx ¹. 34

©ØÖ® •uÀ ©ØÖ® CÖv AøÇ¨¤ß @£õx ¹. 36,

9,000 £[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mk

AøÁ AøÚzx® HØÖUöPõÒÍ¨£mhÚ. 100

£[SPÐUS›¯ •uÀ ©ØÖ® CÖv AøÇ¨¦ £n®

}[P»õP AøÚzx¨ £n•® ö£ØÖU öPõÒÍ¨£mhÚ.

C¨£[SPÒ JÖ¨¤Ç¨¦ öŒ#¯¨£mhÚ. JÖ¨¤Ç¨¦

öŒ#¯¨£mh £[SPÎÀ 50 £[SPÒ £[S JßÖ ¹. 90

Ãu® •ÊÁx® öŒ¾zu¨£mh £[SPÍõP ©ÖöÁÏ°k

öŒ#¯¨£mhÚ. @uøÁ¯õÚ SÔ¨@£mk¨ £vÄ u¸P.
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17. Selvam Ltd, was incorporated on 1.7.2004 which took

over a running concern with effect from 1.1.04. The

sales for the period from 1.1.04 to 1.7.04 was Rs. 5,40,000

and the sales from 1.7.04 to 31.12.04 amounted to Rs.

6,60,000.

The expenses debited to P&L account included :

(i) Directors fees – Rs. 75,000.

(ii) Bad debts  – Rs. 3,600.

(iii) Advertisement – Rs. 72,000 [Rs. 6,000  per month]

(iv) Salaries and General expenses – Rs. 64,000.

(v) Preliminary expenses written off – Rs. 5,000.

(vi) Donation to a political party given by the

 Company – Rs. 5,000.

(vii) Gross profit earned during the year Rs. 4,20,000.

Ascertain the profit prior to Incorporation.
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öŒÀÁ® {Ö©® 1.7.2004 AßÖ £vÄ öŒ#¯¨£mhx.

@ÁÖ J¸ öuõÈÀ {ÖÁÚzøu 1.1.04 ¼¸¢x HØÖU

öPõshx. 1.1.04 ¼¸¢x 1.7.04 Áøµ ÂØ£øÚ

¹. 5,40,000 BPÄ®, 1.7.04 ¼¸¢x 31.12.04 Áøµ

ÂØ£øÚ ¹. 6,60,000 BPÄ® C¸¢ux.

C»õ£ |mhU PnUQÀ £ØÖ øÁUP¨£mh öŒ»ÄPÒ

¤ßÁ¸©õÖ.

(i) C¯US|º PmhÚ® ¹.75,000.

(ii) ÁµõUPhß ¹. 3,600.

(iii) ÂÍ®£µa öŒ»ÄPÒ ¹. 72,000 [I ©õuzvØS

¹. 6,000  Ãu®]

(iv) Œ®£Í® ©ØÖ® ö£õxa öŒ»ÄPÒ ¹. 64,000.

(v) @£õUöPÊu¨£mh xÁUPa öŒ»ÄPÒ ¹. 5,000.

(vi) Aµ]¯À Pm]US |ßöPõøh ¹. 5,000 [{Ö©zuõÀ

öPõkUP¨£mhx]

(vii) ö©õzu C»õ£® A¢u BsiÀ Dmh¨£mhx

¹. 4,20,000 Tmk¸ÁõUPzvØS •ß Dmi¯

C»õ£zøuU PnUQkP.
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18. ‘R’ Ltd was registered with an authorized capital of

Rs. 1,00,000 Rs. 10 per share. Out of that 40,000 shares

were issued and fully paid.

Trial Balance as on 31.3.2004

Debit balance : Rs. Credit balance : Rs.

Stock 1.4.2003 1,86,420 Sales 11,69,900

Purchases 7,18,210 Purchase returns 9,850

Sales returns 12,680 18 % bank Loan 50,000

Manufacturing wages 1,09,740 Creditors 62,220

Manufacturing Expenses 19,240 P/L account [1.4.2003] 38,640

Carriage inwards 4,910 Share Capital 4,00,000

Interest on bank loan 4,500

Office Salary 17870

Audit fees 8,600

Director’s remuneration 26,250

Preliminary expenses 6,000

Premises 1,64,210
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Debit balance : Rs. Credit balance : Rs.

Machinery 128,400

Furniture 5,000

Tools 12,500

Debtors 1,05,400

Cash in hand 19,530

Cash at bank 181150

————— —————
17,30,610 17,30,610

————— —————

Adjustment :

(i) Manufacturing wages due Rs. 1,890 and office

salary outstanding Rs. 1,200 on 31.3.2004.

(ii) Provide for interest on bank loan for 6 months.

(iii) Depreciate : Plant Machinery – 15%,

Furnitures – 10 %.

(iv) Closing stock – Rs. 1,24,840.

(v) Write off 1/3 of preliminary expenses. Prepare

Company’s Final Accounts.
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‘R’ ¼m- ---- ß A[RP›UP¨£mh •uÀ £vÄ öŒ#ux

¹. 10,00,000 ¹. 10 J¸ £[S Ãu®. AvÀ 40,000

£[SPÒ öÁÎ±k öŒ#x •ÊÁx® ö£Ó¨£mhx.

31.3.2004 •i¯ C¸¨¦a @ŒõuøÚ R@Ç

öPõkUP¨£mkÒÍÚ. {Ö©zvß CÖvU PnUSPøÍ

u¯õº öŒ#P.

£ØÖz öuõøPPÒ ¹. ÁµÄz öuõøPPÒ ¹.

ŒµUQ¸¨¦ 1.4.2003 1,86,420 ÂØ£øÚ 11,69,900

öPõÒ•uÀ 7,18,210 öPõÒ•õÀ v¸¨£® 9,850

ÂØ£øÚz v¸¨£® 12,680 18 % Á[QUPhß 50,000

EØ£zvUPõÚ T¼ 1,09,740 PhÜ¢@uõºPÒ 62,220

EØ£zva öŒ»ÄPÒ 19,240 C»õ£ |mhU

EÒyUSU T¼ 4,910 P/S[1.4.2003] 38,640

Á[QUPhß «x Ámi 4,500 £[S•uÀ 4,00,000

A¾Á»Pa Œ®£Í® 17,870

uoUøPU Pmhn® 8,600
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£ØÖz öuõøPPÒ ¹. ÁµÄz öuõøPPÒ ¹.

C¯US|º Œ®£Í® 26,250

öuõhUPa öŒ»ÄPÒ 6,000

Pmih® 1,64,210

G¢vµ® 1,28,400

AøÓP»ß 5,000

Ev›a ŒõuÚ[PÒ 12,500

PhÚõÎPÒ 1,05,400

øP°¸¨¦ öµõUP® 19,530

Á[Q°¸¨¦ 1,81,150

———— ————

17,30,610 17,30,610

———— ————

Œ›UPmkuÀPÒ :

(i) 31.3.2004 AßÖ EØ£zvUPõÚ T¼ {¾øÁ

¹. 1,890 ©ØÖ® A¾Á»P® Œ®£Í {¾øÁ

¹. 1,200.
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(ii) Á[QUPhÝUS 6 ©õuzvØPõÚ Ámiø¯

JxUSP.

(iii) @u#©õÚ® : G¢vµ® 15 %, AøÓP»ß 10 %.

(iv) CÖva ŒµUQ¸¨¦ ¹. 1,24,840.

(v) öuõhUPa öŒ»ÄPÎÀ 1/3 £[øP @£õUöPÊx.

19. X Ltd agreed to acquire the business of Y Ltd as on

31.12.2006. The Summarised Balance Sheet of Y Ltd

on that date was as follows :

Rs. Rs.

Equity Shares of Goodwill 1,00,000

Rs. 10 each 6,00,000 Land and Buildings 6,40,000

General reserve 1,70,000 Stock 1,68,000

P/L account 1,10,000 Drs 36,000

6% debentures 1,00,000 Cash 56,000

Creditors 20,000

————— ————–
10,00,000 10,00,000

————— —————
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The Consideration payable by X Ltd was agreed

as follows :

(i) A cash payment of Rs. 2.50 for every Rs. 10 share

in Y Ltd.

(ii) Issue of 90,000 equity shares of Rs. 10 fully paid

in X Ltd having an agreed value of Rs. 15 per

share.

(iii) Issue 96 % of such an amount of fully paid 5%

debentures of X Ltd as insufficient to discharge

the 6 % debentures of Y Ltd at a premium of 20 %.

Assets are revalued by X Ltd as follows :

Land and Buildings Rs. 12,00,000. Stock Rs. 1,42,000

and debtors at book value less 5 % for doubtful debts.

Close the books of   Y Ltd.

X P®ö£Û Y P®ö£Û°ß Â¯õ£õµzøu 31.12.2006 À

HØÖU öPõÒÍ J¨¦U öPõshx. Az@uv°À

Y  P®ö£Û°ß C¸¨¦ {ø»USÔ¨¦ ¤ßÁ¸©õÖ.
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Œõuõµn £[SPÒ

¹.10 Ãu® 6,00,000 |ß©v¨¦ 1,00,000

ö£õxUPõ¨¦ 1,70,000 {»®, Pmih® 6,40,000

»õ£ |mhU P/S 1,10,000 ŒµUS 1,68,000

6%  Phß £zvµ® 1,00,000 PhÚõÎPÒ 36,000

PhÜ¢@uõº 20,000 öµõUP® 56,000

————— —————
10,00,000 10,00,000

————— —————

X P®ö£Û öŒ¾zu @Ási¯ øP©õÖ RÌPshÁõÖ

J¨¦UöPõÒÍ¨£mhx.

(i) Y P®ö£Û°ß JÆöÁõ¸ ¹. 10 ©v¨¦ÒÍ

£[SUS® ¹. 2.50 öµõUP® AÎzuõÀ.

(ii) X P®ö£Û 90,000 Œõuõµn £[SPÒ ¹. 10

•ÊÁx® öŒ¾zu¨£mhx ¹. 15 Ãu® J¨¦U

öPõsh Âø»°À AÎzuÀ.
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(iii) Y P®ö£Û°ß 6 % Phß £zvµ[PøÍ 20 %AvP

©v¨¤ØS «mP ÁŒv¯õP @uøÁ¯õÚ AÍÂØS

P®ö£Û°ß 5% Phß £zvµ[PøÍ 96%

AÎzuÀ. X P®ö£Û öŒõzxUPøÍ RÌPshÁõÖ

©Ö©v¨¥k öŒ#ux. {»® Pmih® ¹. 12,00,000

ŒµUS & ¹. 142,000 PhÚõÎPÒ ¦zuP©v¨¤À

5 % I¯UPhß Põ¨¥k }[P»õP.

Y P®ö£Û°ß PnUSPøÍ •izx HkPÎÀ

•ØSÔ¨¦ u¸P.

20. Babu Ltd went into liquidation with following liabilities

preferential creditors Rs. 10,000, unsecured creditors

32,000, Debentures Rs. 10,000.

Assets realised as follows :

Land and Building 20,000, Machinery 18,650, Fixtures

and Fittings 1,000. Liquidators remuneration is 2 %

on assets realised and 2% an amount distributed to

unsecured creditors other than Preferential Creditors.

Liquidation expenses amounted to Rs. 1,000. Prepare

liquidators Final statement of account.
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£õ¦ ¼ªöhm RÌUPsh ö£õÖ¨¦P@Íõk

Pø»UP¨£kQÓx. •ßÝ›ø©U PhÜ¢@uõº ¹. 10,000.

¤øn°À»õu PhÜ¢@uõº ¹. 32,000. Phß£zvµ®

 ¹. 10,000.

 öŒõzxUPøÍ ÂØÖ ö£ØÓ öuõøP.

{»•® Pmh•® 20,000, C¯¢vµ® 18,650, ©øÚzxøn

ö£õ¸Ò 1,000. öŒõzxUPÒ ÂØÖ Á‹À öŒ#u

öuõøP°À 2 ŒuÃu®, ¤øn°À»õu öŒõzxUPÒ

ÂØÖ Á‹À öŒ#u öuõøP°À [•ßÝ›ø© Phß

}[P»õP] 2 ŒuÃu•®, Pø»¨£õÍ¸US Fv¯©õP

öPõkUP¨£kQÓx.

Pø»¨¦ öŒ»Ä ¹. 1,000. Pø»¨£õÍ›ß CÖv{ø»U

PnUøP u¯õº öŒ#P.

***
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B.Com. (C.A.)  DEGREE  EXAMINATION
APRIL 2011

Fifth Semester

Commerce with Computer Applications

INCOME TAX LAW AND PRACTICE

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

                                Part A                  (10 × 2 = 20)

Answer all questions.

1. What is Tax ?

‘Á›’ GßÓõÀ GßÚ ?

2. What is Total Income ?

ö©õzu Á¸©õÚ® GßÓõÀ GßÚ ?

3. What do you mean by  ‘Previous Year’ ?

‘•¢øu¯ Bsk’ £ØÔ¯ E©x P¸zx ̄ õx?

AF-3215   BCC5C2
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4. What is Assessment ?

‘PnURk’ GßÓõÀ GßÚ ?

5. Give the meaning of Tax Free Income.

Á›Áv¨¤À»õ Á¸©õÚ® Gß£vß ö£õ¸Ò u¸P ?

6. What is Depreciation Allowance ?

‘@u#©õÚ¨£i’ GßÓõÀ GßÚ ?

7. State the meaning of Perquisites.

@©ÀÁµÄ Gß£uß ö£õ¸øÍ SÔ¨¤kP.

8. What do you mean by Net Annual Value ?

{Pµ Bsk ©v¨¦ Gß£x £ØÔ E©x P¸zx ̄ õx ?
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9. What is ‘Grossing up’ ?

•Êø©¯õUSuÀ GßÓõÀ GßÚ ?

10. What is Indexed Cost ?

SÔ°h¨£mh AhUP® GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) Describe the characteristics of a good Tax System.

J¸ ]Ó¢u Á›Âv¨¦ •øÓ°ß SnõvŒ¯[PøÍ

ÂÁ›.

(Or)

(b) Explain the regulatory objectives of Taxation.

Á›Âv¨¤ß Pmk¨£kzxuÀ öPõÒøPPøÍ

ÂÍUSP.
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12. (a) Write a note on Deemed Income.

P¸u¨£mh Á¸©õÚ® £ØÔ J¸ SÔ¨¦ ÁøµP.

(Or)

(b) Explain the features of Income.

Á¸©õÚzvß ]Ó¨¤¯À¦PøÍ ÂÍUSP.

13. (a) Discuss the Exempted Income Under Section

10 (13 A).

¤›Ä 10 (13 A) ß RÊÒÍ Á›Â»UPÎUP¨£mh

Á¸©õÚzøu ÂÁõv.

(Or)

(b) Rajan Purchased Car in April 2006 for

Rs. 3,80,000 for his professional use. On July 1 st

2009 he gifted the Car to his son Rahul, who uses
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it fully for his professional purposes. The market

value of the car on the date of gift was Rs. 3,40,000.

Find out the cost of the car for computation of

depreciation for the previous year 2009 – 2010.

H¨µÀ 2006À µõáß uß öuõÈØ£¯ß£õmiØS

¹. 3,80,000 ØS Põº JßøÓ Áõ[QÚõº. ãø» 2009

À CUPõøµ AÁº uß ©PÝUS £›ŒõP AÎzuõº.

AÁ¸® Aøu uß öuõÈÀ E£@¯õPzvØS

£¯ß£kzvÚõº. £›ŒÎUS® ö£õÊx CUPõ›ß

Œ¢øu Âø» ¹. 3,40,000. @u#©õÚ® PnUQh

CUPõ›ß 2009 & 2010 •¢øu¯ Bsiß AhUP

Âø» PnUQhÄ®.

14. (a) From the following information compute Gross

Salary of Mr. A Basic Salary Rs. 1,600 per month.

Dearness Allowances Rs. 400 per month.

Education Allowances for 2 Children Rs. 400 per

month.

Conveyance Allowances for a month Rs. 600.
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RÌÁ¸® Â£µ[öPõsk v¸ ‘H’ °ß ö©õzu

Œ®£Í® PnUQkP.

Ai¨£øhaŒ®£Í® J¸ ©õuzvØS ¹. 16,000.

£gŒ¨£i J¸ ©õuzvØS ¹. 400.

C¸ SÇ¢øuPÐUPõÚ PÀÂ¨£i ¹. 400 J¸

©õuzvØS @£õUSÁµzx¨£i J¸ ©õuzvØS

 ¹. 600.

(Or)

(b) From the information given below compute Gross

Annual Value.

Rs. Rs.

Municipal Rental value 36,000 Standard Rent 42,000

Fair Rental value 40,000 Actual Rent 36,000

During the previous year, the house was vacant

for 2 months.
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RÌÁ¸ÁÚ öPõsk ö©õzu Bsk ©v¨¦

PnUQkP. |Pµõm] ÁõhøP ©v¨¦ ¹. 36,000

{ø»¯õÚ ÁõhøP ¹. 42,000 {¯õ¯ ÁõhøP

©v¨¦ ¹. 40,000 Esø©¯õÚ ÁõhøP ¹. 36,000

uØ@£õøu¯ •¢øu¯ BsiÀ CÆÃk C¸

©õu[PÒ Põ¼¯õ°¸¢uÚ.

15. (a) Mr. X acquires a property on 1.5.1970 at a cost of

Rs. 50,000 cost of improvement made on 1.10.1975

at Rs. 10,000. Cost of additions made on 1.5.80 at

Rs. 5,000. Fair market value on 1.4.81

Rs. 1,00,000. Further Additions made on 1.10.1990

at a cost of Rs. 50,000. Determine the cost of

acquisition if the assets are sold on 30.12.09. CII

for the year 1981 – 82 is 100, 90 – 91 is 182.

1.5.1970 AßÖ v¸ GUì J¸ öŒõzøu ¹. 50,000

ØS Áõ[QÚõº. 1.10.1975 AßÖ ¹. 10,000

öPõsk @©®£kzvÚõº 1.5.80 AßÖ ¹. 5,000

TkuÀ öŒ»Ä öŒ#¯¨£mhx. 1.4.81 AßÖ Cuß
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{¯õ¯ Œ¢øu Âø» ¹. 1,00,000. 1-.10.1990 -&-À

@©¾® ¹. 50,000 ØS TkuÀ öŒ»ÄPÒ

öŒ#¯¨£mhx £nÃUP SÔ±k 1981 & 82 ØS

100, 90 & 91 ØS 182 GÚU öPõsk CaöŒõzx

30.12.09 À ÂØ£uõP C¸¢uõÀ Cuß £nÃUP

SÔ±mk AhUPÂø» PnUQkP.

(Or)

(b) Compute income from other sources from the

following :–

(i) Dividend [Gross] Rs. 5,000.

(ii) Receipts from letting of plant Rs. 10,000.

(iii) Bank charges for the collection of Dividend

Rs. 120.

(iv) Insurance premium for plant Rs. 500.

(v) Repairs to Plant Rs. 300.

(vi) Depreciation allowable Rs. 1,000.
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RÌÁ¸® Â£µ[öPõsk Cuµ ÁøP Á¸©õÚ®

PnUQkP.

(i) £[Põuõ¯®  [ö©õzu®] ¹. 5,000.

(ii) ö£õÔø¯ ÁõhøPUS ÂmhvÀ ö£ØÓx

¹. 10,000.

(iii) £[Põuõ¯zøu Á‹À öŒ#¯ Á[QUPmhn®

¹.120.

(iv) ö£õÔ°ß Põ¨¥mk •øÚ©® ¹. 500.

(v) ö£õÔ°ß £Êx£õº¨¦ ¹. 300.

(vi) AÝ©vUP¨£mh @u#©õÚ® ¹. 1,000.
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Part C (3 × 10 = 30)

Answer any three questions.

16. Explain the various Canons of Taxation.

Á›Âv¨¤ß £À@ÁÖ @Põm£õkPøÍ ÂÍUSP.

17. Compute the Total Income of Mr. U from the following

particulars if he is a (i) Resident and  (ii)  Non Resident.

(i) Income accrued in Canada but received in India

Rs. 2,000.

(ii) Rs. 5,000 were earned in Africa and received  there

but brought to India.

(iii) Rs. 5,000 earned in India but received in Canada.

(iv) Rs. 10,000 earned and received in SriLanka from

a business controlled from India.
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Si°¸¨¦ {ø» (i) EÒÍÁº ©ØÖ® (ii) AÀ»õuÁº

GÚUöPõsk RÌÁ¸ÁÚÁØÔ¼¸¢x v¸. ‘² ’

Gß£Á›ß ö©õzu Á¸©õÚ® PnUQhÄ®.

(i) PnhõÂÀ Dmi¯x C¢v¯õÂÀ ö£Ó¨£mh

Á¸©õÚ® ¹. 2,000.

(ii) B¨¤›UPõÂÀ Dmi A[@P@¯ ö£Ó¨£mk

C¢v¯õÂØS öPõsk Á¢u Á¸©õÚ® ¹. 5,000.

(iii) C¢v¯õÂÀ Dmi PnhõÂÀ ö£Ó¨£mh

Á¸©õÚ® ¹.  5,000.

(iv) C¢v¯õÂ¼¸¢x Pmk¨£kzu¨£k® Â¯õ£õµ®

‰»® C»[øP°À Dmi A[@P@¯ ö£Ó¨£mh

Á¸©õÚ® ¹. 10,000.

18. Discuss the provisions relating to Tax-Holiday.

Á›&Âk¨¦ öuõhº£õÚ Œmh åµzxUPøÍ ÂÁõvUP.
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19. ‘A’ has two houses first house whose municipal

valuation is Rs. 7,500 is kept by him for his residence

and the second house whose municipal valuation is

 Rs. 10,000 has been let out. Following are the expenses

relating to these two houses.

I House II House

Rs. Rs.

Municipal Tax 600 1,000

Land Revenue 100 125

Interest on construction Loan 3,200 2,100

Fire Insurance Premium 150 200

Interest on Mortgage Loan — 175

Collection charges — 45

Compute A’s Income from House Property.
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‘H’ Gß£Á›h® C¸ ÃkPÒ EÒÍÚ. CvÀ |Pµõm]

©v¨¦ ¹. 7,500 öPõsh •uÀ Ãmøh uß

Si°¸¨¤ØS øÁzxUöPõshõº. ¹. 10,000 |Pµõm]

©v¨¦ öPõsh Cµshõ® Ãmøh ÁõhøPUS

Âmi¸¢uõº. C¸ ÃkPÒ öuõhº£õÚ öŒ»ÄPÒ ¤ß

Á¸©õÖ.

•uÀ Ãk Cµshõ® Ãk

¹. ¹.

|Pµõm] Á› 600 1,000

{» Á› 100 125

Pmk©õÚUPhß «uõÚÁmi 3,200 2,100

wUPõ¨¥mk •øÚ©® 150 200

Ah©õÚUPhß «uõÚ Ámi — 175

Á‹¼¨¦ öŒ»Ä — 45

‘H’ °ß Ãmka öŒõzx Á¸©õÚzøu PnUQhÄ®.
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20. Mr. Ram’s Profit and Loss Account for the year ended

31.3.2010 showed a net profit of Rs. 36,600 including

Rs. 5,770 as Bank interest and after the following

expenses.

Rs. Rs.

Donations to Approved

Income Tax 4,800 Institutions 11,400

Purchase of Machinery

Establishment expenses 17,500 (not yet installed) 15,000

Rent 6,000 Repairs to furniture 500

Household expenses 14,500 Interest on Loan 10,000

Discount 2,500 LIC Premium 6,000

Advertisement 2,000 Reserve for doubtful debts 7,000

Postage 8,100 Interest on Capital 2,500

Fire Insurance Premium 1,500 Taxes 4,500

Gifts 1,600

Compute Business Income of Mr. Ram.



15 AF-3215

***

31.3.2010 ® @uv²hß •iÁøh²® BsiØPõÚ v¸. ‘µõ®’
AÁºPÎß C»õ£ |mhUPnUS Põmk® {Pµ C»õ£®
¹. 36,600 À Á[Q Ámi ¹. 5,770 @Œº¢xÒÍx @©¾®
¤ß Á¸® öŒ¾ÄPÐ® Œ›Pmh¨mkÒÍÚ.

¹. ¹.

|ßöPõøh

(A[RP›UP¨£mh

Á¸©õÚ Á› 4,800 {ÖÁÚ[PÐUS) 11,400

C¯¢vµ® Áõ[Q¯x

{ÖÁaöŒ»ÄPÒ 17,500 ({ÖÁÂÀø») 15,000

ÁõhøP 6,000 ©øÚzxøn¨ö£õ¸Ò

£Êx£õº¨¦ 500

ÃmkaöŒ»ÄPÒ 14,500 Phß «uõÚ Ámi 10,000

uÒÐ£i 2,500 GÀ.I.]. •øÚ©® 6,000

ÂÍ®£µ® 2,000 I¯UPhß JxUS 7,000

u£õØöŒ»Ä 8,100 •uÀ «x Ámi 2,500

wUPõ¨¥mk •øÚ©® 1,500 Á›PÒ 4,500

£›”PÒ 1,600

v¸. µõ® AÁºPÎß Â¯õ£õµ Á¸©õÚ® PnUQkP.
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JAVA PROGRAMMING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

                                Part A                  (10 × 1½ = 15)

Answer all questions.

1. The inventor of the Java language is ————

Java ö©õÈø¯ E¸ÁõUQ¯Áº ————.

2. Green project team developed a web browser called

———.

Green project team E¸ÁõUQ¯ web browser ————

3. What is variable ?

Variable GßÓõÀ GßÚ ?

AF-3216    BCC5C3
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4. An ———— constant refers to a sequence of digits.

Á›øŒ¯õÚ GsPøÍU SÔUS® constant ————.

5. What is an interface ?

Interface GßÓõÀ GßÚ ?

6. What are the two types of errors ?

Cµsk ÁøP¯õÚ errors GßÚ ?

7. How do we define a try block ?

 Try block I GÆÁõÖ Áøµ¯øÓ öŒ#Áõ# ?

8. What is a remote applet ?

 Remote applet GßÓõÀ GßÚ ?

9. Write applet code to draw the cylinder.

Cylinder ÁøµÁuØPõÚ applet code I GÊxP.
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10. Write a Java program to find out the square root of the

given number 9.

Gs 9&ß Square root  I PshÔ²® Java program I

GÊxP.

Part  B (5 × 3 = 15)

Answer all questions

11. (a) How Java differs from C ?

C À C¸¢x Java  GÆÁõÖ @ÁÖ£kQÓx ?

(Or)

 (b) What is the contribution of Java to the world wide

web ?

World wide web À Java ß £[S GßÚ ?
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12. (a) List all the basic data types used in Java.

Java À E£@¯õP¨£kzx® AøÚzx data

ÁøPPøÍ²® Á›øŒ¨£kzxP.

(Or)

(b) In what ways does a Switch statement differ from

an If statement ?

If statement À C¸¢x Switch statement GÆÁõÖ

@ÁÖ£kQÓx ?

13.    (a)    How is a method defined ?

Method I GÆÁõÖ Áøµ¯øÓ öŒ#Áõ# ?

(Or)

(b) Explain the overriding methods.

Overriding methods I ÂÁ›UPÄ®.
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14. (a) How do we add a class to a package ?

 J¸ Package À  class I GÆÁõÖ @Œº¨£õ# ?

(Or)

(b) How do we set priorities for threads ?

Threads ß priorities  I GÆÁõÖ set öŒ#Áõ# ?

15. (a) List out the steps for adding an applet to a HTML

document.

Applet I HTML document À @Œº¨£uØPõÚ

ÁÈ•øÓø¯ Á›øŒ¨£kzxP.

(Or)

 (b) Describe the three ways of drawing polygons.

Polygon Áøµ²® ‰ßÖ ÁÈPøÍ GÊxP.
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Part C (3 × 10 = 30)

Answer any three questions.

16. Explain the features of Java.

Java features £ØÔ ÂÁ›UPÄ®.

17. Discuss the Java operators.

Java operators £ØÔ ÂÁõvUPÄ®.

18. What is an inheritance ? Give syntax and example.

Inheritance GßÓõÀ GßÚ ? Auß syntax ©ØÖ®

Euõµn® öPõk.

19. Describe the complete life cycle of a thread.

Thread ß •Êø©¯õÚ life cycle I ÂÁ›UPÄ®.
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20. Write applets to draw the following shapes :—

(a) Square inside a circle.

(b) Circle inside a square.

RÌPõq® £h[PøÍ Áøµ²® applet code   I GÊxP :

(a) ÁmhzvØSÒ Œxµ®.

(b) ŒxµzvØSÒ Ámh®.

***
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Elective—MS OFFICE
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Time : 3 Hours Maximum : 60 Marks

                                Part A                  (10 × 1½ = 15)

Answer all the questions.

1. What is  Digital Computer ?

iâmhÀ Po¨ö£õÔ GßÓõÀ GßÚ ?

2. What is CPU ?

CPU GßÓõÀ GßÚ ?
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3. What is Spell Check ?

Spell Check GßÓõÀ GßÚ ?

4. What do you mean by Footer ?

Footer Gß£uß ö£õ¸Ò ̄ õx ?

5. What is Work Book ?

öÁõºU ¦U GßÓõÀ GßÚ ?

6. What is Chart ?

Áøµ£h® GßÓõÀ GßÚ ?

7. What is Primary Key ?

Primary Key GßÓõÀ GßÚ ?

8. What is Report ?

 AÔUøP GßÓõÀ GßÚ ?
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9. What is Presentation ?

Presentation GßÓõÀ GßÚ ?

10. What is meant by Transitions ?

Transitions Gß£uß ö£õ¸Ò ̄ õx ?

Part  B (5 × 3 = 15)

Answer all questions

11. (a) Classify computer based on the computer power.

P®¨³mhºPøÍ AÁØÔß vÓÝU@PØÓÁõÖ

ÁøP¨£kzxP.

(Or)

 (b) Write about Fifth generation computer.

I¢uõÁx ÁÈ •øÓ Po¨£õßPÒ SÔzx ÁøµP.
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12. (a) How do you create document in MS word ?

MS word-ÀGÆÁõÖ J¸ Document - ø¯

E¸ÁõUSÁõ# ?

(Or)

(b) Explain the steps involved in inserting page

numbers in document.

J¸ Document-À £UP GsPøÍ HØ£kzx®

|øh•øÓ°øÚ ÂÁ›.

13.    (a)    How do you add and remove rows and columns in

work sheet ?

J¸ öÁõºU ^miÀ GÆÁõÖ Põ»® ©ØÖ®

Á›øŒø¯ @Œº¨£x ©ØÖ® Â»USÁx SÔzx

TÖP.

(Or)
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(b) What are the different types of chart ?

Áøµ£hzvß £À@ÁÖ ÁøPPÒ ̄ õøÁ ?

14. (a) How do you delete fields in database ?

@hmhõ@£êÀ J¸ ¥Àøhø¯ GÆÁõÖ Â»UP®

öŒ#Áõ# ?

(Or)

(b) What do you understand by Query ?

 Query- SÔzx {Âº AÔÁx ̄ õx ?

15. (a) How do you create presentation in MS-power

point ?

MS-power point-°À J¸ presentation ø¯

GÆÁõÖ E¸ÁõUSÁõ# ?

(Or)
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 (b) Write note about Animation.

AÛ@©åß SÔzx SÔ¨¦ ÁøµP.

Part C (3 × 10 = 30)

Answer any three questions.

16. What are the advantages of computer ?

Po¨£õÛß £¯ß£õkPÒ ̄ õøÁ ?

17. State the Editing features of MS word.

MS word ß Editing öŒ¯À£õkPøÍ TÖP.

18. How do you invoke Formula in MS-excel ?

MS-Excel À ‹zvµ[PøÍ GÆÁõÖ HØ£kzxÁõ# ?
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19. Explain the procedure involved in creating table in MS

Access.

MS Access- °À J¸ AmhÁønø¯ E¸ÁõUS®

|øh•øÓ°øÚ ÂÍUSP.

20. What are the design templates in MS-power point ?

Discuss about their uses.

£Áº £õ°siÀ “ ÁiÁø©UP¨£mh öh®öÍmkPÒ ”

GßÓõÀ GßÚ ? AÁØÔß £¯ßPøÍ TÔ ÂÍUSP.

***
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Part A (10 × 1½ = 15)

Answer all questions.

1. What is the expansion of www ?

www-Gß£uß Â›ÁõUP® GßÚ ?

2. What is multimedia ?

Multimedia GßÓõÀ GßÚ ?

3. How can you Create E-mail ?

E-mail I GÆÁõÖ E¸ÁõUSÁõ# ?
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4. What is Cyber Space ?

Cyber Space GßÓõÀ GßÚ ?

5. The first page of a website is called ————.

Website- -ß •uÀ £UP® ———— GßÖ AøÇUP¨

£kQÓx.

6. Every HTML document has ———— and ————

Sections.

JÆöÁõ¸ HTML document- -®———— ©ØÖ®

————£SvPøÍU öPõsi¸US®.

7. What is Web Server ?

Web Server GßÓõÀ GßÚ ?

8. What is called Hyper link ?

 Hyper link GßÖ AøÇUP¨£kÁx GßÚ ?
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9. What is the use of HTML ?

HTML -&ß £¯ß GßÚ ?

10. Define PPP.

PPP Áøµ¯Ö.

Part  B (5 × 3 = 15)

Answer all questions.

11. (a) Write the history of Web.

Web-ß Áµ»õØøÓ GÊxP.

(Or)

(b) Write short notes on URL.

URL-£ØÔ ]Ö SÔ¨¦ ÁøµP.
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12. (a) Explain the Netscape Navigator.

Netscape Navigator £ØÔ ÂÍUSP.

(Or)

(b) Discuss about the Bandwidth.

Bandwidth £ØÔ ÂÁõvUP.

13. (a) How can you access the other parts of the

Internet ?

Cøn¯uÍzvß ©ØÓ £õP[PøÍ GÆÁõÖ

E£@¯õP¨£kzxÁõ# ?

(Or)

(b) Explain the Cyber space.

Cyber space £ØÔ ÂÍUSP.
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14. (a) What is the Hardware requirement to the Web

Server ?

Web Server-US @uøÁ¯õÚ Áßö£õ¸Ò GßÚ ?

(Or)

(b) Briefly explain the HTTPD.

HTTPD £ØÔ Â›ÁõP ÂÍUSP.

15. (a) Write about the Hyper text Markup Language.

Hyper text Markup Language £ØÔ GÊxP.

(Or)

(b) Explain the Structural formatting.

Structural formatting £ØÔ ÂÍUSP.
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Part C (3 × 10 = 30)

Answer any three questions.

16. List out the benefits of CDROMs and www.

CDROMs-©ØÖ® www-ß |ßø©PøÍ

Á›øŒ¨£kzxP.

17. Explain the SLIP and PPP.

SLIP ©ØÖ® PPP£ØÔ ÂÍUSP.

18. What is the use of mailing list ?

Mailing list-ß £¯ß GßÚ ?

19. Explain the software of Web server.

Web server-ß ö©ßö£õ¸Ò £ØÔ ÂÍUSP.

20. Explain the Paragraph formatting.

 Paragraph formatting £ØÔ ÂÍUSP.

***
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                                Part A                  (10 × 2 = 20)

Answer all the questions.

1. What is Auditing ?

uoUøP°¯À GßÓõÀ GßÚ ?

2. What is Audit of Joint stock company ?

P®ö£Û uoUøP GßÓõÀ GßÚ ?

3. What is Management Audit ?

@©»õsø© uoUøP GßÓõÀ GßÚ ?
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4. What do you mean by Audit programme ?

uoUøP öŒ¯À vmh® Gß£uß ö£õ¸Ò ̄ õx ?

5. What is Internal check ?

APa^µõ#Ä GßÓõÀ GßÚ ?

6. Define Internal control.

APU Pmk¨£õk– Áøµ¯Ö.

7. What is vouching ?

ŒõßÓõ#Ä Gß£x ̄ õx ?

8. What is valuation of assets ?

 öŒõzxUPøÍ ©v¨¤kuÀ GßÓõÀ GßÚ ?

9. What is Audit Report ?

uoUøP AÔUøP GßÓõÀ GßÚ ?
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10. What is Investigation ?

¦»Úõ#Ä GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions

11. (a) What are the qualifications of an auditor ?

uoUøP¯õÍ›ß uSvPÒ ̄ õøÁ ?

(Or)

 (b) Write a note on Audit of Accounts of Colleges.

PÀ¿›UPnUSPøÍ uoUøP öŒ#Áuß •øÓU

SÔzx GÊxP.
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12. (a) What are the characteristics of a good internal

control system ?

J¸ |À» APU Pmk¨£õk •øÓ°ß

]Ó¨¤¯À¦PÒ ̄ õøÁ ?

(Or)

(b) State the merits and demerits of an Audit
programme.

uoUøP öŒ¯À vmhzvß |ßø© ©ØÖ®

wø©PøÍ TÖP.

13.    (a) Explain the duties of an Auditor regarding

vouching.

ŒõßÓõ#Âß uoUøP¯õÍ›ß Phø©PøÍ

ÂÍUSP.
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(Or)

(b) Describe the vouching procedure of cash sales and

closing stock.

öµõUP ÂØ£øÚ ©ØÖ® CÖv ŒµUQ¸¨¦

ŒõßÓõ#Ä öŒ#²® •øÓ°øÚ ÂÍUSP.

14. (a) Explain the term verification of liabilities.

ö£õÖ¨¦PøÍ Œ›£õºzuÀ £ØÔ ÂÍUSP.

(Or)

(b) What are the procedures for verification of Sundry
debtors ?

PhÚõÎPøÍ Œ›£õºUS® |øh•øÓPÒ ̄ õøÁ ?

15. (a) Discuss the criminal liability of a company auditor.

J¸ P®ö£Û°ß uoUøP¯õÍ›ß SØÓÂ¯À

ö£õÖ¨¦PøÍ ÂÁ›.
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(Or)

 (b) When a continuous audit may be conducted ?

G¨ö£õÊx öuõhº uoUøP @©Ø

öPõÒÍ¨£k® ?

Part C (3 × 10 = 30)

Answer any three questions.

16. Explain the objects of an audit.

uoUøP°ß @|õUP[PøÍ ÂÍUSP.

17. Write a detailed note on Audit working papers.

uoUøP ÁøµÄz uõÒPÒ SÔzx ÁøµP.

18. How will you vouch the payment side of cash book ?

öµõUP Hmiß £ØÖ¨ £UPzøu GÆÁõÖ

ŒõßÓõ#Áõ# ?
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19. Describe the valuation procedure of the following :—

(a) Inventories.

(b) Loans.:

(c) Bills receivables.

¤ßÁ¸ÁÚÁØøÓ ©v¨¤k® |øh•øÓ°øÚ

ÂÍUSP :

(A) ŒµUQ¸¨¦PÒ.

(B) PhßPÒ

(C) ÁµÄUSÔ¯ Esi¯ÀPÒ.

20. Briefly explain the liabilities of an Auditor.

J¸ uoUøP¯õÍ›ß ö£õÖ¨¦PøÍ £ØÔ ÂÍUSP.

***
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Part A (10 × 2 = 20)

Answer all questions.

1. What do you mean by Cost Accounting ?

AhUPÂø» PnUQ¯À GßÓõÀ GßÚ ?

2. Define Cost Sheet.

AhUPÂø» AÔUøP—Áøµ¯Ö.

3. What is Maximum Stock Level ?

E¯º¢u AÍÄ {ø» GßÓõÀ GßÚ ?
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4. What is Perpetual Inventory system ?

öuõhº ŒµUS¨ £vÄ •øÓ GßÓõÀ GßÚ ?

5. What is overtime ?

AvP›¨¦ @|µ® GßÓõÀ GßÚ ?

6. What do you understand by Labour Turnover ?

öuõÈ»õÍº ”ÇØ] SÔzx }Âº AÔÁx ̄ õx ?

7. What is variable overhead ?

©õÖ£k® @©Øa öŒ»ÄPÒ GßÓõÀ GßÚ ?

8. What is meant by Absorption of overhead ?

 @©ØaöŒ»Ä «m¦ Gß£uß ö£õ¸Ò ̄ õx ?

9. What is Job costing ?

£o AhUP PnUQ¯À GßÓõÀ GßÚ ?
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10. What is By-Product ?

xøn¨ö£õ¸Ò GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) Discuss the objectives and uses of cost Accounting.

AhUPÂø» PnUQ¯¼ß @|õUP[PÒ ©ØÖ®

£¯ß£õkPøÍ¨ £ØÔ ÂÁõv.

(Or)

(b) Ascertain the cost and selling price from the

following :

Material consumed—Rs. 6,000,

Wages paid—Rs.9,000.

Works on cost 50 % on wages.

Office on Cost 20 % on works costs.

Selling on cost 10 % on works costs.

Profit 20 % on cost.
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R@Ç öPõkUP¨£mkÒÍ Â£µ[PÎ¼¸¢x

AhUPÂø» ©ØÖ® ÂØ£øÚ Âø»ø¯U

PnUQkP.

£¯ß£kzu¨£mh ‰»¨ö£õ¸Ò—¹. 6,000

T¼ öŒ¾zv¯x—¹. 9,000

£o AhUPa öŒ»Ä T¼°À 50 % BS®

A¾Á»P @©ØöŒ»ÄPÒ £o AhUPzvÀ 20 %

ÂØ£øÚ @©ØöŒ»ÄPÒ £o AhUPzvÀ 10 %

C»õ£® AhUPÂø»°À 20 % BS®.

12. (a) Following data relates to material X. Find Re-

order Level. Minimum level and maximum

level ?

Normal consumption 400 units per week.

Minimum consumption 300 units per week.

Maximum Consumption 600 units per week.

Reorder quantity 3000 units.

Reorder period 3-5 weeks.
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X-GßÓ ö£õ¸Îß öuõhº¦øh¯ ÂÁµ[PøÍU

öPõsk ©Ö Bøn AÍÄ {ø», SøÓ¢u AÍÄ

{ø» ©ØÖ® EaŒ AÍÄ {ø»°øÚU

Psk¤iUP.

C¯À£õÚ ~PºÄ J¸ ÁõµzvØS 400 A»SPÒ

SøÓ¢u AÍÄ ~PºÄ J¸ ÁõµzvØS 300

A»SPÒ

EaŒ AÍÄ ~PºÄ J¸ ÁõµzvØS 600 A»SPÒ

©Ö Bøn AÍÄ 3,000 A»SPÒ

©Ö BønU Põ»® 3 & 5 Áõµ[PÒ

(Or)

(b) Calculate the Economic order quantity :

(i) Consumption during the year = 600 units

(ii) Ordering cost Rs. 12 per order.

(iii) Earning cost 20 %.

(iv) Price per units Rs. 20.
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]UPÚ Bøn AÍÄ PnUQhÄ®.

(A) Bsk ~PºÄ & 600 A»SPÒ.

(B) ŒµUS ÁøP°À AÝ¨£õøn ¹. 12 J¸

BønUS.

(C) HØ¦ AÝ¨£õøn 20 %.

(D) J¸ A»Qß AhUP® ¹. 20.

13. (a) Calculate the earning of a worker under

(i) Halsey premium plan and

(ii) Rowan scheme

Time allowed = 48 hours.

Time taken = 40 hours

Rate per hour = Re. 1

íõÀ@Œ •øÚ©z vmh® ©ØÖ® @µõÁß

vmhzvß£i £o¯õÍº Á¸©õÚzøuU

PnUQkP.

AÝ©vUP¨£mh Põ»®—48  ©o @|µ®

GkzxU öPõÒÍ¨£mh Põ»®—40 ©o@|µ®

J¸ ©o@|µ Ãu®—¹. 2.

(Or)
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(b) What are the various methods of Labour

remuneration ?

öuõÈ»õÍº T¼ PnUQk® £À@ÁÖ •øÓPÒ

¯õøÁ ?

14. (a) Work out the machine hour rate for the following

machine whose scrap values is NIL

(i) Cost of Machine—Rs. 3,60,000

(ii) Freight and installation—Rs. 40,000

(iii) Working life—20 years.

(iv) Working hours—8,000 per year.

(v) Repair charges—50 % depreciation.

(vi) Power—10 units per hour @ 10 paise per unit.

(vii) Lubricating oil @ Rs. 2 per day of 8 hours.

(viii) Consumable stores @ Rs. 10 per day of

8 hours.

(ix) Wages of operator @ Rs. 4 per day.
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¤ßÁ¸® Â£µ[PÎ¼¸¢x C¯¢vµ ©o

@|µzvøÚU PnUQkP. C¯¢vµ G›©v¨¦

GxÄªÀø».

(A) C¯¢vµzvß AhUPÂø» ¹. 3,60,000.

(B) {ÖÄøP ©ØÖ® Œzu® ¹. 40,000

(C) £o B²Ò—20 BskPÒ.

(D) £o ©o @|µ®—8,000 (BskUS)

(E) £Êx£õº¨¦a öŒ»Ä—@u#©õÚzvÀ 50 %.

(F) ŒUv—J¸ A»QØS 10 ø£Œõ Ãu® J¸ ©o

@|µzvØS 10 A»SPÒ.

(G) 8 ©o @|µzvØPõÚ J¸ |õÎØS ¹. 2 Ãu®

¿¨›öPsm B°À.

(H) ~PºÄ ŒµUS—8 ©o @|µzvØS

|õöÍõßÖUS ¹. 10 Ãu®.

(I) öŒ¯À•øÓ £o¯õÍº T¼ |õöÍõßÖUS

¹. 4 Ãu®.

(Or)
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(b) Describe any four method of absorption of factory

over heads ?

EØ£zv öŒ¯»ø©¨¦ öŒ»Âß  HuõÁx |õßS

Dº¨¦ •øÓPøÍ ÂÁ›.

15. (a) A factory is engaged in the production of a

chemical ‘X’ and in the course of its manufacture
a by product ‘Y’ is produced which after a separate
process has a chemical value. For the month of
January 2008 the following one the summarised
cost data :

Joint Expenses Separate expenses

Rs. X Rs. Y Rs.

Materials 19,200 7,360 780

Labour 11,700 7,680 2,642

Overhead 3,450 1,500 544

The output for the month was 142 tonnes of X and

49 tonnes of Y and the selling price of Y averaged

Rs. 280 per tonne.

Assuming that the profit of Y is  estimated at 50 %

of the selling price. Prepare an account showing

the cost of X per tonne ?
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Bø» JßÖ @Áv¨ö£õ¸Ò ‘X’ Cß EØ£zv°À

Dk£mkÒÍx. @©¾® Auß EØ£zv°ß ö£õÊx

J¸ xøn¨ö£õ¸Ò  ‘Y’²® EØ£zv BQÓx.

Auß ¤ÓS J¸ uÛ¯õÚ £i •øÓ°À ÁoP

©v¨ø£ ö£ÖQÓx. áÚÁ› 2008 ©õuzvØPõÚ

¤ßÁ¸® AhUPÂø» öuõS¨¦ ÂÁµ[PÒ.

Cøna öŒ»ÄPÒ uÛa öŒ»ÄPÒ

¹. X ¹. Y ¹.

‰»¨ö£õ¸ÒPÒ 19,200 7,360 780

T¼ 11,700 7,680 2,642

öŒ»ÄPÒ 3,450 1,500 544

©õuzvØPõÚ EØ£zv X -142 hßPÒ ©ØÖ® Y-49

hßPÒ ©ØÖ® ö£õ¸Ò Y-ß ŒµõŒ› Âø» J¸

hßÝUS ¹. 280.

Y-ß C»õ£® ÂØ£øÚ Âø»°ß @©À 50 % GÚ

PoUP. X -&Cß Kº hßÝUPõÚ AhUP Âø»

Põs¤US® PnUøP u¯õ›UP.

(Or)
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(b) The following was the expenditure  on a contract

for Rs. 6,00,000 Material Rs. 1,20,000 ; Wages

Rs. 1,64, 400 ; plant Rs. 20,000 ; Business change

Rs. 8,600.

Cash received amounted to Rs. 2,40,000 being

80 % of work certified. Materials on hand at the

end of the period was Rs. 10,000. Plant’s to be

depreciated by 10 % Prepare the Contract a/c.

¹. 6,00,000 Âø» öPõsh J¸ J¨£¢uzvÀ

RÌPsh öŒ»ÄPÒ HØ£mhÚ. ‰»¨ö£õ¸Ò

¹. 1,20,000 ; T¼ 1,64,400, C¯¢vµ® ¹. 20,000 :

Â¯õ£õµa öŒ»Ä ¹. 8,600.

ŒõßÓÎUP¨£mhvÀ 80 % BP ¹. 2,40,000

öµõUP©õP¨ ö£Ó¨£mhx. Põ» •iÂÀ ¹. 10,000

©v¨¦ÒÍ ‰»¨ö£õ¸Ò C¸¨¤À EÒÍx.

C¯¢vµzvØS 10 % @u#©õÚ® JxUPÄ®.

J¨£¢uU PnUS u¯õ›UPÄ®.
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Part C (3 × 10 = 30)

Answer any three questions.

16. Briefly explain the various Elements of Cost.

AhUPzvß £À@ÁÖ TÖPøÍ Â›ÁõP ÂÍUSP.

17. From the following particulars, prepare Stores Ledger

showing the issue of materials under FIFO method.:—

1.11.2006 purchased 200 units @ Rs. 200 per unit

4.11.2006 Issued 150 units.

6.11.2006 purchased 200 units @ Rs. 220 per unit

10.11.2006 Issued 100 units

17.11.2006 purchased 200 units @ Rs. 210 per units

18.11.2006 Issued 220 units.

24.11.2006 purchased 150 units @ Rs. 230 per units.

25.11.2006 Issued 190 units.

28.11.2006 Issued 30 units.
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30.11.2006 purchased 100 units @ Rs. 220 per unit

¤ßÁ¸® Â£µ[PÎ¼¸¢x, ‘•u¼À Á¢uøÁ

•u¼À PÈ¢uøÁ ’ GßÓ •øÓ°À ŒµUSPÒ

@£@µmiøÚ u¯õ›UPÄ®.

1.11.2006 öPõÒ•uÀ 200 A»SPÒ ¹. 200 Ãu®

4.11.2006 ÁÇ[Qk 150 A»SPÒ

6.11.2006 öPõÒ•uÀ 200 A»SPÒ ¹. 220 Ãu®

10.11.2006 ÁÇ[Qk 100 A»SPÒ

17.11.2006 öPõÒ•uÀ 200 A»SPÒ ¹. 210 Ãu®

18.11.2006 ÁÇ[Qk 220 A»SPÒ

24.11.2006 öPõÒ•uÀ 150 A»SPÒ ¹. 230 Ãu®

25.11.2006 ÁÇ[Qk 190 A»SPÒ

28.11.2006 ÁÇ[Qk 30 A»SPÒ

30.11.2006 öPõÒ•uÀ 100 A»SPÒ ¹. 220 Ãu®
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18. Calculate the earnings of workers A and B under

straight piece rate system and Taylors differential

piece rate system from the following data :

Normal rate per hours—Rs. 1.80

Standard time per unit—20 seconds

Differentials to be applied.

80 % of piece rate below standard

120 % of piece rate or above standard

Worker A produces 1300 units per day and

worker B producers 1500 units per day.

RÌUPõq® uPÁÀPÎ¼¸¢x £o¯õÍº A ©ØÖ® B

BQ@¯õº ö£Ö® Fv¯[PøÍ @|µi¯õÚ E¸¨£i

ÂQu® ©ØÖ® öh#»›ß uµÁõÖ E¸¨£i

ÂQuzv¾® PnUQkP.

J¸ ©o @|µzvØS C¯À¦ ÂQu® ¹. 1.80

J¸ A»QØS uµ©õÚ @|µ® 20 ö|õiPÒ
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E£@¯õQUP¨£h @Ási¯ uµ•Ö ÂQu® :

uµzvØS RÌ&80 % E¸¨£i ÂQu®

uµzvØS AÀ»x AuØS @©À&120 % E¸¨£i

ÂQu®

£o¯õÍº A |õöÍõßÖUS 1300 A»SPÐ®,

£o¯õÍº B |õöÍõßÖUS 1500 A»SPÐ®

EØ£zv öŒ#QßÓÚº.

19. K Ltd. has three production departments ‘A’ ‘B’ ‘C’ and

two service departments ‘D’ and ‘E’. The following

figures and extracted from the records of the Company

:
Rs.

Rent and rates 5,000

Indirect wages 1,500

Depreciation of machinery 10,000

General lighting 600

Power 1,500

Sundries 10,000

Following further details are available :
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Total A B C D E

Floor space
in square
Feet 10,000 2,000 2,500 3,000 2,000 500

Light points 60 10 15 20 10 5

Direct wages
[Rs.] 10,000 3,000 2,000 3,000 1,500 500

M.P.of Machines 150 60 30 50 10 –

Value of
machinery 2,50,000 60,000 80,000 1,00,000 5,000 5,000

Apportion the cost to various departments on the most

equitable basis by preparing a primary distribution
summary.

K ¼ªöhm ‘A’ ‘B’ ‘C’ GßÓ EØ£zv xøÓPøÍ²®  ‘D’

©ØÖ® ‘E’ GßÓ 2 @ŒøÁz xøÓPøÍ²®

öPõsi¸¢ux. {Ö© HkPÎ¼¸¢x ¤ßÁ¸®

Â£µ[PÒ öPõkUP¨£mkÒÍÚ.
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ÁõhøP ©ØÖ® Á› 5,000

©øÓ•PU T¼ 1,500

C¯¢vµ® «uõÚ @u#©õÚ® 10,000

ö£õx ÂÍUSPÒ 600

ŒUv 1,500

£Ø£» öŒ»ÄPÒ 10,000

Cuµ Â£µ[PÒ :

ö©õzu® A B C D E

Ch¨£µ¨¦

[Œxµ Ai] 10,000 2,000 2,500 3,000 2,000 500

JÎ ¦ÒÎPÒ : 60 10 15 20 10 5

@|µiU T¼

[¹.] 10,000 3,000 2,000 3,000 1,500 500

C¯¢vµ vÓß

ŒUv 150 60 30 50 10 –

C¯¢vµ ©v¨¦ 2,50,000 60,000 80,000 1,00,000 5,000 5,000
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£À@ÁÖ xøÓPÐUS ö£õ¸zu©õÚ ÂQuzvÀ

öŒ»ÄPøÍ £Qº¢x •ußø© ÁÇ[Rk AmhÁøn

AÔUøP°øÚ u¯õ›UPÄ®.

20. A product passes through two processes and then to

Finished Stock. The normal wastage of each process

is as follows :

Process A 3 % and Process B 5 %

The wastage of process A was sold @ Rs. 5 per unit and

that of process B at Rs. 10 per unit. 20,000 units were

introduced into process A at the beginning of January

2007 at a cost at Rs. 40 per unit.

Other expenses were as under :

Process A Process B

Rs. Rs.

Sundry materials 40,000 60,000

Wages 2,00,000 3,20,000

Manufacturing expenses 30,000 28,500
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The output of process A was 19,000 units and that of

process B 18,200 units, prepare the process Accounts,

Normal Loss accounts. Abnormal Loss account and

Abnormal Gain Account.

J¸ ö£õ¸Ò Cµsk öŒ#•øÓPøÍU Ph¢x •iÄØÓ

ŒµUPõP ©õÖQßÓx. JÆöÁõ¸ öŒ#•øÓ°¾® EÒÍ

Œõuõµn PÈÄ ¤ßÁ¸©õÖ.

öŒ#•øÓ A&3% öŒ#•øÓ B&5%

öŒ#•øÓ A&°À EÒÍ PÈÄ J¸ A»S  ¹. 5

Ai¨£øh°¾®. B-°À EÒÍ PÈÄ J¸ A»S ¹. 10

Ai¨£øh°¾® ÂØP¨£mhx. áÚÁ› 2007&À A»S

JßÖ ¹. 40 Ãu® 20,000 A»SPÒ öŒ#•øÓ A&°À

AÔ•P¨£kzu¨£mhÚ.



20 AF-3220

Cuµ öŒ»ÂÚ[PÒ  :

öŒ#•øÓ öŒ#•øÓ

A B

¹. ¹.

£Ø£» ‰»¨ö£õ¸ÒPÒ 40,000 60,000

T¼ 2,00,000 3,20,000

u¯õ›¨¦a öŒ»ÄPÒ 30,000 28,500

öŒ#•øÓ ‘A’-°ß öÁÎ±k 19,000 A»SPÒ öŒ#•øÓ -

‘B’&°ß  öÁÎ±k 18,200 A»SPÒ BS®. öŒ#•øÓU

PnUS, Œõuõµn |mhU PnUS, AŒõuõµn |mhU PnUS

©ØÖ® AŒõuõµn C»õ£U PnUS u¯õ›UPÄ®.

***
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B.Com. (C.A.) DEGREE  EXAMINATION
APRIL 2011

Sixth Semester

Commerce with Computer Applications

C ++ PROGRAMMING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

                                Part A                  (10 × 1½ = 15)

Answer all questions.

1. What is known as Token ?

Token GßÓøÇUP¨£kÁx GßÚ ?

2. State true or false.

Data items in a class must always be private.

Œ› AÀ»x uÁÖ TÖP.

Class À EÒÍ AøÚzx Data Ä® private BP ©mk®

C¸US®.

AF-3221   BCC6C1
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3. Define Objects.

Objects Áøµ¯Ö.

4. Write the general form of a member function.

Member function ß ö£õx ÁiÁ® GÊxP.

5. What is destructor ?

Destructor GßÓõÀ GßÚ ?

6. Which is known as multilevel inheritance ?

Multilevel Inheritance GßÖ AøÇUP¨£kÁx Gx ?

7. What is a Virtual function ?

Virtual function GßÓõÀ GßÚ ?
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8. State errors, if any in the following statement :–

Cout << width ( ) ;;

 RÌPõq® Statement & À ¤øÇ C¸¨¤ß PshÔP:

Cout << width ( ) ;;

9. Define – Unary operator.

Unary operator—Áøµ¯Ö.

10. What is a pointer ?

Pointer GßÓõÀ GßÚ ?

Part  B (5 × 3 = 15)

Answer all the questions.

11. (a) Describe the major parts of C++ Program.

C++  {µ¼ß •UQ¯©õÚ £õP[PøÍ ÂÁ›.

(Or)
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(b) Identify the errors :

Void main ( )

{

int i = 0 ;

i = 400 * 400/400 ;

Cout << i ;

}

¤øÇPøÍ PshÔP :

Void main ( )

{

int i = 0 ;

i = 400 * 400/400 ;

Cout << i ;

}
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12. (a) Explain the friend function with one example.

Friend function I J¸ Euõµnzxhß ÂÍUSP.

(Or)

(b) Write a program to read a matrix size m × n from
the keyboard.

Keyboard ÁÈ¯õP m × n AÍÄ öPõsh Aoø¯

ö£ÖÁuØPõÚ {µø» GÊxP.

13. (a) Explain the Dynamic Constructors.

Dynamic Constructors I ÂÍUSP.

(Or)

(b) Describe the importance of destructor.

Destructor - ß •UQ¯zxÁzøu ÂÁ›.
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14. (a) What is Abstract Class ? Explain.

Abstract Class GßÓõÀ GßÚ ? ÂÍUSP.

(Or)

(b) List out the rules of overloading.

Overloading - ß ÂvPøÍ Á›øŒ¨£kzxP.

15. (a) Discuss about the C++ Stream Classes.

C++ ß Stream Classes £ØÔ ÂÁõvUPÄ®.

(Or)

(b) What is the benefits of Ooop ?

 Ooop - ß |ßø©PÒ GßÚ ?



7 AF-3221

Part C (3 × 10 = 30)

Answer any three questions.

16. Write is the basic concepts of Ooops.

 Ooops - ß Ai¨£øh P¸zxUPøÍ GÊxP.

17. Write short notes on Static members and Static

functions.

 Static members ©ØÖ® Static functions £ØÔ ]Ö

SÔ¨¦ ÁøµP.

18. How can you use Multiple Constructors ?

Multiple Constructors  I GÆÁõÖ

E£@¯õP¨£kzxÁõ# ?
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19. Identify the errors :

# include < io stream.h>

int fun ( )

{

return 1 ;

}

float fun ( )

{

return 10. 23 ;

void main ( )

{

Cout << (int) fun ( ) << ‘ ’ ;

Cout << (float) fun ( ) << ” ;

}
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¤øÇPøÍ PshÔP :

# include < io stream.h>

int fun ( )

{

return 1 ;

}

float fun ( )

{

return 10. 23 ;

void main ( )

{

Cout << (int) fun ( ) << ‘ ’ ;

Cout << (float) fun ( ) << ” ;

}

20. Briefly explain the virtual functions.

Virtual functions £ØÔ Â›ÁõP ÂÍUSP.

***
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B.Com. (C.A.) DEGREE  EXAMINATION
APRIL 2011

Sixth Semester

Commerce with Computer Applications

COMPUTER NETWORKS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

                                Part A                  (10 × 1½ = 15)

Answer all questions.

1. A collection of inter connected network is called

———— or ————.

JßÖhß JßÖ CÚnUP¨£mh network ß

öuõS¨ø£ —— AÀ»x ——— GßÖ AøÇUQ@Óõ®.

2. What is a protocol ?

Protocol GßÓõÀ GßÚ ?

AF-3222    BCC6C2
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3. Another static algorithm is ————

©ØöÓõ¸ static algorithm GÚ¨£kÁx ————.

4. What is called multicasting ?

Multicasting GßÖ AøÇUP¨£kÁx GßÚ ?

5. Define RPC.

RPC Áøµ¯Ö.

6. Write any one difference between the Network services

and Transport services.

Network services ©ØÖ® Transport services

CµsiØS® Cøh@¯ EÒÍ H@uÝ® J¸

@ÁÖ£õmiøÚ GÊxP.

7. What is the use of Presentation Layer ?

Presentation Layer ß £¯ß GßÚ ?
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8. What is Cryptography ?

 Cryptography GßÓõÀ GßÚ ?

9. How can you Send E-mail ?

E-mail  GÆÁõÖ AÝ¨¦Áõ# ?

10. Give the expansion of MIME.

MIME Â›ÁõUP® öPõk.

Part  B (5 × 3 = 15)

Answer all questions

11. (a) Write the uses of Computer Networks.

Computer Networks ß £¯ßPøÍ GÊxP.

(Or)
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 (b) Discuss about the “ ATM ”.

“ ATM ” £ØÔ ÂÁõvUP.

12. (a) Write short notes on Error Correcting Codes.

Error Correcting Codes £ØÔ ]Ö SÔ¨¦ ÁøµP.

(Or)

(b) Explain the Shortest path routing algorithm with

example.

Shortest path routing algorithm GÊv

Euõµnzxhß ÂÍUSP.

13.    (a)    Give examples of Session Layer.

Session Layer US Euõµn® öPõk.

(Or)
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(b) Discuss about the Connection management.

Connection management £ØÔ ÂÁõvUP.

14. (a) Explain the Abstract Syntax Notation.

Abstract Syntax Notation £ØÔ ÂÍUSP.

(Or)

(b) What is the design issues of presentation layer ?

Presentation layer ß design issues GßÚ ?

15. (a) Write about the Virtual terminals.

Virtual terminals £ØÔ GÊxP.

(Or)
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 (b) List out the advantages and disadvantages of
E-mail.

E-mail ß |ßø©PÒ ©ØÖ® wø©PøÍ

Á›øŒ¨£kzxP.

Part C (3 × 10 = 30)

Answer any three questions.

16. Briefly explain the ISDN.

ISDN I Â›ÁõP ÂÍUSP.

17. Explain the OSI reference model with diagram

OSI reference model I £hzxhß ÂÍUSP.

18. Write about the Transport Layer.

Transport Layer £ØÔ GÊxP.
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***

19. Explain the Presentation Layer.

Presentation Layer £ØÔ ÂÍUSP.

20. List out the uses of Application layer.

Application layer ß £¯ßPøÍ Á›øŒ¨£kzxP.
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B.Com. DEGREE  EXAMINATION, APRIL 2011

Sixth Semester

Commerce with Computer Application

SPECIAL ACCOUNTS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 × 2 = 20)

Answer all questions.

1. What is Statutory Reserve ?

Œmh•øÓ Põ¨¦ GßÓõÀ GßÚ ?

2. What is Contingent Liability ?

{aŒ¯©ØÓ ö£õÖ¨¦ GßÓõÀ GßÚ ?

3. What do you mean by Re-Insurance ?

©Ö Põ¨¥k Gß£x £ØÔ E©x P¸zx ̄ õx ?

AF-3223 BCC6C3
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4. What do you understand by ‘Annuity’ ?

Bskz öuõøP Gß£x £ØÔ }Âº AÔ¢ux ̄ õx ?

5. What is Double Account System ?

 Cµmøh PnUS •øÓ GßÓõÀ GßÚ ?

6. What is Clear Profit ?

öuÎÁõÚ C»õ£® GßÓõÀ GßÚ ?

7. What is Minority Interest ?

]Ö£õsø©@¯õº £»ß GßÓõÀ GßÚ ?

8. What is meant by Holding Company ?

¤i¨¦ {Ö©® GßÓõÀ GßÚ ?

9. What is ‘Voyage Account’ ?

PhØ£¯nU PnUS GßÓõÀ GßÚ ?
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10. What do you mean by Intrinsic Value.

Esø©¯õÚ ©v¨¦ Gß£x £ØÔ E©x P¸zx ̄ õx ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) How is Interest on Doubtful Debts is treated in

Bank Accounts ?

Á[QU PnUSPÎÀ I¯U Phß «x Ámi

G[VÚ® øP¯õÍ¨£kQÓx.

(Or)

(b) Write short notes on :

(i) Non Banking Assets.

(ii) Non Performing Assets.

]Ö SÔ¨¦PÒ ÁøµP :

(i) Á[Q¯À»õ öŒõzxUPÒ.

(ii) öŒ¯Ø£õiÀ»õ öŒõzxUPÒ.
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12. (a) From the following particular, prepare Fire

Revenue Account :—

Rs. Rs.

Claims paid 2,35,000 Commission 1,00,000

Legal expenses for Management

 claims 5,000 expenses 1,50,000

Premium received 6,00,000 Claims unpaid

on 1.1.2006 20,000

Reinsurance Premium 60,000 Claims unpaid on

31.12.2006 35,000

Provision against unexpired risk on 1.1.2006 2,60,000

RÌ Á¸® uPÁÀ öPõsk wUPõ¨¥mk Á¸Áõ#

PnUS u¯õ›UP :—

¹. ¹.

@Põ›UøPPÒ PÈÄ 1,00,000

öŒ¾zv¯x 2,35,000 {ºÁõPa öŒ»Ä 1,50,000

@Põ›UøPPõÚ Œmh 1.1.2006&ÀöŒ¾zuõu

öŒ»ÄPÒ 5,000 @Põ›UøP 20,000
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¹. ¹.

•øÚ©® ö£ØÓx 6,00,000 31.12.2006&À öŒ¾zuõu

©ÖPõ¨¥k •øÚ©® 60,000  @Põ›UøP 35,000

Põ»õÁv¯õP Chº öuõhº£õÚ JxUS  1.1.2006 À .......... 2,60,000

(Or)

(b) From the following information prepare a Life

Insurance Revenue Account :—

Rs. Rs.

Life Assurance fund 15,00,000 Premiums 4,96,000

1.1.08 Interest and

Consideration for Dividends 1,00,000

 annuity granted 15,000 Annuities 2,000

Bonus in reduction of Outstanding claims

Premium 1,600 1.1.2008 4,500

Claims paid during

the year 64,900
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 RÌÁ¸® uPÁÀ öPõsk B²m Põ¨¥k Á¸Áõ#

PnUS u¯õ›UP.

¹. ¹.

1.1.08&À B²m •øÚ©® 4,96,000

Põ¨¥mk {v 15,00,000 Ámi²® £[Põuõ¯•® 1,00,000

ÁÇ[Q  ̄Bskz BskzöuõøP 2,000

öuõøP°ß ©Ö£¯ß 15,000 1.1.2008&À {¾øÁ²ÒÍ

•øÚ©zvÀ SøÓ¢u @Põ›UøP 4,500

FUPzöuõøP 1,600

CÆÁõsiÀ öŒ¾zv¯

@Põ›UøPPÒ 64,900

13. (a) A Water Supply Company had to replace a quarter

of its mains and lay auxiliary mains for the

remaining  length. The Total cost of the old main

is Rs. 10,00,000. The cost of auxiliary mains is

Rs. 9,00,000 and that of the new mains has gone

up by 30 % Amount spent on replacement is

Rs. 3,50,000. Journalise.
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J¸ Si}º Â{@¯õP {Ö©® Auß •UQ¯

ÁÈPÎß J¸ PõÀ £õPzøu ©õØÔ Aø©zx

©ØÓÁØÔØS J¸ xøn¨£õøu Aø©UP

Ez@u]zux. £øÇ¯ •UQ¯ £õøu°ß ö©õzu

AhUP® ¹. 10,00,000. xøn¨£õøu°ß AhUP®

¹. 9,00,000 £øÇ¯ £õøu°ß ©v¨¦ 30 %

E¯º¢xÒÍx. ©õØÔ Aø©¨£uØS öŒ#u öŒ»Ä

¹. 3,50,000. SÔ¨@£miÀ £vP.

(Or)

(b) From the following data prepare a Revenue

account of a Electric supply Company for the year

ended 31.03.2004 :—

Rs. Rs.

Sale of current 1,04,000 Rent of Meters 4,000

Cost of generation 28,000 Rent, Rates 4,000

Cost of distribution 4,000 Management expenses 25,600
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RÌÁ¸® uPÁÀPøÍ öPõsk J¸ ªß Â{@¯õP

{Ö©zvß 31.03.2004&À •iÁøh²®

BsiØPõÚ Á¸Áõ# PnUS u¯õ›UP.

¹. ¹.

ªßŒõµ ÂØ£øÚ 1,04,000 ªß©õÛ ÁõhøP 4,000

EØ£zva öŒ»ÄPÒ 28,000 ÁõhøP²® Á›PÐ® 4,000

Â{@¯õP öŒ»ÄPÒ 4,000 {ºÁõPa öŒ»ÄPÒ 25,600

14. (a) R Ltd., acquired 65 % shares of S limited on

1.10.2008. Profit and Loss Account in the books of

S Ltd showed a debit balance of Rs. 40,000 on

1.4.2008. The balance sheet of S Limited showed

a Profit and Loss Account balance of Rs. 1,20,000

on 31.03.2009. Calculate Capital profits and

revenue profits.

1.10.2008&À Gì ¼mß 65 %. £[SPøÍ Bº ¼m

Áõ[Q¯x. 1.4.2008&À Gì ¼mß HkPÒ £i C»õ£

|mhU PnUQÀ £ØÖ C¸¨¦ ¹. 40,000 C¸¢ux.
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31.3.2009&À Gì ¼mß C¸¨¦ {ø»U SÔ¨¦£i

C»õ£ |mhU PnUS Põmk® C¸¨¦ ¹. 1,20,000.

‰»uÚ C»õ£® ©ØÖ® Á¸Áõ°ß C»õ£®

BQ¯ÁØøÓ PnUQkP.

(Or)

(b) Calculate minority interest from the Balance

sheet of Mumbai Limited as on 31.12.2007 given

below :—

Liabilities Rs. Assets Rs.

Share Capital Sundry Assets 18,50,000

(Rs. 2 each) 14,00,000 Investments 6,50,000

General Reserve 6,00,000

(1.1.07)

Creditors 3,00,000

Profit and Loss

Account (31.12.07) 2,00,000

————— —————
25,00,000 25,00,000

————— —————
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Chennai Ltd,, acquired 80 % of the share of

Mumbai Ltd., for Rs. 6,50,000.

RÌÁ¸® 31.12.2007 |õøÍ¯ •®ø£ ¼mhß

C¸¨¦{ø»U SÔ¨¤À C¸¢x ]Ö£õsø©°Úº

£»ß PnUQhÄ®.

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

£[S•uÀ £Ø£» öŒõzxUPÒ 18,50,000

(u»õ ¹, 2) 14,00,000 •u½kPÒ 6,50,000

ö£õxUPõ¨¦ (1.1.07) 6,00,000

PhÜ¢@uõº 3,00,000

C»õ£|mhU

PnUS (31.12.07) 2,00,000

————— —————
25,00,000 25,00,000

————— —————

•®ø£ ¼mß 80 % £[SPøÍ öŒßøÚ ¼m

¹. 6,50,000&ØS Áõ[Q¯x
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15. (a) A Limited has a stock of 2,000 containers valued

at Rs. 50 each During the year the company

purchased 4000 containers. It issued 40,000

containers to customers and received from

customer 37,000 containers. The purchase price

per container is Rs. 100 but stocks are valued at

Rs. 50 per container to allow for depreciation.

Prepare Containers Stock Account.

H¼m ÁŒ® u»õ ¹. 50. ©v¨¤h¨£mh

öPõÒÍhUQPÒ C¸¢uÚ |h¨£õsiÀ C¢{Ö©®

4,000 öPõÒÍhUQPøÍ Áõ[Q¯x. Cx

ÁõiUøP¯õÍºPÐUS 40,000 öPõÒÍhUQPøÍ

AÝ¨¤ ¤ß 37,000 öPõÒÍhUQPøÍ v¸®£¨

ö£ØÓx. CøÁPÎß öPõÒ•uÀ Âø» u»õ

¹. 100 BÚõÀ CøÁPÎß ŒµUQ¸¨¦PÒ

@u#©õÚ® AÝ©vzx ¤ß ¹. 50, ¹. 50 GÚ

©v¨¤h¨£mkÒÍx. öPõÒÍhUQPÒ ŒµUQ¸¨¦

PnUS u¯õ›UP.

(Or)
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(b) Calculate the amount of goodwill on the basis of

three year purchase of last four years average

profits. The profit and losses for the last four years

are as follows —

Year : 2003 2004 2005 2006

Profits (Loss) Rs. : (9,000) 15,000 24,000 18,000

|õßS Bsk ŒµõŒ› C»õ£zvß ‰ßÓõsk

öPõÒ•uÀ GßÓ Ai¨£øh°À |Øö£¯º

PnUQkP. Ph¢u |õßS Bsk C»õ£ |mh[PÒ

RÌÁ¸©õÖ.

Bsk : 2003 2004 2005 2006

C»õ£® (|mh®) ¹. : (9,000) 15,000 24,000 18,000

Part C (3 × 10 = 30)

Answer any three questions.

16. From the following particulars, prepare Profit and Loss

Account of M Bank Limited for the year ending 31

March 2006 :
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Rs. in’000 Rs. in’000

Interest on Fixed Interest on loans 3,490

Deposits 3,650 Commission 94

Rebate on Bills Office expenses 1,550

Discounted (1.4.05) 480 Rent and Taxes 180

Discount on Bills Director’s fees 42

discounted 1,940 Postal expenses 15

Interest on case credit 2,240 Other expenses 18

Interest on current Printing and stationery 39

Accounts 120

Interest on overdrafts 1,280

Interest on savings

Deposits 690

Adjustments : Rebate on bills discounted Rs. 5,20,000.
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RÌÁ¸® uPÁÀPÒ öPõsk G® Á[Q ¼mß 31 ©õºa

2006 Ehß •iÁøh²® BsiØPõÚ C»õ£ |mhU

PnUS u¯õ›UP.

¹.’000PÎÀ ¹.’000PÎÀ

{ø»øÁ¨¦PÒ «x PhßPÒ «x Ámi 3,490

Ámi 3,650 PÈÄ 94

Ámhg öŒ#u ©õØÖa A¾Á»Pa öŒ»ÄPÒ 1,550

^miß «x uÒÐ£i (1.1.05) 480 ÁõhøP ©ØÖ® Á›PÒ 180

Ámhg öŒ#u ©õØÖa C¯US|º Pmhn® 42

^miß «uõÚ Ámh® 1,940 u£õØ öŒ»ÄPÒ 15

öµõUPUPhß «x Ámi 2,240 Cuµ öŒ»ÄPÒ 18

|h¨¦U PnUS «x Aa” ©ØÖ® GÊx ö£õ¸mPÒ 39

Ámi 120

@©ØÁøµ¨£ØÖ «x Ámi 1,280

@Œª¨¦ øÁ¨¦PÒ «x

Ámi 690
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Œ›UPmkuÀPÒ :

ÁmhgöŒ#u ©õØÖa ̂ miß «uõÚ uÒÐ£i ¹. 5,20,000.

17. Distinguish between Life Insurance and General

Insurance.

B²m Põ¨¥k ©ØÖ® ö£õxUPõ¨¥mk BQ¯ÁØøÓ

@ÁÖ£kzxP.

18. From the following particulars, draw up the capital

Account and General Balance Sheet under Double

Account System.

Authorised Capital : 3,000 shares of Rs.10 each, of

which issued and paid up capital is Rs. 27,000 ; 6 %.

Debentures Rs. 3,000 ; Trade creditors Rs. 1,600 ; Trade

Debtors Rs. 3,800 ; Cash at Bank Rs. 3,500 ; Stock-in

Trade  Rs. 2,400 ; Profit and Loss Account Rs. 16,000 ;

Land Rs. 3,700 ; Machineries Rs. 1,600 ; Shafting

Rs. 5,000 ; Buildings Rs. 1,300 ; Depreciation Fund

(Machinery) Rs. 2,500.
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RÌÁ¸® Â£µ® öPõsk Cµmøh PnUS •øÓ°À

‰»uÚ PnUS ©ØÖ® ö£õx C¸¨¦ {ø»U SÔ¨¦

u¯õ›UP.

A[RP›UP¨£mh •uÀ : u»õ ¹. 10 Ãu® 3,000

£[SPÎÀ öÁÎ°h¨£mk •ÊÁx® öŒ¾zu¨

£mhx ¹. 27,000 ; 6 % PhÜmk¨ £zvµ[PÒ

¹. 3,000 ; ÁoP PhÜ¢@uõº ¹. 1,600 ; ÁoP

PhÚõÎPÒ ¹. 3,800 ; Á[Q°¸¨¦ ¹. 3,500 ;

ŒµUQ¸¨¦ ¹, 2,400 ; C»õ£ |mhUPnUS ¹. 1,600 ;

{»® ¹. 3,700 ; C¯¢vµ[PÒ ¹. 16,000 ; ”ÇÀ

uskPÒ ¹. 5,000 ; Pmhh[PÒ ¹. 1,300 ; @u#©õÚ

{v (C¯¢vµ®) ¹. 2,500.

19. From the following two Balance Sheets prepare

Consolidated Balance Sheet :

Balance Sheet as on 31.12.2008.

Liabilites Ping Pong Assets Ping Pong

Ltd. Rs. Ltd. Rs. Ltd. Ltd. Rs.

Share Capital Sundry Assets 20,000 8,000

 (Rs.1each) 12,000 5,000 Shares in Pon

Reserve 5,000 1,000 Limited 6,500 –
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Liabilites Ping Pong Assets Pink Pong

Ltd. Rs. Ltd. Rs. Ltd. Ltd. Rs.

Profit and Loss

Account 2,000 1,000

Sundry Creditors 7,500 1,000

———— ———— ————————
26,500 8,000 26,500 8,000

———— ———— ————————

5,000 share of Pong Limited was acquired by Ping

Limited on 30.06.08. Pong Limited Transferred

Rs. 500 from profits to Reserve on 31.12.08.

RÌÁ¸® C¸ C¸¨¦ {ø»U SÔ¨¦PÒ öPõsk

JßÔønzu C¸¨¦ {ø»U SÔ¨¦ u¯õ›UP.

31.12.08 @uv°mh C¸¨¦ {ø»U SÔ¨¦

ö£õÖ¨¦PÒ £õ[ ¼m ¤[ ¼m öŒõzxPÒ £õ[ ¼m ¤[ ¼m

¹. ¹. ¹. ¹.

£[S •uÀ £Ø£»

(u»õ ¹. 1) 12,000 5,000 öŒõzxUPÒ 20,000 8,000
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ö£õÖ¨¦PÒ £õ[ ¼m ¤[ ¼m öŒõzxPÒ £õ[ ¼m ¤[ ¼m

¹. ¹. ¹. ¹.

Põ¨¦ 5,000 1,000 £õ[S ¼mß

C»õ£ |mhU £[SPÒ 6,500 -&

PnUS 2,000 1,000

£Ø£» PhÜ¢@uõº 7,500 1,000

———— ———— ————————
26,500 8,000 26,500 8,000

———— ———— ————————

31.06.08 AßÖ £õ[ ¼mß 5,000 £[SPøÍ ¤[ ¼m

Áõ[Q¯x, 31.12.2008 AßÖ £õ[ ¼m ¹. 500 I

C»õ£zv¼¸¢x Põ¨¤ØS ©õØÔ¯x.

20. Mr. G.’s  holdings in 8 % Government securities and

its transactions are as follows :

Opening Balance (Face Value Rs. 1,50,000) Cost

Rs. 1,45,500

1.8.06 Purchased 100 units at Rs. 99 Cam Interest

1.11.06 Sold 450 units at Rs. 99 ex-interest from

original holding
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Interest dates are 30th September and 31st March.

Mr. G Closes his accounts on 31st December every year.

Show the Investments Accounts.

v¸. â&AÁºPÎß 8 % Aµ” ¤øn¯[PÎß C¸¨¦®

Auß |iÁiUøPPÐ® RÌÁ¸©õÖ :

öuõhUP C¸¨¦ (•P ©v¨¦ ¹. 1,50,000) AhUP®

¹. 1,45,500.

1.8.06 u»õ ¹, 99 Ãu® Ámi @Œº¢u Âø»US 100

A»SPÒ Áõ[P¨£mhx.

1.11.06 u»õ ¹. 99 Ãu® Ámi @Œµõ Âø»US

öuõhUP C¸¨¤¼¸¢x 450 A»SPÒ

ÂØP¨£mhÚ.

Ámi AÎUS® |õmPÒ öŒ¨h®£º  30 ©ØÖ® ©õºa 31.

JÆöÁõ¸ Bsk® iŒ®£º 31-&À v¸. â. AÁºPÎß

uß HkPøÍ •i¨£õº. •u½mk PnUS PõmkP.

***
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B.Com. DEGREE  EXAMINATION, APRIL 2011

Sixth Semester

Commerce with Computer Application

MANAGEMENT ACCOUNTANCY

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 × 2 = 20)

Answer all the questions.

1. What is Management Accounting ?

@©»õsø©U PnUQ¯À GßÓõÀ GßÚ ?

2. State any three objectives of Management

Accounting.

@©»õsø© PnUQ¯¼ß H@uÝ® ‰ßÖ

@|õUP[PøÍU TÖP.

3. What are Liquidity ratios ?

}ºø© ÂQu[PÒ GßÓõÀ GßÚ ?

AF-3224 BCC6C4
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4. What do you mean by Financial Statements ?

{v{ø» AÔUøPPÒ GßÓõÀ GßÚ ?

5. What is meant by Funds From operations ?

 öŒ¯ÀÁÈ {v Gß£uß ö£õ¸Ò ̄ õx ?

6. What is cash Flow Statement ?

öµõUP Kmh AÔUøP GßÓõÀ GßÚ ?

7. Define Budgetary control.

vmhU Pmk¨£õk—Áøµ¯Ö.

8. What is cash Budget ?

öµõUP vmh® GßÓõÀ GßÚ ?

9. What is standard costing ?

{ø»U PnUQ¯À GßÓõÀ GßÚ ?
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10. What is P/V ratio ?

»õ£ AÍÄ ÂQu® GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all the questions.

11. (a) State the Objectives of Management Accounting.

@©»õsø© PnUQ¯¼ß @|õUP[PøÍ TÖP.

(Or)

(b) Explain the relationship between Financial

Accounting and Management Accounting.

{v°¯À ©ØÖ® @©»õsø© PnUQ¯¾US®

EÒÍ öuõhº¤øÚ ÂÍUSP.

12. (a) Write the significance of ratio analysis

ÂQu¨ £S¨£õ#Âß •UQ¯zxÁzøu GÊxP.

(Or)
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(b) From the following particulars pertaining to assets

and liabilities of a Company—Calculate :

(i) Current ratio.

(ii) Liquid ratio.

(iii) Proprietory ratio.

(iv) Debt-equity ratio.

Liabilities Rs. Assets Rs.

5,000 equity shares of Land and Building 6,00,000

Rs. 100 each 5,00,000 Plant and Machinery 5,00,000

2,000, 8% Preference Stock 2,40,000

shares of Rs. 100 each 2,00,000 Debtors 2,00,000

4,000, 9 % debentures of Cash and bank 55,000

Rs. 100 each 4,00,000 Pre-paid expenses 5,000

Reserves 3,00,000

Creditors 1,50,000

Bank Overdraft 50,000

————— —————

16,00,000 16,00,000
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RÌUPõq® Â£µ[PÒ J¸ {Ö©zøua Œõº¢u

öŒõzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ BS®.

PnUQkP.

(i) |h¨¦ ÂQu®.

(ii) }ºø© ÂQu®.

(iii) E›ø©¯õÍº ÂQu®.

(iv) Phß&Œ©•uÀ ÂQu®.

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

5,000 Œ©£[SPÒ ¹,100 {»®©ØÖ® Pmih® 6,00,000

Ãu® 5,00,000 ö£õÔ ©ØÖ® C¯¢vµ® 5,00,000

2,000, 8% •ßÝ›ø© ŒµUQ¸¨¦ 2,40,000

£[SPÒ. 100 Ãu® 2,00,000 PhÚõÎPÒ 2,00,000

4,000, 9 % Phß öµõUP® ©ØÖ® Á[Q 55,000

£zvµ[PÒ ¹. 100Ãu® 4,00,000 •ß Tmi öŒ¾zv¯

Põ¨¦ 3,00,000 öŒ»ÄPÒ 5,000

PhÜ¢@uõºPÒ 1,50,000

Á[Q @©ØÁøµ¨£ØÖ 50,000

———— ————

16,00,000 16,00,000



6 AF-3224

13. (a) Calculate Funds from Operations from the

following P and L a/c,

Profit and Loss Account

Rs. Rs.

To Expenses 3,00,000 By Gross Profit 4,50,000

To Depreciation 70,000 By Gain on sale of

To Loss on sale of land 6,000
machine 4,000

To Discount 200

To Good will 20,000

To Net Profit 1,15,800

———— ————

5,10,000 5,10,000

RÌUPõq® »õ£ |mh PnUQ¼¸¢x öŒ¯À£õmk

{vø¯U PnUQkP.

C»õ£ |mh PnUS

¹. ¹.

öŒ»ÄPÒ 3,00,000 ö©õzu C»õ£® 4,50,000

@u#©õÚ® 70,000 {»® ÂØÓvÀ C»õ£® 60,000
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C»õ£ |mh PnUS

¹. ¹.

C¯¢vµ® ÂØÓvÀ 4,000
 |mh®

uÒÐ£i 200

|Øö£¯º 20,000

{Pµ C»õ£® 1,15,800

———— ————

5,10,000 5,10,000

(Or)

(b) From the following profit and Loss account,

compute cash from Operations :

Profit and Loss Account

Rs. Rs.

To Salaries 5,000 By Gross Profit 25,000

To Rent 1,000 By Profit on sale

To Depreciation 2,000 of building 5,000

To Loss on sale of Plant 1,000 By Refund of Income 3,000
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Profit and Loss Account

Rs. Rs.

To Goodwill written off 4,000 Tax

To Proposed Dividend 5,000

To provision for tax 5,000

To net Profit 10,000

——— ———

33,000 33,000

RÌUPõq® C»õ£ |mhU PnUQ¼¸¢x

öŒ¯ÀÁÈ öµõUP® PõsP.

C»õ£ |mh PnUS

¹, ¹,

Œ®£Í® 5,000 ö©õzu C»õ£® 25,000

ÁõhøP 1,000 Pmih ÂØ£øÚ

@u#©õÚ® 2,000 C»õ£® 5,000

G¢vµ ÂØ£øÚ |mh® 1,000 Á¸©õÚ Á› v¸¨£® 3,000

|Øö£¯º SøÓzux 4,000

C»õ£ DÄ JxUQ¯x 5,000

Á›UPõÚ JxURk 5,000

{Pµ C»õ£® 10,000

——— ———

33,000 33,000
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14. (a) State the different types of budget.

vmhzvß £À@ÁÖ ÁøPPøÍ TÖP.

(Or)

(b) From the following particulars from January to

June Prepare Production budget.

Month : January February March April May June July

Sales : 10,000 12,000 16,000 20,000 24,000 24,000 20,000

[units]

Finished goods equal to half the sales of next

month will be in stock at the end of each month.

Assume, it is the Company’s first year of business.

RÌUPõq® ÂÁµ[PøÍU öPõsk, áÚÁ› •uÀ

áúß Áøµ°»õÚ Põ»zxUS EØ£zv vmh®

u¯õ›UP.

©õu® áÚÁ› ¤¨µÁ› ©õºa H¨µÀ @© áúß áüø»

ÂØ£øÚ :10,000 12,000 16,000 20,000 24,000 24,000 20,000

[A»SPÎÀ]
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JÆöÁõ¸ ©õu CÖv°¾®, Akzu ©õu

ÂØ£øÚ°À £õv ŒµUQ¸¨£õP C¸UP @Ásk®.

C¢u Bsk uõß {ÖÁÚzvß •uÀ Â¯õ£õµ

Bsk GÚU öPõÒP.

15. (a) Product X requires 20 kgs. of material at Rs. 4 per

kg. The actual consumption of material for the

manufacturing of product X came to 24 kgs. of

material at Rs. 4.50 per kg. Calculate :

(i) Material cost variance.

(ii) Material price variance.

(iii) Material usage variance.

20 Q.Q ‰»¨ ö£õ¸Ò, J¸ Q.Q. ¹, 4 Ãu® ö£õ¸Ò

X -&US @uøÁ¨£kQÓx. Esø©¯õÚ E£@¯õP¨

ö£õ¸Ò X -&I EØ£zv öŒ#ÁuØS 24 Q.Q.

‰»¨ö£õ¸Ò, J¸ Q.Q. ¹. 4.50 Ãu®

öŒ»Âh¨£mhx. PnUQkP.

(i) ‰»¨ö£õ¸Ò AhUPÂø» ©õÖ£õk.

(ii) ‰»¨ö£õ¸Ò Âø» ©õÖ£õk.

(iii) ‰»¨ö£õ¸Ò E£@¯õP ©õÖ£õk.

(Or)
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(b) The following information relating to a Company

is given to you :

Rs.

Sales 4,00,000

Fixed cost 1,80,000

Variable cost 2,50,000

Ascertain how much the value of sales must be

increased for the Company to break even.

RÌUPõq® öŒ#vPÒ uµ¨£mhÚ.

¹.

ÂØ£øÚ 4,00,000

{ø»¯õÚ öŒ»Ä 1,80,000

©õÖ® öŒ»Ä 2,50,000

Œ© •ÔÄ ¦ÒÎ ÂØ£øÚø¯ Aøh¯ ÂØ£øÚ

GÆÁÍÄ AvP›UP¨£h @Ásk® ?
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Part C (3 × 10 = 30)

Answer any three questions.

16. Explain the utility and limitations of Management

Accounting.

@©»õsø©U PnUQ¯¼ß £¯ß£õk ©ØÖ®

SøÓ£õkPøÍ ÂÍUSP.

17. Calculate :

(i) Gross profit ratio.

(ii) Operating ratio.

(iii) Operating profit ratio.

(iv) Net profit ratio.

Rs. Rs.

Sales 21,000 Income from Investment 200

Sales return 1,000 Administration expenses 1,300

Cost of sales 16,400 Selling expenses 700

Interest expenses Depreciation 200

[non-operating] 100
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PnUQkP :

(i) ö©õzu »õ£ ÂQu®.

(ii) öŒ¯À£õmk ÂQu®.

(iii) öŒ¯À£õmk »õ£ ÂQu®.

(iv) {Pµ »õ£ ÂQu®

¹. ¹.

ÂØ£øÚ 21,000 •u½miß «uõÚ

ÂØ£øÚz v¸¨£® 1,000 Á¸©õÚ® 200

ÂØÓvß AhUP® 16,400 {ºÁõPa öŒ»ÄPÒ 1,300

Ámia öŒ»ÄPÒ ÂØ£øÚa öŒ»ÄPÒ 700

[öŒ¯À£õhØÓx] 100 @u#©õÚ® 200

18. The balance sheet of Mr. Oil on 1-1-07 and 31-12-07

were as follows :—

Balance Sheet

Liabilities 1-1-07 31-12-07 Assets 1-1-07 31-12-07

Creditors 40,000 44,000 Cash 10,000 7,000
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Balance Sheet

Liabilities 1-1-07 31-12-07 Assets 1-1-07 31-12-07

Rs. Rs. Rs. Rs.

Mrs.oil loan 25,000 – Debtors 30,000 50,000

Loan from Bank 40,000 50,000 Stock 35,000 25,000

Capital 1,25,000 15,3,000 Machinery 80,000 55,000

Land 40,000 50,000

Building 35,000 60,000

———— ———— ———— ————

2,30,000 2,47,000 2,30,000 2,47,000

During the year a machine costing Rs. 10,000 [accrued

depreciation Rs. 3,000] was sold for Rs. 5,000. The

provision for depreciation against machinery as on

1-1-07 was Rs. 25,000 on 31-12-07 Rs. 40,000. Net Profit

for the year 2007 amounted to Rs. 45,000. You are

required to prepare cash flow statement.



15 AF-3224

1.1.07 ©ØÖ® 31-12-07 v¸. B°À Gß£Á›ß C¸¨¦

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ EÒÍx.

C¸¨¦ {ø»U SÔ¨¦PÒ

ö£õÖ¨¦PÒ 1-1-07 31-12-07 öŒõzxUPÒ 1-1-07 31-12-07

¹. ¹. ¹. ¹.

PhÜ¢@uõºPÒ 40,000 44,000 öµõUP® 10,000 7,000

v¸©v. B°À PhÚõÎPÒ 30,000 50,000

Phß 25,000 - - -- ŒµUQ¸¨¦ 35,000 25,000

Á[Q°¼¸¢x 40,000 50,000 C¯¢vµ® 80,000 55,000

Phß {»® 405,000 50,000

•uÀ 1,25,000 15,3,000 Pmih® 35,000 60,000

———— ———— ————————

2,30,000 2,47,000 2,30,000 2,47,000

|h¨¦ BsiÀ J¸ C¯¢vµzvß AhUP{ø»

¹. 10,000 [@Œº¢u @u#©õÚ® ¹. 3,000] ¹. 5,000&US

ÂØP¨£mhx. C¯¢vµzvß «x @u#©õÚ JxUS 1-1-

07 AßÖ ¹. 25,000 ©ØÖ® 31-12-07 AßÖ ¹. 40,000.

2007-&® BsiØPõÚ {Pµ C»õ£®  ¹. 45,000. öµõUP

|h©õmh AÔUøPø¯ }Âº u¯õ›UPÄ®.
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19. Draw up a flexible budget for overhead expenses on

the basis of the following data for production at 70 %

and 90 % capacity.

At 80 %
Capacity

Rs.

Variable Over heads :

Indirect Labour 12,000

Stores 4,000

Semi variable OH :

Power [30 % fixed] 20,000

Repairs [60 % fixed] 2,000

Fixed overheads :

Depreciation 11,000

Insurance 3,000

Salaries 10,000

————

Total 62,000
————

RÌUPõq® ÂÁµ[PÎ¼¸¢x 70 % ©ØÖ® 90 %

EØ£zv vÓÝUPõÚ @©ØöŒ»ÂØS›¯ ö|QÌa]z

vmh® u¯õ›UP.
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80 %

vÓÛÀ

¹.

©õÖ® @©ØöŒ»ÄPÒ :

©øÓ•P T¼ 12,000

‰»¨ö£õ¸Ò 4,000

J¸ £Sv ©õÖ® öŒ»ÄPÒ :

ŒUv [30 % {ø»¯õÚx] 20,000

£Êx £õº¨¦ [60 % {ø»¯õÚx] 2,000

{ø»¯õÚ öŒ»ÄPÒ :

@u#©õÚ® 11,000

Põ¨¥k 3,000

Œ®£Í® 10,000

————
ö©õzu® 62,000

————
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20. From the following information relating to Prema Bros.

Ltd., You are required to find out :

(i) P/V ratio.

(ii) Break even point.

(iii)  Profit.

(iv) Margin of safety.

(v) Volume of sales to earn profit of Rs. 6,000.

Total fixed costs—Rs. 4,500

Total variable costs—Rs. 7,500

Total Sales—Rs. 15,000

¤ßÁ¸£øÁ ¤@µ©õ Œ@PõuµºPÒ ¼m&ß uPÁÀPÒ :

ö©õzu {ø»¯õÚ öŒ»ÄPÒ ¹. 4,500

ö©õzu ©õÖ® öŒ»ÄPÒ ¹. 7,500

ö©õzu ÂØ£øÚ ¹. 15,000

CÁØÔ¼¸¢x

(i) C»õ£ AÍÄ ÂQu®.

(ii) »õ£ |mh ©ØÓ ¦ÒÎ.

(iii) C»õ£®.

(iv) £õxPõ¨¦ £Sv.

(v) ¹. 6,000 C»õ£® DmhU Ti¯ ÂØ£øÚ PõsP.
***


















